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PREFACE: HOW TO USE THIS BOOK

1. How should | answer the questions if there are no spaces?

Just like a maths textbook! For homework you may be required to complete a few exercises in
the calculus chapter and, after that, you then proceed to mark your work using the suggested
solutions at the back. Similarly, for this study guide, you should answer the questions in a
separate exercise book and then compare your response to the corresponding suggested
hand-written response in the solutions section. Another benefit of the questions having no
spaces is that you can repeat them again — this is particularly important for practising with
the more challenging questions.

2. How is this book different to other study guides?

This guide is different due to the presence of hand-written solutions with extension comments
which students can use to learn how to present their responses and why they need to respond
in a specific way. The fact that the solutions have been written in a student voice also makes it
easier for students to recognise the understanding required at a VCE level.

3.  Whatif | am a visual learner?

That's not an issue! Scattered throughout this guide are QR codes which you can scan to watch
animated YouTube videos on many of the Business Management topics! After you complete
your response, you can watch a video right away to consolidate your knowledge!

This study guide provides a graduval and systematic approach to learning content. You can first
test your knowledge by answering a general question from Volume 1and then consolidate your
understanding through responding to application questions in Volumes 2 and 3.

Good luck with your busman journey :)

- Sahil Bhatia

© JGJ Publishing 4
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SAC AND EXAMINATION TIPS

1. STUDYING TIPS

MAKE NOTES BASED
OFF THE STUDY
DESIGN

Many Business Management books in the market contain irrelevant pieces of information or
concepts from old study designs that make it confusing for students to understand what they
need to know. The study design provides the exact curriculum which students need to know for
SACs and Exams. Since Business Management examiners can only test you on content from the
study design, you should create notes on what will be examined!

ERROR BOOK

An ‘error book’ is simply a book with all your mistakes' Throughout the year you will complete
many practice assessments for Business Management and are bound to make at least a few
mistakes. A book like this is useful in: a) understanding why you made the specific error and b)
identifying all your common errors so that, in subsequent practice tasks, you are less likely to
make the same mistake. This means you can maximise the amount of marks earned!

WORK AHEAD OF
CLASS

This one is quite logical — if you learn a concept before you cover it in class then you won't be
learning anything new in that next lesson! This means you will instead be revising and so, you can
ask questions to consolidate your understanding rather than learn the content from scratch.

FLASHCARDS

Flashcards are a useful active recall revision technique that can be used to learn definitions,
concepts, theories or examples for Business Management. You can make your own flashcards
through purchasing them from the local store or via an online mean (such as Quizlet!).

READ/WATCH THE
NEWS

The exam will not only test your knowledge of concepts but also your ability to apply that to
contemporary business examples. So, reading or watching the news will be of benefit to you in
becoming a Business Management student with a holistic understanding of the corporate world.

Furthermore, business examples can elevate the quality of your response in examinations and we
all know that a high quality response = more marks!

EXAMINATION
REPORTS

The Examination Reports for Business Management are useful for three reasons: a) it provides
information on how students performed in specific questions, b) there are examples of high
scoring responses and c¢) general feedback is provided for student performance across the state.

Knowledge of how students have performed is useful in predicting questions for future years (as |
have done in this book!) — if students perform poorly in a question that targets a specific
concept, it is highly likely that it will be tested the following year. Additionally, reading through
the high scoring example responses allows you to know how you can improve the structure and
quality of your own writing (so that you too can tailor your response to be a ‘high scoring’ answer).

UNDERSTAND THE
RELATIONSHIP
BETWEEN DIFFERENT
TOPICS OF THE
COURSE

The concepts taught in Business Management are not separated but rather, are interrelated. For
example, the mediation process (AQS? topic) of resolving disputes requires communication (AOS1
topic) between parties in order to come to a mutual decision.

Knowing how different parts of the study design relate can help you develop a deeper
understanding of the Business Management course, which is useful for answering the harder
questions in the exam!

© JGJ Publishing 5
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2. WRITING TIPS

SIGNPOSTING Signposting can be useful in giving your response structure and directly ‘showing’ the examiner where

to allocate marks. Examples of signposting include:

« "One advantage of automated production lines is...”

« “The difference between a sole trader and partnership is...”
« "One strategy to develop a positive corporate culture is...”

UNDERLINE KEY J Underlining key terms can, again, ‘show’ the examiners where to allocate marks for your response —

TERMS this is particularly important for 10 mark questions where large quantities of information must be
processed by the examiner. Examples of responses where key terms are underlined can be found in the
solutions section of this book.

PARAGRAPHING J When you are writing an English text response essay it would be difficult to read and mark your piece if
you wrote the introduction, body paragraphs and conclusion without any spacing! This is because there
is a greater chance of examiners reaching the half way point of the response and questioning how they
got there — paragraphing simply makes it easier for examiners to read through what you have written.

USE BRACKETS | Brackets can be used to define key terms in the response and also explain your thought process
regarding specific concepts! So, instead of wasting writing space and time by writing out a new
sentence to explain your thoughts, you can instead use brackets.

LOOK FOR Limiting phrases are the phrases at the end of a question which you have to link your response to or

LIMITING you will be penalised. Let’s look at the question: “Explain how Porter’s generic strategies can be applied

PHRASES by business X to gain a competitive advantage.”

Many students will know how to apply Porter’s generic strategies but will forget to link their response
to the ‘limiting phrase' which is “to gain a competitive advantage”.

HAVE A A ‘checklist’ can just be a series of questions you ask yourself after responding to the question to

CHECKLIST ensure that you have adequately responded to all parts of the question. This can include:

AFTER « Have | used the task word properly?

ANSWERING A « Have  underlined key terms?

QUESTION « Have | linked my response to the limiting phrase?

« Have | linked to the case study?
LINKING TO THE | If an adequate link to the case study is not made, then full marks cannot be awarded for the response.
CASE STUDY There are many ways to link to the case study, including:

« Using data (if tables or graphs provided)

« Quoting from the case study

« Making reference to the core activities of the business or its operation
EXPAND YOUR This can almost be seen as a way to ‘subtly flex’ on your examiner. Similar to VCE English, using complex
VOCABULARY words can elevate your responses by providing it with a new level of sophistication. You can expand

your vocabulary by creating a list of unique words (separated by AQS).

3. TIMING TIPS

CREATE A GAME This is a crucial activity to do before SACs and your final exam because you can have a plan on how to

PLAN approach the assessments. You wouldn't go into battle without a plan of attack and the same applies
for assessments.

COMPLETE The exam takes 120 minutes to complete and so, reducing that time to 110 minutes during practice

ASSESSMENTS IN | sessions trains your brain to write only what is required to achieve the necessary marks whilst

LESS TIME finishing the exam in time!
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CHECKLISTS:

UNIT3AOS 1

KEY KNOWLEDGE

TICK

Sole Trader: Definition, Features, Advantages, Disadvantages

Partnership: Definition, Features, Advantages, Disadvantages

Private Limited Company: Definition, Features, Advantages, Disadvantages

Public Listed Company: Definition, Features, Advantages, Disadvantages

Social Enterprise: Definition, Features

Government Business Enterprise: Definition, Features

To make a profit: Definition, Strategies to achieve objective

To increase market share: Definition, Strategies to achieve objective

To fulfil a social need: Definition, Strategies to achieve objective

To meet a market need: Definition, strategies to achieve objective

To meet shareholder expectations: Definition, strategies to achieve objective

Employees, customers, suppliers, managers, community: Interests, Potential conflicts

Operations: Definition, Activities, How activities contribute to the achievement of business abjectives

Sales and marketing: Definition, Activities, How activities contribute to the achievement of business objectives

Technology support: Definition, Activities, How activities contribute to the achievement of business objectives

Human resources: Definition, Activities, How activities contribute to the achievement of business objectives

Finance: Definition, Activities, How activities contribute to the achievement of business objectives

Autocratic: Definition, Features, Advantages, Disadvantages

Persuasive: Definition, Features, Advantages, Disadvantages

Consultative: Definition, Features, Advantages, Disadvantages

Participative: Definition, Features, Advantages, Disadvantages

Laissez-Faire: Definition, Features, Advantages, Disadvantages

Appropriateness of management styles (NET P): Nature of task, Employee experience, Time, Manager preference

Communication skills: Definition, How the skill can be applied by managers

Delegating skills: Definition, How the skill can be applied by managers

Planning skills: Definition, How the skill can be applied by managers

Leading skills: Definition, How the skill can be applied by managers

Decision Making skills: Definition, How the skill can be applied by managers

Interpersonal skills: Definition, How the skill can be applied by managers

Explain the relationship between the use of management styles and management skills

Corporate culture: Definition, Strategies for developing a more positive corporate culture

Official and real corporate culture: Definition, How they can be distinguished
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UNIT 3 AQS 2

KEY KNOWLEDGE

TICK

Explain the relationship between the management of employees and the achievement of business objectives

Maslow's Hierarchy of Needs: Definition of the theory, Definition of the five needs, Strategies to achieve the five needs

Four Drive Theory: Definition of the theory, Definition of the four drives, Strategies to achieve the four drives

Goal Setting Theory: Definition of the theory, Definition of the Advantages, Disadvantages

Performance related pay: Definition, Advantages, Disadvantages, How it can improve motivation, Effect on short and long-
term motivation

Career advancement: Definition, Advantages, Disadvantages, How it can improve motivation, Effect on short and long-
term motivation

Investment in training: Definition, Advantages, Disadvantages, How it can improve motivation, Effect on short and long-
term motivation

Support: Definition, Advantages, Disadvantages, How it can improve motivation, Effect on short and long-term motivation

Sanctions: Definition, Advantages, Disadvantages, How it can improve motivation, Effect on short and long-term
motivation

On-the-job training: Definition, Advantages, Disadvantages, How it can be applied to train employees

0ff-the-job training: Definition, Advantages, Disadvantages, How it can be applied to train employees

How on-the-job training and off-the-job training can be distinguished

Management by objectives: Definition, Advantages, Disadvantages, How it can be applied by managers

Employee observation: Definition, Advantages, Disadvantages, How it can be applied by managers

Employee appraisal: Definition, Advantages, Disadvantages, How it can be applied by managers

Self-evaluation: Definition, Advantages, Disadvantages, How it can be applied by managers

Retirement: Definitions, Entitlement issues, Transition issues

Redundancy: Definitions, Entitlement issues, Transition issues

Resignation: Definitions, Entitlement issues, Transition issues

Dismissal: Definitions, Entitlement issues, Transition issues

Human Resource: Definition, Activities

Employees: Definition, Activities

Employer Associations: Definition, Activities

Unions: Definition, Activities

Fair Work Commission: Definition, Activities

Awards: Definitions, Advantages, Disadvantages, How it can be used to determine wages and conditions

Agreements: Definitions, Advantages, Disadvantages, How it can be used to determine wages and conditions

Briefly outline the grievance procedure

Mediation: Definition, Advantages, Disadvantages, How it can be applied by managers to resolve a dispute

Arbitration: Definition, Advantages, Disadvantages, How it can be applied by managers to resolve a dispute
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UNIT 3 AQS 3

KEY KNOWLEDGE

TICK

Define operations management and identify the four strategies of operations

Key Elements: Identify the key elements, Define the key elements, Apply the key elements

Characteristics of operations management: manufacturing and service businesses

Automated Production Line: Definition, Advantages, Disadvantages, How it can be used to improve efficiency and effectiveness

Computer Aided Design: Definition, Advantages, Disadvantages, How it can be used to improve efficiency and effectiveness

Computer Aided Manufacturing: Definition, Advantages, Disadvantages, How it can be used to improve efficiency and effectiveness

Website Development: Definition, Advantages, Disadvantages, How it can be used to improve efficiency and effectiveness

Forecasting: Definition, Advantages, Disadvantages, How it can be used to improve efficiency and effectiveness

Materials Requirement Planning: Definition, Advantages, Disadvantages, How it can be used to improve efficiency and
effectiveness

Master Production Schedule: Definition, Advantages, Disadvantages, How it can be used to improve efficiency and effectiveness

Just In Time: Definition, Advantages, Disadvantages, How it can be used to improve efficiency and effectiveness

Define quality

Quality Control: Definition, Advantages, Disadvantages, How it can be used to improve efficiency and effectiveness

Quality Assurance: Definition, Advantages, Disadvantages, How it can be used to improve efficiency and effectiveness

Total Quality Management: Definition, Advantages, Disadvantages, How it can be used to improve efficiency and effectiveness

Lean management: Define, How can lean management principles be applied in the workplace, How it can be used to improve
efficiency and effectiveness

Define corporate social responsibility

Explain the relationship between corporate social responsibility and key elements (inputs, processes and outputs)

Global sourcing of inputs: Definition, Advantages, Disadvantages

Global outsourcing: Definition, Advantages, Disadvantages

Overseas manufacture: Definition, Advantages, Disadvantages

Supply Chain Management: Definition, Advantages, Disadvantages

© JGJ Publishing
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UNIT 4 AOS T

KEY KNOWLEDGE TICK

Define business change and give examples of business change

Key Performance Indicators (KPI): Define, Explain why and how they are used by businesses, Analyse KPI data

Define all KPI's: Percentage of market share, Net profit figures, Rate of productivity growth, Number of sales, Rates of staff
absenteeism, Level of staff turnover, Level of wastage, Number of customer complaints, Number of workplace accidents

Lewin's Force Field Analysis Theory: Define, Qutline the steps, Apply the steps to business examples, Understand the purpose
of the theory

Define the term ‘driving force for change’

Define all the driving forces and explain why they are driving forces: Managers, Employees, Competitors, Legislation, Pursuit
of profit, Reduction in costs, Globalisation, Technology, Innovation, Societal Attitudes

Define the term ‘restraining forces for change’

Define all the restraining forces and explain why they are restraining forces: Managers, Employees, Time, Organisational
Inertia, Legislation, Financial Considerations

Identify two of Porter’s generic strategies

Porter's generic strategy of lower cost: Define, Explain how it can be used to gain a competitive advantage

Porter's generic strategy of differentiation: Define, Explain how it can be used to gain a competitive advantage

UNIT 4 AOS 2

KEY KNOWLEDGE TICK

Explain the importance of leadership during times of change

Define Key Performance Indicators (KPI)

Define all management strategies and explain how they can be used by managers: staff training, staff motivation, change in
management styles, change in management skills, increased investment in technology, improved guality in production, cost cutting,
initiating lean production technigues and redeployment of resources (natural, labour and capital).

Management strategies to seek new business opportunities globally: Identify strategies, Explain how they can be applied, Advantages,
Disadvantages

Management strategies to seek new business opportunities domestically: Identify strategies, Explain how they can be applied,
Advantages, Disadvantages

Define a Learning Organisation

Outline the five principles of Senge's Learning Organisation and be able to apply them to business examples

Define low-risk strategies and understand that they are used to reduce employee resistance

Define all low-risk strategies and explain how they can be applied by managers: communication, empowerment, support and incentives

Define high-risk strategies and understand that they are used to reduce employee resistance

Define all high-risk strategies and explain how they can be applied by managers: manipulation, threats

Understand that the effect of change on stakeholders can be negative or positive

Identify and explain the effect change can have on managers, employees, customers, suppliers, the general community

Understand the relationship between change and corporate social responsibility

Explain the significance of analysing KPI data
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COMMAND
TERM

DEFINITION

EXAMPLE

DEFINE

Present the meaning of a specific term.

“Define the term business change.”

DISCUSS

Present the advantages and disadvantages.

“Discuss the use of automated production
lines.”

COMPARE

Present the similarities and differences.

“Compare the use of a sole trader and
partnership business structure.”

EVALUATE

Present the advantages and disadvantages
along with a final opinion.

“Evaluate the use of awards as a means of
determining wages and conditions.”

ANALYSE

Present strengths, weaknesses and
features.

“Analyse the extent to which quality control
would be an appropriate strategy.”

EXPLAIN

Present the features along with reasoning
or implications.

“Explain how this business could implement
Porter's generic strategy of lower cost.”

OUTLINE

Present the specific features of a concept.

“Outline two advantages of the mediation
dispute resolution process.”

DISTINGUISH

Present how two concepts differ by a
specific feature.

“Distinguish between a manufacturing and
service business.”

DESCRIBE

Present an overview of the features of a
concept.

“Describe the role of the Fair Work Commission

during dispute resolution.”

IDENTIFY

Present from alternative options.

“Identify an operations strategy which this
business could implement.”

JUSTIFY

Present the advantages and significance of
a specific concept.

“Justify the use of on-the-job training as a
method to train employees.”

STATE

Present in a simple manner.

“State one business objective of Microsoft.”

© JGJ Publishing
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SECTION A: STUDY DESIGN QUESTIONS
Questions: Unit 3 A0S 1

1. Types of businesses including sole traders, partnerships, private limited companies, public listed
companies, social enterprises and government business enterprises.*VCE BM SD, p. xx*

1.1 Define sole trader. [1 mark]

1.2 Define partnership. [1 mark]

1.3 Define private limited company. [1 mark]

1.4 Define public listed company. [1 mark]

1.5 Define social enterprise. [1 mark]

1.6 Define government business enterprise. [1 mark]

1.7 Outline two features of a sole trader. [2 marks]

1.8 Outline two features of a partnership. [2 marks]

1.9 Outline two features of a private limited company. [2 marks]

1.10 Outline two features of a public listed company. [2 marks]

1.11 Outline two features of a social enterprise. [2 marks]

1.12 Outline two features of a government business enterprise. [2 marks]

1.13 Discuss the use of a sole trader. [4 marks]

1.14 Discuss the use of a partnership. [4 marks]

1.15 Discuss the use of a private limited company. [4 marks]

1.16 Discuss the use of a public listed company. [4 marks]

1.17 Compare the use of a sole trader and partnership business structure. [4 marks]

1.18 Compare the use of a sole trader and private limited company business structure. [4 marks]
1.19 Compare the use of a private limited company and public listed company business structure. [4 marks]
Marika Leigh is the owner of the business Lexione Pty Ltd.

1.20 Identify the type of business owned by Marika and explain one advantage and one disadvantage of
using this business structure. [3 marks]

1.21.1 Distinguish between a sole trader and partnership. [3 marks]

© JGJ Publishing 12
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2. Business objectives including to make a profit, to increase market share, to improve efficiency, to

improve effectiveness, to fulfil a market, to fulfil a social need and to meet shareholder expectations.*Vct
BM SD, p. xx*

2.1 Define the term ‘business objective’. [1 mark]

2.2 Define the business objective ‘to make a profit’. [1 mark]

2.3 Define the business objective ‘to increase market share’. [1 mark]

2.4 Define the business objective ‘to improve efficiency’. [1 mark]

2.5 Define the business objective ‘to improve effectiveness’. [1 mark]

2.6 Define the business objective ‘to fulfil a market need’. [1 mark]

2.7 Define the business objective ‘to fulfil a social need’. [1 mark]

2.8 Define the business objective ‘to meet shareholder expectations’. [1 mark]
2.9 Explain the primary business objective of a social enterprise. [2 marks]

2.10 Explain a strategy that a business could implement to achieve the business objective ‘to increase
market share’. [3 marks]

2.11 Explain a strategy that a business could implement to achieve the business objective ‘to make a profit’.
[3 marks]

2.12 Explain a strategy that a business could implement to achieve the business objective ‘to fulfil a market
need’. [3 marks]

2.13 Explain a strategy that a business could implement to achieve the business objective ‘to fulfil a social
need’. [3 marks]

3. Stakeholders of businesses including owners, managers, employees, customers, suppliers and the
general community."VCE BM SD, p. 16™

3.1 Define the term stakeholder. [1 mark]
3.2 Define the term ‘owner’. [1 mark]

3.3 Define the term ‘manager’. [1 mark]
3.4 Define the term ‘employee’. [1 mark]
3.5 Define the term ‘customer’. [1 mark]
3.6 Define the term ‘supplier’. [1 mark]

3.7 Define the term ‘competitor’. [1 mark]
3.8 Define the term ‘shareholder’. [1 mark]

3.9 Define the term ‘community’. [1 mark]

© JGJ Publishing 13



Scan to be directed to the
VCEWeb Youtube channel!

4. Characteristics of stakeholders of businesses including their interests and potential conflicts between
stakeholders.

4.1 Define the term ‘owner’ and explain their interests. [2 marks]

4.2 Define the term ‘customers’ and explain their interests. [2 marks]

4.3 Define the term ‘employees’ and explain their interests. [2 marks]

4.4 Define the term ‘managers’ and explain their interests. [2 marks]

4.5 Define the term ‘suppliers’ and explain their interests. [2 marks]

4.6 Define the term ‘community’ and explain their interests. [2 marks]

4.7 Define the term ‘shareholders’ and explain their interests. [2 marks]

4.8 Define the term ‘competitor’ and explain their interests. [2 marks]

4.9 QOutline the interests of two stakeholders. Explain how these interests may conflict. [5 marks]

5. Management styles including autocratic, persuasive, consultative, participative and laissez-faire.”VCE BM
SD, p. 16*

5.1 Define the autocratic management style. [1 mark]

5.1.1 Outline two features of the autocratic management style. [2 marks]
5.2 Define the persuasive management style. [1 mark]

5.2.1 Outline two features of the persuasive management style. [2 marks]
5.3 Define the consultative management style. [1 mark]

5.3.1 Outline two features of the consultative management style. [2 marks]
5.4 Define the participative management style. [1 mark]

5.4.1 Outline two features of the participative management style. [2 marks]
5.5 Define the laissez-faire management style. [1 mark]

5.5.1 Outline two features of the laissez-faire management style. [2 marks]
5.6 Evaluate the use of the autocratic management style. [5 marks]

5.7 Discuss the use of the persuasive management style. [4 marks]

5.8 Discuss the use of the consultative management style. [4 marks]

5.9 Discuss the use of the participative management style. [4 marks]

5.10 Discuss the use of the laissez-faire management style. [2 marks]

© JGJ Publishing 14
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6. The appropriateness of management styles in relation to the nature of task, time, experience of
employees and manager preference.”VCE BMSD, p. 16*

6.1 Identify the four factors that should be taken into account when determining the appropriateness of
employing a specific management style in the workplace. [2 marks]

Despite only being opened for six months, a car manufacturing company has recently had to recall all of its
cars sold in the last three months after it was found that the vehicles had faulty engines.

6.2 Assess the suitability of the manager of the car manufacturing company using an autocratic
management style. [4 marks]

7. Management skills including communicating, delegating, planning, leading, decision-making and
interpersonal.*VCE BMSD, p. 16*

7.1 Define the term communication. [1 mark]
7.2 Define the term delegation. [1 mark]

7.3 Define the term planning. [1 mark]

7.4 Define the term leading. [1 mark]

7.5 Define the term decision-making. [1 mark]
7.6 Define the term interpersonal skills. [1 mark]

7.7 Explain how communication skills can be used by a manager to achieve the business objective to
increase market share. [3 marks]

3.8 Explain how planning skills can be used by a manager to achieve the business objective to increase
market share. [3 marks]

3.9 Explain how leading skills can be used by a manager to achieve the business objective to increase
market share. [3 marks]

A local business in Dandenong is facing a number of internal issues including low employee morale and low
employee productivity as a result of implementing new technology in the workplace.

3.10 Explain how communication skills and one other management skill can be used by the business
manager to resolve these internal issues. [4 marks]

A bakery business, CupCakez Pty Ltd, has noticed poor financial performance in the recent financial year.

3.11 Explain how planning skills can assist CupCakez Pty Ltd in achieving the business objective ‘to make a
profit’. [3 marks]

4. The relationship between management styles and management skills.*VCE 8V sD, p. 16*

4.1 Explain the relationship between management styles and management skills. [2 marks]

© JGJ Publishing 15
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9. Corporate culture, both official and real.”VCE BV D, p. 16*
9.1 Define corporate culture. [1 mark]

9.2 Define official corporate culture. [1 mark]

9.3 Define real corporate culture. [1 mark]

9.4 Distinguish between official and real corporate culture. [3 marks]

Questions: Unit 3 AOS 2

1. The relationship between managing employees and business objectives.*VCE BV D, p. 17*
1.1 Explain the relationship between managing employees and business objectives. [2 marks]

2. Key principles of the following theories of motivation: Hierarchy of Needs (Maslow), Goal Setting
Theory (Locke and Latham) and the Four Drive Theory (Lawrence and Nohria)."VcE BM SD, p. 17*

2.1 Define Maslow’s Hierarchy of Needs. [1 mark]

2.2 Define Locke and Latham’s Goal Setting Theory. [1 mark]

2.3 Define Lawrence and Nohria’s Four Drive Theory. [1 mark]

2.4 Explain one advantage and one disadvantage of using Maslow’s motivation theory. [2 marks]

2.5 Explain one advantage and one disadvantage of using Locke and Latham’s motivation Theory. [2 marks]

2.6 Explain one advantage and one disadvantage of using Lawrence and Nohria’s motivation Theory. [2
marks]

2.7 Describe Maslow’s Hierarchy of Needs. [3 marks]

2.8 Describe the Goal Setting Theory. [3 marks]

2.9 Describe the Four Drive Theory. [3 marks]

Deontay is the owner of Boxers United Pty Ltd, a boxing club in Melbourne that specialises in training
amateur fighters as they progress into professional boxing. When the business initially established the
employees (which consisted of professional fighters with years of experience) were enthusiastic to train
clients; however, Deontay has recently noticed low motivation from employees. As a result, he is looking to

implement specific motivation theories to resolve this issue.

2.10.1 Explain how the principles of Maslow's Hierarchy of Needs can be applied to resolve low employee
motivation at Boxers United Pty Ltd. [6 marks]

2.10.2 Explain how the principles of Lawrence and Nohria’s Four Drive theory can be applied to resolve low
employee motivation at Boxers United Pty Ltd. [5 marks]

2.10.3 Explain how the principles of Locke and Latham’s Goal Setting theory can be applied to resolve low
employee motivation at Boxers United Pty Ltd. [4 marks]
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2.11 Outline one similarity and one difference between Maslow’s motivation theory and Locke and
Latham’s motivation theory. [2 marks]

2.12 Outline one similarity and one difference between Maslow’s motivation theory and Lawrence and
Nohria’s motivation theory. [2 marks]

2.13 Outline one similarity and one difference between Locke and Latham’s motivation theory and
Lawrence and Nohria’s motivation theory. [2 marks]

3. Motivation strategies including performance related pay, career advancement, investment in
training, support and sanction.*Vct BV SO, p. 17*

3.1 Define performance related pay. [1 mark]

3.2 Define career advancement. [1 mark]

3.3 Define investment in training. [1 mark]

3.4 Define support. [1 mark]

3.5 Define sanctions. [1 mark]

3.6 Explain how performance related pay can be used to motivate employees in the workplace. [2 marks]
3.7 Explain how career advancement can be used to motivate employees in the workplace. [2 marks]

3.8 Explain how investment in training can be used to motivate employees in the workplace. [2 marks]
3.9 Explain how support can be used to motivate employees in the workplace. [2 marks]

3.10 Explain how sanctions can be used to motivate employees in the workplace. [2 marks]

4. Advantages and disadvantages of motivations strategies and their effect on short-term and long-term
employee motivation.*VCE BM SD, p. 17*

4.1 Discuss the use of performance related pay as a motivation strategy. [4 marks]

4.2 Discuss the use of career advancement as a motivation strategy. [4 marks]

4.3 Discuss the use of investment in training as a motivation strategy. [4 marks]

4.4 Explain one advantage and one disadvantage of using support as a motivation strategy. [2 marks]
4.5 Explain one advantage and one disadvantage of using sanctions as a motivation strategy. [2 marks]

5. Training options including on-the-job and off-the-job training and the advantages and disadvantages
of each."VCEBM SD, p. 17*

5.1 Define on-the-job training. [1 mark]
5.2 Define off-the-job training. [1 mark]
5.3 Distinguish between on-the-job training and off-the-job training. [3 marks]

5.4 Evaluate the use of on-the-job training in terms of achieving business objectives. [5 marks]
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5.5 Evaluate the use of off-the-job training in terms of achieving business objectives. [5 marks]
5.6 Compare the use of on-the-job training and off-the-job training. [4 marks]

6. Performance management strategies to achieve both business and employee objectives, including
management by objectives, appraisals, self-evaluation and employee observation.*VCE BV SD, p. 17*

6.1 Define the term performance management strategies. [1 mark]

6.2 Define the term management by objectives. [1 mark]

6.3 Define the term appraisals. [1 mark]

6.4 Define the term self-evaluation. [1 mark]

6.5 Define the term employee observation. [1 mark]

6.6 Discuss the use of management by objectives in terms of achieving business objectives. [4 marks]

6.7 Discuss the use of appraisals in terms of achieving business objectives. [4 marks]

6.8 Discuss the use of self-evaluation in terms of achieving business objectives. [4 marks]

6.9 Discuss the use of employee observation in terms of achieving business objectives. [4 marks]

Patrick’s Pyjama’s Ptd Ltd is a large-scale retail organisation that sells a variety of pyjamas for kids and
adults. Patrick, the owner, has noticed that his business’ performance has been slipping since 2019. He
believes that implementing a performance management strategy would be useful in improving his business’

performance. Data for the productivity of employees at Patrick’s Pyjama’s Pty Ltd over two years of trading
and customer satisfaction due to customer service can be seen below.

2019 2020
Profit $40,000 $30,000
Productivity 8% 3%
Customer satisfaction 42% 31%

6.10.1 Define the term ‘performance management’. [2 marks]

6.10.2 Propose a performance management strategy and evaluate the strategy in relation to the issues at
Patrick’s Pyjama’s Pty Ltd. [6 marks].

7. Termination management including retirement, redundancy, resignation and dismissal, entitlement
considerations and transition considerations.*VCE BV SD, p. 17*

7.1 Define retirement. [1 mark]

7.2 Define redundancy. [1 mark]
7.3 Define resignation. [1 mark]
7.4 Define dismissal. [1 mark]

7.5 Define entitlements and transition services. [2 marks]
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7.6 Outline one entitlement consideration and one transition consideration that apply to a redundant
employee. [2 marks]

8. The roles of participants in the workplace including human resource managers, employees, employer
associations, unions, and the Fair Work Commission.*VCE BM SD, p. 17*

8.1 Define human resources manager. [1 mark]

8.1.1 Outline the activities of the human resources manager in relation to dispute resolution. [2 marks]
8.2 Define employees. [1 mark]

8.2.1 Outline the activities of employees in relation to dispute resolution. [2 marks]

8.3 Define employer associations. [1 mark]

8.3.1 Outline the activities of employer associations in relation to dispute resolution. [2 marks]

8.4 Define unions. [1 mark]

8.4.1 Outline the activities of unions in relation to dispute resolution. [2 marks]

8.5 Define the Fair Work Commission. [1 mark]

8.5.1 Outline the activities of the Fair Work Commission in relation to dispute resolution. [2 marks]

9. Awards and agreements as methods of determining wages and conditions of work.*VCE BM D, p. 17*
9.1 Define the term award. [1 mark]

9.2 Define the term agreement. [1 mark]

9.3 Explain how awards can be used as a method of determining wages and conditions of work. [3 marks]

9.4 Explain how agreements can be used as a method of determining wages and conditions of work. [3
marks]

9.5 Discuss the use of awards as a method of determining wages and conditions of work. [4 marks]
9.6 Discuss the use of agreements as a method of determining wages and conditions of work. [4 marks]
9.7 Distinguish between awards and agreements. [3 marks]

10. An overview of the dispute resolution process including grievance procedures, mediation and
arbitration.*VCE BMSD, p. 17*

10.1 Outline the grievance procedure. [4 marks]

10.2 Define mediation. [1 mark]

10.3 Define arbitration. [1 mark]

10.4 Discuss the use of mediation as a dispute resolution process. [4 marks]

10.5 Discuss the use of arbitration as a dispute resolution process. [4 marks]
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Questions: Unit 3 AOS 3

1. The relationship between operations management and business objectives. *VCE BV D, p. 18*

1.1 Define operations management. [1 mark]

1.2 Explain the relationship between operations management and business objectives. [2 marks]
1.3 Define efficiency and effectiveness. [2 marks]

2. Key elements of an operations system: inputs, processes and outputs.VCE BV SD, p. 18*

2.1 Identify all the key elements of an operations system. [1 mark]

2.2 Define all the key elements of an operations system. [3 marks]

2.3 Using a contemporary manufacturing business, explain the key elements of an operations system. [6
marks]

2.4 Using a contemporary service business, explain the key elements of an operations system. [6 marks]

3. Characteristics of operations management within both manufacturing and service businesses.”VCt BM
SD, p. 18*

3.1 Outline two characteristics of a manufacturing business. [2 marks]

3.2 Outline two characteristics of a service business. [2 marks]

3.3 Compare the characteristics of a service and manufacturing business. [2 marks]

4. Strategies to improve the efficiency and effectiveness of operations related to technological
developments, including the use of automated production lines, robotics, computer-aided design,
computer-aided manufacturing techniques, artificial intelligence and online services.*Vct BV SD, p. 18*

4.1 Define automated production lines. [1 mark]

4.2 Define robotics. [1 mark]

4.3 Define computer-aided design. [1 mark]

4.4 Define computer-aided manufacturing. [1 mark]

4.5 Define artificial intelligence. [1 mark]

4.6 Define online services. [1 mark]

4.7 Discuss the use of automated production lines. [4 marks]

4.8 Discuss the use of robotics. [4 marks]

4.9 Discuss the use of computer-aided design. [4 marks]

4.10 Discuss the use of computer-aided manufacturing. [4 marks]

© JGJ Publishing 20



Scan to be directed to the
VCEWeb Youtube channel! >

4.11 Discuss the use of artificial intelligence. [4 marks]
4.12 Discuss the use of online services. [4 marks]

4.13 Explain how automated production lines can be used to improve the efficiency and effectiveness of
operations. [3 marks]

4.14 Explain how robotics can be used to improve the efficiency and effectiveness of operations. [3 marks]

4.15 Explain how computer-aided design can be used to improve the efficiency and effectiveness of
operations. [3 marks]

4.16 Explain how computer-aided manufacturing can be used to improve the efficiency and effectiveness of
operations. [3 marks]

4.17 Explain how artificial intelligence can be used to improve the efficiency and effectiveness of operations.
[3 marks]

4.18 Explain how online services can be used to improve the efficiency and effectiveness of operations. [3
marks]

5. Strategies to improve the efficiency and effectiveness of operations related to materials, including

forecasting, master production schedule, materials requirement planning and Just In Time.VCE 8M SD, p.
18*

5.1 Define forecasting. [1 mark]

5.2 Define master production schedule. [1 mark]

5.3 Define materials requirement planning. [1 mark]

5.4 Define Just In Time. [1 mark]

5.5 Discuss the use of forecasting. [4 marks]

5.6 Discuss the use of master production schedule. [2 marks]

5.7 Discuss the use of materials requirement planning. [2 marks]

5.8 Discuss the use of Just In Time. [4 marks]

5.9 Explain how forecasting can be used to improve the efficiency and effectiveness of operations. [3 marks]

5.10 Explain how master production schedule can be used to improve the efficiency and effectiveness of
operations. [3 marks]

5.11 Explain how materials requirement planning can be used to improve the efficiency and effectiveness of
operations. [3 marks]

5.12 Explain how Just In Time can be used to improve the efficiency and effectiveness of operations. [3
marks]
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6. Strategies to improve the efficiency and effectiveness of related to quality, including quality control,
quality assurance and Total Quality Management.*VCE BM D, p. 18*

6.1 Define quality. [1 mark]

6.2 Define quality control. [1 mark]

6.3 Define quality assurance. [1 mark]

6.4 Define Total Quality Management. [1 mark]

6.5 Discuss the use of quality control. [4 marks]

6.6 Discuss the use of quality assurance. [2 marks]

6.7 Discuss the use of Total Quality Management. [4 marks]

6.8 Explain how quality control can be used to improve the efficiency and effectiveness of operations. [3
marks]

6.9 Explain how quality assurance can be used to improve the efficiency and effectiveness of operations. [3
marks]

6.10 Explain how Total Quality Management can be used to improve the efficiency and effectiveness of
operations. [3 marks]

Hubris Airlines provides a variety of travel services within Australia and internationally to its consumers. The
company is considering the use of quality management strategies in order to ensure that the fitness of its

aircrafts are maintained.

6.11 Explain how Hubris Airlines could use quality control to ensure that the quality of its aircrafts are
maintained. [4 marks]

7. Strategies to improve the efficiency and effectiveness of operations through waste minimisation in
the production process: reduce, reuse, recycle.”Vct BM D, p. xx*

7.1 Explain the relationship between waste minimisation and business objectives. [3 marks]

8. The pull, one-piece-flow, takt, zero defects strategy to improve the efficiency and effectiveness of
operations related to lean management. *VCE BM D, p. xx*

8.1 Define lean management. [1 mark]

8.2 Explain how lean management can be used to improve the efficiency and effectiveness of operations. [3
marks]

Phonez N Stuff manufactures a range of mobile phones and tablets. They are hoping to reduce their
wastage levels in the future.

8.3 Explain how lean management principles can be implemented to reduce wastage levels at Phonez N
Stuff. [5 marks]
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‘P-Balls’ is a popular protein powder manufacturing company in Australia. P-Balls distinguishes itself from
competitors by creating transparent balls in capsules which, when added to water, dissolve immediately and
allow the protein powder to mix. P-Balls sells their protein powder balls in small, medium and large sized
containers. Unfortunately, due to the 2020 COVID-19 pandemic, gyms were closed down. Consequently, P-
Balls were unable to sell any of their stock, resulting in inventory expiring. This has resulted in the level of

wastage increasing at P-Balls. Figure 1 below displays the level of wastage at P-Balls at the end of 2019 and
the end of 2020.

Figure 1

Level of wastage (%)

0
End of 2019 End of 2020

8.4 Propose and apply lean management principles that can be used to improve the efficiency of P-Balls’
operations. In your response, refer to ‘Figure 1’. [6 marks]

9. Corporate social responsibility considerations in an operations system, including the environmental

sustainability of inputs and the amount of waste generated from processes and production of
outputs. *VCE BM SD, p. 18*

9.1 Define the term 'corporate social responsibility’. [2 marks]

9.2 Using the key elements of an operations system, explain how a business can engage in corporate social
responsibility. [6 marks]

10. Global considerations in operations management, including global sourcing of inputs, overseas
manufacture and global outsourcing.*VcE BM D, p. 18*

10.1 Define global sourcing of inputs. [1 mark]
10.2 Define overseas manufacture. [1 mark]
10.3 Define global outsourcing. [1 mark]

10.4 Explain one advantage and one disadvantage of employing global sourcing of inputs as a global
consideration. [2 marks]

10.5 Explain one advantage and one disadvantage of employing overseas manufacture as a global
consideration. [2 marks]

10.6 Explain one advantage and one disadvantage of employing global outsourcing as a global
consideration. [2 marks]

10.7 Explain how one global strategy can be used to improve the efficiency and effectiveness of operations.
[3 marks]
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Questions: Unit4 AOS 1

1. The concept of business change.*VcE BM SD, p. 21*

1.1 Define business change. [2 marks]

1.2 State two examples of business change. [2 marks]

2. Managers can take a proactive and reactive approach to change.*VcE 8M SO, p. 21*

2.1 Explain one example of a proactive approach to change and a reactive approach to change. [4 marks]

2.2 Explain why using a proactive approach to change is more appropriate than a reactive approach to
change. [3 marks]

3. Key performance indicators as sources of data to analyse the performance of businesses, including
percentage of market share, net profit figures, rate of productivity growth, number of sales, rates of
staff absenteeism, level of staff turnover, level of wastage, humber of customer complaints and
number of workplace accidents.*VcE BM SD, p. 21*

3.1 Define the term ‘key performance indicator’ and outline their purpose. [2 marks]

3.2 Define the key performance indicator ‘percentage of market share’. [1 mark]

3.3 Define the key performance indicator ‘net profit figures’. [1 mark]

3.4 Define the key performance indicator ‘rate of productivity growth’. [1 mark]

3.5 Define the key performance indicator ‘number of sales’. [1 mark]

3.6 Define the key performance indicator ‘rate of staff absenteeism’. [1 mark]

3.7 Define the key performance indicator ‘level of staff turnover'. [1 mark]

3.8 Define the key performance indicator ‘level of wastage’. [1 mark]

3.9 Define the key performance indicator ‘number of customer complaints’. [1 mark]

3.10 Define the key performance indicator ‘number of workplace accidents’. [1 mark]
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The company Sharples, which manufactures a variety of stationary materials, recently underwent a series of
changes in 2019. These changes include:

e The downsizing of the companies’ workforce

o Implementation of just in time as a materials management strategy

o Implementing promotion strategies (such as advertising)

The manager at Sharples decides to review performance indicator data after one year of trading to
determine the effect these changes have had on business performance.

2019 2020
Net profit figure ($ per annum) 40,000 70,000
Level of wastage (%) 7% 2%
Rate of staff absenteeism (days 5 14
per year per staff member)
Percentage of market share (%) 21 19

Figure 3

3.11 Analyse the extent to which the changes at Sharples affected its performance after one year of trading
using data in Figure 3. [4 marks]

2018 2021
Net profit figure (S per annum) 80,000 55,000
Number of sales (per day) 200 400
Level of staff turnover (%) 4% 8%

Figure 1

3.12 State what changes have occurred to key performance indicator data in Figure 1 and whether these
changes are favourable or unfavourable. [4 marks]

The operations manager was displeased with the performance of Banana Pty Ltd, a technology company
that produces mobile phones. As a consequence of this, he decided to implement Total Quality Management
in the workplace. After three years, the operations manager decides to analyse key performance indicator
data in order to determine the extent to which the transformation has been successful. Figure 2 shows this
key performance indicator data.

2018 2019
The level of wastage (%) 4 3
Net profit figure ($ per annum) 13,000 10,000
Number of sales (per day) 42 29
Number of customer complaints (per week) 7 2

Figure 2

3.13 Analyse the extent to which the changes at Banana affected its performance after three years of
trading using data in Figure 2. [4 marks]
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The manager has Forks R Us recently noticed low employee motivation at the end of 2017. This, in turn, has
taken a toll on the productivity rates of employees. As a result, she decides to implement staff motivation
strategies at the start of 2018, followed by staff training strategies in 2019 to combat these internal
business issues.

Figure 1 Figure 2
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3.14.1 Analyse the extent to which the implementation of staff motivation strategies improved business
performance at Forks R Us from 2018 to 2019 using Figures 1 or 2. [3 marks]

3.14.2 Analyse the extent to which the implementation of staff training improved business performance at
Forks R Us from 2018 to 2019 using Figures 2 or 3. [3 marks]

4. Key principles of the Force Field Analysis theory (Lewin) including weighting, ranking, implementing a
response and evaluating the response.*VCE BV SD, p. 21*

4.1 Define Lewin’s Force Field Analysis theory. [1 mark]

4.2 Describe the steps of Lewin’s Force Field Analysis Theory. [4 marks]

Ballz Inc is a sports service business that sells a range of products for ball sports, including tennis, soccer,
basketball and cricket. The manager at Ballz is considering sourcing new product lines for more niche sports

such as Bocce, Broomball, Padball and Ringball.

4.3 Explain how the manager at Ballz could apply Lewin’s Force Field Analysis theory to ensure the change is
successful. [5 marks]

4.4 Apply the principles of Lewin’s Force Field Analysis theory to a contemporary business example. [5
marks]
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5. Driving forces for change in business, including managers, employees, competitors, legislation,

pursuit of profit, reduction of costs, globalisation, technology, innovation and societal attitudes.VCct 8V
SD, p. 21*

5.1 Define the driving force of managers and explain how managers is a driving force for change. [2 marks]

5.2 Define the driving force of employees and explain how employees is a driving force for change. [2
marks]

5.3 Define the driving force of competitors and explain how competitors is a driving force for change. [2
marks]

5.4 Define the driving force of legislation and explain how legislation is a driving force for change. [2 marks]

5.5 Define the driving force of pursuit of profit and explain how pursuit of profit is a driving force for
change. [2 marks]

5.6 Define the driving force of reduction of costs and explain how reduction of costs is a driving force for
change. [2 marks]

5.7 Define the driving force of globalisation and explain how globalisation is a driving force for change. [2
marks]

5.8 Define the driving force of technology and explain how technology is a driving force for change. [2
marks]

5.9 Define the driving force of innovation and explain how innovation is a driving force for change. [2 marks]

5.10 Define the driving force of societal attitudes and explain how societal attitudes is a driving force for
change. [2 marks]

6. Restraining forces in businesses, including managers, employees, time, organisational inertia,
legislation and financial considerations.*VcE BM SD, p. 21*

6.1 Define the restraining force of managers and explain how managers is a restraining force for change. [2
marks]

6.2 Define the restraining force of employees and explain how employees is a restraining force for change.
[2 marks]

6.3 Define the restraining force of time and explain how time is a restraining force for change. [2 marks]

6.4 Define the restraining force of organisational inertia and explain how organisational inertia is a
restraining force for change. [2 marks]

6.5 Define the restraining force of legislation and explain how legislation is a restraining force for change. [2
marks]

6.6 Define the restraining force of financial considerations and explain how financial considerations is a
restraining force for change. [2 marks]

7. The two key approaches, lower cost and differentiation, to strategic management by Porter’s Generic
Strategies (1985).VCEBMSD, p. 21*

7.1 Define porter’s generic strategy of lower cost. [1 mark]
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7.2 Define porter’s generic strategy of differentiation. [1 mark]
7.3 Define the term competitive advantage. [1 mark]
7.4 Distinguish between porter's generic strategy of lower cost and differentiation. [3 marks]

7.5 Using a contemporary business example, explain how porter’s generic strategy of differentiation can be
used to gain a competitive advantage. [3 marks]

7.6 Using a contemporary business example, explain how porter’s generic strategy of lower cost can be used
to gain a competitive advantage. [3 marks]

7.7 Compare porter’s generic strategy of lower cost and porter's generic strategy of differentiation. [4
marks]

7.8 Discuss the use of porter’s generic strategy of lower cost in terms of gaining a competitive advantage. [4
marks]

7.9 Discuss the use of porter’s generic strategy of differentiation in terms of gaining a competitive
advantage. [4 marks]

Questions: Unit 4 AOS 2

1. The importance of leadership in change management.*VCE BM $D, p. 16*
1.1 Explain how leadership can be used during the change process. [3 marks]

1.2 Using a contemporary business example, explain how leadership can be used during times of change. [6
marks]

2. Management strategies to respond to key performance indicators and/or seek new business
opportunities, including staff training, change in management styles or management skills, increased
investment in technology, improving quality in production, cost cutting, initiating lean production
techniques, redeployment of resources (natural, labour and capital), innovation, global sourcing of
inputs, overseas manufacture and global outsourcing.”VCE BM D, p. 22*

2.1 Define the term ‘key performance indicator’. [1 mark]

2.2 Define the management strategy of staff training. [1 mark]

2.3 Define the management strategy of staff motivation. [1 mark]

2.4 Define the management strategy of change in management styles. [1 mark]

2.5 Define the management strategy of change in management skills. [1 mark]

2.6 Define the management strategy of increased investment in technology. [1 mark]

2.7 Define the management strategy of improving quality in production. [1 mark]

2.8 Define the management strategy of cost cutting. [1 mark]
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2.9 Define the management strategy of initiating lean production techniques. [1 mark]
2.10 Define the management strategy of redeployment of resources. [1 mark]

In early 2018, Fred’s Fridges implemented technology in the workplace in order to improve the efficiency and
effectiveness of its fridge manufacturing operations. However, the company soon after realised that the
technology is second-hand, which has seen a number of issues for the performance of the business. The
manager was concerned about what this would mean for the business’ future so decided to review key
performance indicator data and implement strategies in 2019 before they can order a brand new technology
system in 2020.

2017 2018
The rate of productivity growth (%) 8 5
Net profit figures ($ per annum) $250,000 $100,000
Number of sales (per day) 100 80
Number of customer complaints (per week) 3 8
Level of wastage (%) 2 4

Figure 1

Explain how the following management strategies could be used by a business to respond to changes in
Figure 1 and position the business for 2019:

2.11.1 Initiating lean production techniques. [3 marks]

2.11.2 Staff training. [3 marks]

2.11.3 Improving quality in production. [3 marks]

2.11.4 Cost cutting. [3 marks]

Chris’ Christmaz Store is a partnership business responsible for selling a variety of Christmas ornaments and

decorations. The manager at Chris’ Christmaz Store recently analysed key performance indicator data and is
considering the use of management strategies to respond to poor business performance.

2018 2019

Number of sales (per month) 1000 500
Rate of productivity growth (%) 5% 3%
Level of staff turnover (%) 2% 6%
Percentage of market share (%) 10% 6%

Figure 2

Explain how the following management strategies can be used to respond to the key performance indicator
data in Figure 2 and position Chris’ Christmaz Store for the future:

2.12.1 Increased investment in technology. [3 marks]
2.12.2 Improving quality in production. [3 marks]

2.12.3 Staff motivation. [3 marks]
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Justify a key performance indicator that could be used to evaluate the effectiveness of the following

management strategies:
2.13.1 Staff training. [3 marks]
2.13.2 Improving quality in production. [3 marks]

2.13.3 Increased investment in technology. [3 marks]

Below are key performance indicator data from 2018 to 2020 for a car manufacturing company.

Figure 1
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2.14.1 Identify two management strategies that could be applied in 2020 to respond to Figures 1 and 2. [2

marks]

2.14.2 Describe how one of the management strategies identified in part 2.14.1 could be applied in 2020 to
respond to Figures 1 and 2 and position the car manufacturing company for the future. [5 marks]

2.14.3 Identify two management strategies that could be applied in 2020 to respond to Figures 3 and 4. [2

marks]

2.14.4 Describe how one of the management strategies identified in part 2.14.3 could be applied in 2020 to

respond to Figures 3 and 4. [4 marks]

3. Corporate culture and strategies for its development.*VCE BV SD, p. 16*

3.1 Define the term corporate culture. [1 mark]

3.2 Explain two strategies that can be employed to develop a more positive corporate culture. [4 marks]
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4. An overview of the principles of the Learning Organisation (Senge) and the need to create a positive
culture for change.™VCE BM SD, p. 22*

4.1 Define the term ‘Learning Organisation’. [1 mark]
4.2 Define the five principles of Senge’s ‘Learning Organisation’. [5 marks]

4.3 Explain one advantage and one disadvantage of being a ‘Learning Organisation’, with reference to
specific principles. [4 marks]

4.4 Explain how being a ‘Learning Organisation' allows a business to implement change successfully. [2
marks]

4.5 Identify three principles of Senge’s Learning Organisation and outline the significance of the identified
principles. [6 marks]

4.6 Explain the relationship between being a ‘Learning Organisation’, as identified by Senge (1990), and the
concept of business change. In your response, refer to two principles of Senge. [5 marks]

5. Low-risk strategies to overcome employee resistance: communication, empowerment, support and
incentives."VCE BM SD, p. 22

5.1 Define the low-risk strategy of ‘communication’. [1 mark]

5.2 Define the low-risk strategy of ‘empowerment’. [1 mark]

5.3 Define the low-risk strategy of ‘support’. [1 mark]

5.4 Define the low-risk strategy of ‘incentives’. [1 mark]

Sri Lanka at Home Pty Ltd, a seller of Sri Lankan groceries, has recently decided to shift their warehouse to a
rural area. This change will affect over 100 staff members and so the manager is worried concerned about

the possibility of employee resistance.

5.5 Explain how the low-risk strategy of communication can be used to overcome employee resistance at Sri
Lanka at Home Pty Ltd. [3 marks]

6. High-risk strategies to overcome employee resistance, including manipulation and threat.*VCE BMSD, p. 22*
6.1 Define the high-risk strategy of ‘manipulation’. [1 mark]

6.2 Define the high-risk strategy of ‘threat’. [1 mark]

Sri Lanka at Home Pty Ltd, a seller of Sri Lankan groceries, has recently decided to shift their warehouse to a
rural area. This change will affect over 100 staff members and so the manager is worried concerned about

the possibility of employee resistance.

6.3 Explain how the high-risk strategy of manipulation can be used to overcome employee resistance at Sri
Lanka at Home Pty Ltd. [3 marks]

7. Key principles of the Three Step Change Model (Lewin).*VCE BMSD, p. 22*
7.1 Identify the three steps of Lewin’s Three Step Change Model. [1 mark]

7.2 Outline each of the three steps of Lewin’s Three Step Change Model. [3 marks]
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Snacks 4 Pets is a manufacturer of a range of fresh foods for domesticated animals. The owner is
considering shifting the manufacturing warehouse from metropolitan Melbourne to a more rural area.

7.3 Apply the principles of one step of Lewin’s Three Step Change Model to the decision to shift Snacks 4
Pet’s warehouse rurally. [3 marks]

7.4 Apply the key principles of Lewin’s Three Step Change Model using a contemporary business example. [6
marks]

8. The effect of change on stakeholder groups including owners, manager, employees, customers,
suppliers and the general community.VCE BM SD, p. 22*

8.1 Define the term ‘business change’. [1 mark]

8.2 Define the stakeholder ‘owners’ and explain the effect that business change can have on owners. [3
marks]

8.3 Define the stakeholder ‘managers’ and explain the effect that business change can have on managers. [3
marks]

8.4 Define the stakeholder ‘employees’ and explain the effect that business change can have on employees.
[3 marks]

8.5 Define the stakeholder ‘customers’ and explain the effect that business change can have on employees.
[3 marks]

8.6 Define the stakeholder ‘suppliers’ and explain the effect that business change can have on suppliers. [3
marks]

9. Corporate social responsibility considerations when implementing change.*VCE 8V D, p. 22*
9.1 Define corporate social responsibility. [1 mark]

Explain one corporate social responsibility consideration that may be taken into account when implementing
the following business changes:

9.2.1 Implementing technology. [2 marks]
9.2.2 Downsizing the workforce. [2 marks]
9.2.3 Changing suppliers. [2 marks]

10. The importance of reviewing key performance indicators to evaluate the effectiveness of business
transformation.*VCE BM D, p. 22*

10.1 Explain how key performance indicators can be used to evaluate the effectiveness of business
transformation. [2 marks]

10.2 Explain the importance of key performance indicators in evaluating the effectiveness of business
transformation. [2 marks]
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SECTION B: APPLICATION QUESTIONS

Question 1 (U3 AOS 1)

VCEFlashCards Pty Ltd is a business that manufactures flashcards for students in years 11 and 12 for a
variety of VCE subjects.

1.1 Identify the type of business structure being used by VCEFlashCards. [1 marks]

1.2 Define the business structure identified in part a) and outline one feature of this business structure. [2
marks]

1.3 Discuss the use of the business structure identified in question 1.2. [4 marks]
For the next financial year, VCEFlashCards have the primary objective of earning $50,000 in profit.
1.4 Define the business objective ‘to make a profit’. [2 marks]

1.5 Explain two strategies that can be implemented by VCEFlashCards to achieve their primary objective for
the next financial year. [4 marks]

Question 2 (U3 AOS 2)

Cassidy is the owner of a hairdressing parlour in Melbourne. Cassidy has noticed reduced motivation as a
result of internal conflict between staff members and employees struggling to use new hairdressing tools
that have recently been purchased. This has caused the productivity of the workforce to reduce. Cassidy is
considering using the Four Drive Theory to improve employee performance and resolve low employee
motivation.

2.1 Describe the Four Drive Theory and explain how it could be applied at Cassidy’s hairdressing parlour to
motivate employees. [6 marks]

The primary objective of Cassidy’s business is to increase market share.

2.2 Identify and outline the relationship between managing employees and the business objective to
increase market share. In your response, refer to Cassidy’s hairdressing parlour. [3 marks]

2.3 Describe how on-the-job training can be used to improve employee productivity at Cassidy’s
hairdressing parlour. [3 marks]

2.4 Explain how one motivation strategy, other than career advancement, can motivate employees at
Cassidy’s business. [3 marks]
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Question 3 (U3 AOS 3)

Pancakes R Us is a manufacturing company that produces pre-made packaged pancakes for consumers. This
business has the primary objective of making a profit. The operations manager at Pancakes R Us, Peter,
recently implemented lean management principles as a method to reduce wastage levels at the
manufacturing site. In order to determine whether lean management was successful in reducing waste, he
measured the level of wastage before the change and after the change. This data is shown in Figure 1
below.

Figure 1

The level of wastage
(%)
N

Before lean management After lean management
3.1 Explain the key elements of the operations system of Pancakes R Us. [6 marks]

3.2 Explain the relationship between the operations of Pancakes R Us and their primary business objective.
[3 marks]

3.3 Compare the key characteristics of Pancakes R Us with a contemporary service business. [2 marks]

3.4 Explain how Peter could have used lean management principles in order to improve the efficiency of
Pancakes R Us’ operations, with reference to Figure 1. [6 marks]

Question 4 (U4 AOS 1)

Face-COV Pty Ltd is a manufacturer of face masks in Australia. Face-COV have been put under pressure to
improve their production line efforts due to the recent spike in COVID-19 cases in Victoria in April. The
manager has decided to train employees; however, due to government restrictions, off-the-job training
cannot be used. Thus, Face-COV will implement on-the-job training in the workplace. Below are key
performance indicator data which measure Face-COV’s performance before and after training.
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4.1 Define the term key performance indicator. [1 mark]
4.2 State one characteristic of a key performance indicator. [1 mark]

4.3 Apply the principles of Lewin’s Force Field Analysis theory to the implementation of on-the-job training
at Face-COV. [5 marks]
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4.4 Analyse the extent to which implementing on-the-job training was successful for Face-COV with
reference to the key performance indicator data above. [6 marks]

4.5 Identify and define one key performance indicator, other than the ones already analysed, that Face-COV
could have used to evaluate the success of the change. [2 marks]

Question 5 (U4 AOS 2)

Bhatia’s Boomerangs is a partnership that specialises in the manufacturing of high-quality boomerangs. The
manager, Bhatia, has implemented a number of changes at the business during May of 2020. These include
downsizing and implementing computer-aided design in the workplace. He analysed key performance
indicator data before and after the changes occurred and has recognised that business performance has
reduced significantly. The key performance indicator data is shown below.

Figure 1 Figure 2
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Figure 3
May June July
Rate of productivity growth 10% 5% 4%
Net profit figures $100,000 $80,000 $65,000

5.1 Explain how staff motivation can be used to respond to Figure 1 and position Bhatia's Boomerangs for
the future. [3 marks]

5.2 Explain how staff training can be used to respond to Figure 2 and position Bhatia's Boomerangs for the
future. [3 marks]

5.3 Explain one strategy that can be used to respond to Figure 3 and position Bhatia's Boomerangs for the
future. [3 marks]

5.4 Describe the importance of reviewing key performance indicator data in terms of evaluating the
effectiveness of business change. [3 marks]
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Question 6 (U3 AOS 3, U4 A0S 1)

Luscious Lips is a manufacturer of lip balms and have their main warehouse in Melbourne. Luscious Lips
management are surprised by the high level of wastage that have been produced in recent months and so
they decide to implement Just in Time in order to combat this. Datum for the level of wastage before and
after implementing this strategy is shown below.

Figure 1
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6.1 Outline two characteristics of a manufacturing business like Luscious Lips. [2 marks]
6.2 Define the key performance indicator from Figure 1. [2 marks]

6.3 Analyse the extent to which the implementation of Just in Time has improved business performance at
Luscious Lips. [4 marks]

6.4 Justify a quality management strategy that can be used to address the wastage issues at Luscious Lips. [3
marks]

Question 7 (U3 AOS 2, U3 AOS 3, U4 AOS 1, U4 AOS 2)

SARS-CoV-2 is a virus that is responsible for the infectious coronavirus disease of 2019, formally known as
COVID-19. This medical disease has had a significant impact on the operation of the Australian Healthcare
System, particularly in Victoria where case numbers are highest. A recent audit of hospitals has found a
number of issues that are of particular concern, including:

¢ hospitals are currently not meeting healthcare objectives and targets
¢ there has been little to no COVID-19 safety training in rural hospitals

¢ hospital management are focussed on achieving profit rather than meeting healthcare standards

A new hospital has been developed in rural Victoria and changes will be implemented to determine if they
are successful in improving health outcomes. One of these changes is increased COVID-19 safety training.

7.1 Explain the key elements of this hospital’s operations system. [6 marks]

7.2 Describe how on-the-job training can be used to train healthcare workers at this hospital. In your
response, explain one advantage and one disadvantage of on-the-job training. [5 marks]

7.3 Justify one key performance indicator that can be used to determine the effectiveness of COVID-19
safety training at the hospital. [2 marks]
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7.4 Explain the importance of leadership with reference to the case study. [4 marks]

7.5 Propose and justify one performance management strategy that can be used to assess the performance
of the healthcare workers. [3 marks]

Question 8 (U4 AOS 1, U4 AOS 2)

Face-COV, a manufacturer of face masks in Australia, has recently undergone a business restructure. As a
result, employee productivity has significantly reduced. Consequently to address this, the manager at Face-
COV decided to shift from a participative management style to a persuasive management style. One key
performance indicator has been analysed before and after shifting management styles and this is shown
below.
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8.1 Distinguish between a persuasive and participative management style. [3 marks]
8.2 Assess the suitability of the manager at Face-COV using a persuasive management style. [4 marks]

8.3 Analyse the extent to which the shift from a participative to persuasive management style was suitable
using Figure 1. [4 marks]

Question 9 (U3 AOS 1, U3 A0S 2,U4 A0S 1, U4 A0S 2)

Le Salad is a private sector business that sells a range of salads to its niche consumer group of vegans in
Queensland. Le Salad operates by purchasing pre-made salads from a separate company and then selling
them to customers at their many stores. In early 2019, Le Salad decided to undergo a major business
transformation that has been predicted to boost the company’s profits by 130%. This change was the
implementation of a new website in order to achieve greater 'online exposure’ for the salads they sell.
However, the proposal of the new change has seen some complications for Le Salad; most notable are
reduced staff motivation and increased employee resistance. The human resources manager at Le Salad is
looking to implement motivation theories in order to address this internal business problem.

9.1 Identify one business objective that Le Salad would have, other than to make a profit, and explain how
planning skills can be used by the manager to achieve this business objective. [5 marks]

9.2 Explain how Le Salad can apply the principles of the Four Drive Theory to motivate employees. [6 marks

9.3 Explain how Le Salad can use Porter's generic strategy of differentiation to gain a competitive advantage.
[4 marks]

9.4 Describe one driving force and one restraining force for the change at Le Salad. [4 marks]

© JGJ Publishing 37



Scan to be directed to the
VCEWeb Youtube channel! >

Question 10 (U3 AOS 1, U3 AOS 2, U4 AOS 2)

Joseph is the manager at Pizzeria Plaza, a dine in restaurant that is well known for their famous “Paprika
Pisa” Pizza. He currently employs an autocratic management style in the workplace.

10.1 Define the term ‘autocratic management style’. [2 marks]
10.2 Explain one business objective that Pizzeria Plaza would have, other than to make a profit. [2 marks]

10.3 Discuss the use of the management style that Joseph currently employs in terms of achieving business
objectives. [5 marks]

Pizzeria Plaza has noticed low staff motivation amongst staff ever since their most experienced chef retired.
10.4 Outline one transition issue and one transition service in relation to the chef’s retirement. [2 marks]

10.5 Explain how Joseph can apply Maslow’s Hierarchy of Needs to motivate employees. [5 marks]

Question 11 (U3 AOS 2, U4 AOS 1)

A popular company in Sydney, CamMan Pty Ltd, manufactures cameras and associated accessories. The
owner of CamMan is finding the rent for their current manufacturing site to be quite expensive and so, have
decided to move their operations rurally in order to reduce costs. The key performance indicator (KPI) data
below provides information about the performance of CamMan before and after shifting rurally.
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11.1 Explain one KPI, other than the ones analysed above, that can be used to assess the performance of
CamMan before and after undergoing business change. [2 marks]

11.2 Analyse the extent to which the shift to a rural site has improved CamMan'’s business performance,
with reference to Figures 1 and 2. [4 marks]

11.3 Explain one management strategy that can be used to respond to one KPI from above and position
CamMan for the future. [3 marks]

11.4 Outline how managers can be a driving force for the shift to a rural manufacturing site. [2 marks]
Employees at CamMan are reluctant to shift to a rural site and, consequently, are resisting this change.

11.5 Describe how the high-risk strategy of manipulation can be used to reduce employee resistance to the
shift to a rural site. [3 marks]
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Question 12 (U3 AOS 3, U4 AOS 1, U4 AOS 2)

Crops4Everyone is a wholesale business that grows high-quality vegetable crops and sells them directly to
grocery retail stores across Australia. The agriculture manager, Samuel, has noticed that there has been
increased wastage of crops due to infection by plant viruses which make the crops inedible. Samuel recently
learnt that a competitor farming company is using artificial intelligence machines to monitor soils and crops
for specific diseases. He is looking to implement similar artificial intelligence systems in order to reduce
wastage across their farms. Samuel has noticed resistance from employees as a result.

12.1 Explain how artificial intelligence can be used by Crops4Everyone to improve the efficiency and
effectiveness of their operations. [3 marks]

12.2 Apply the principles of Lewin’s Force Field Analysis theory to the implementation of artificial
intelligence at Crops4Everyone. [5 marks]

12.3 Explain the effect that implementing artificial intelligence will have on employees. [3 marks]

12.4 Describe how the low-risk strategy of communication can be used by Samuel to reduce employee
resistance at Crops4Everyone. [3 marks]
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SECTION C: TEN MARK PRACTICE QUESTIONS

Question 1. [10 marks]

“All businesses should engage in corporate social responsibility when undergoing change.”

Explain the above statement with reference to a contemporary business example. In your response, discuss
the use of engaging in corporate social responsibility.

Question 2. [10 marks]
Operations managers can implement a variety of operations strategies in the workplace.

Evaluate two different operations strategies - one in relation to technological developments and the other
in relation to quality management. Explain how one of these strategies can be used to improve the
efficiency of operations and how the other can be used to improve the effectiveness of operations.

Question 3. [10 marks]

Kurt Lewin proposed two models of change which businesses can apply in the workplace when
transforming their business: the Force Field Analysis Theory and the Three Step Change Model.

Define the term business change and apply the principles of one of Lewin’s change models to a
contemporary business which has undergone a business change. In your response, evaluate the
effectiveness of following a change model to implement change successfully.

Question 4. [10 marks]
‘Managing employees is undoubtedly the most important component of operating a successful business.'

Analyse the relationship between managing employees and business objectives. In your response, refer to
the strategies listed below:

e one performance management strategy

e one motivation strategy, other than investment in training

e on-the-job training

Question 5. [10 marks]

Marty is the proud founder of SunGlassX, which manufactures and sells a range of different styles of
sunglasses for its target audience of teenagers. At the beginning of 2019, Marty decided to implement new
artificial intelligence technology in their stores which can design customised sunglasses based on the facial
features and needs of their clients. Below is key performance indicator data after two years of trading.

2019 2021
Number of sales (per month) 4,000 22,000
Level of staff turnover (%) 4 12

With reference to the data above, analyse the extent to which the implementation of the artificial
intelligence has assisted SunGlassX in improving their business performance and explain how one
management strategy can be used to respond to one key performance indicator above and position the
business for the future. In your response, explain the importance of SunGlassX analysing their key
performance indicator data.
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SECTION A: SUGGESTED SOLUTIONS
Solutions: Unit 3 AOS 1

©)
1.1 Define sole trader. [1 mark]

M&M!MMMM&#
Qpegajei_éj__n_.y_.zgie_wd:_zd wal®

Extension notes:
@ Define is a task word which requires you to provide the meaning of a specific term.

® The private sector refers to the part of the Australian economy that is operated by private groups and
organisations.

® Full marks cannot be obtained for this question until reference to ownership of the sole trader is
made. You should also underline these key words so that examiners know where to give you the mark.

® A sole trader is owned by one person and this is another key point that needs to be made in the
definition.

1.2 Define partnership. [1 mark]

A#M@MLL#MM&PJM&LIAALLMd

op -20 partners®

Extension notes:
@ Reference to ownership of the partnership has to be made.

® Note that the correct word ‘partner’ (and not people or owner) has to be used in the definition along
with the correct number of 2-20’.

1.3 Define private limited company. [1 mark]

Extension notes:

@ Note that it is more correct to write ‘private limited company’ as opposed to just a private company.
Furthermore, it is incorrect to say private listed company.

@ Incorporated means a business has undergone the process of incorporation and thus, is a separate
legal entity to the private shareholders. This leads to limited liability for the shareholders if debt arises
—> that they are only liable to the extent of their original investment for any debt incurred.

® The owners of a private limited company are referred to as ‘private shareholders’ and there can be a
minimum of 1 and a maximum of 50 private shareholders at a private limited company.

1.4 Define public listed company. [1 mark]
Surned by gengral g_uALm .eho loders a.s_\s:bgte.r_m:e_uiegL
on_the Australian Securites Zoxch ange ( A.S‘x)

Extension notes:

® Note that it is more correct to write ‘public listed company’ as opposed to just a public company.
Furthermore, it is incorrect to say public limited company.

® The owners of a public listed company are shareholders in the general public, which means there can
be an unlimited number of shareholders in the company.

® Since shares are listed on the ASX, shares can be publicly and freely traded.
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1.5 Define social enterprise. [1 mark]
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Extension notes:

@ Fulfilling a social need refers to having positive interactions with the community or environment. This
is a ‘business objective’ which is covered later in AOS 1.

@ ltis incorrect to say that the primary objective of a social enterprise is to make a profit. What is more
important is what they do with that profit — distributing it to benefit a cause.

® A cause can refer to anything (such as an idea, goal or group) that someone supports, whether it be
environmental or community-focussed.

1.6 Define government business enterprise. [1 mark]
ﬁ___j_o_ze_nmeh_'b_‘ us(N@ss enterprise is a_p. &L&m.—_éusm
tAAt_w_g,_.,%il_am/_nf erated by the governme >

Extension notes:
@ The public sector refers to the part of the Australian economy operated by the government.

®@ Note that reference to ownership has to be made here.

Q@ If specific reference to ownership by the government is not made, then full marks cannot be
awarded.

1.7 Outli@e two featur@s of a sole trader. [2 marks]

Extension notes:

@ Outline is a task word which requires you to state in a simple manner.

@ A useful writing technique is signposting, which means indicating what you are going to write about.
This is useful in providing your response with structure and makes it easier for examiners to allocate

marks. This question requires two features of a sole trader and so | have signposted by stating “one
feature of a sole trader is...” such that an examiner knows | am about to provide my answer.

® Here, | have again signposted by stating “Another feature of a sole trader is...” in order to provide a
second feature and gain the second mark.

@ Unlimited liability refers to when an owner is personally liable to the extent of personal assets if debt
is incurred — this means that personal assets (such as a car or house) can be seized to recover a debt.

® Other features of a sole trader include:

» private sector business e subject to minimum government regulation
e No perpetuity e easy to establish
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1.8 Outline two featur%)s of a partnership. [2 marks]

Extension notes:
@ Note the use of signposting in order to give my response structure.

@ A partnership agreement can regulate a partnership in a number of ways, such as the duties allocated
to the partners and how profits are distributed.

® Other features of a partnership include:
e private sector business ¢ subject to minimum government regulation
e no perpetuity ¢ unlimited liability for the partners

O]
1.9 Outline two features of a private limited company. [2 marks]

One £ QMMMM@W_MALLR_
owned by 150 private shareholders. Ancther feature of |
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the private shareholders

Extension notes:
@ Other features of a private limited company include:
e private sector business e subject to extensive government regulation
e perpetuity e prospectus (invitation) issued to purchase shares in the company

1.10 Outline two featurcgs of a public listed company. [2 marks]

l;;.tad_an_ﬁe_ﬁu;itelma_&:umﬁe:‘xsm
mw&ww%ﬁ
#@@M@Wﬁiwm
i'D_Aaﬁ.gu_LListal_ﬁ?_ﬁa_Pu.L lie

Extension notes:

®@ Other features of a public listed company include:
e private sector business e subject to extensive government regulation
e perpetuity ¢ unlimited number of shareholders

1.11 Outline two features of a social enterprise. [2 marks]

[} . " ; :

Extension notes:
© Key phrases have been underlined such that examiners know where to allocate marks.
@ Brackets have been used here to define a key concept.
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1.12 Outline two features of a government business enterprise. [2 marks]

—

Extension notes:
® Commercial activity simply refers to the selling of goods or services in exchange for money.

©)
1.13 Discuss the use of a sole trader. [4 marks]

@ . i A\l
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Extension notes:
® Discuss is a task word that requires you to present and explain advantages (pros) and disadvantages (cons).

@ | have signposted throughout this question to indicate that | will be writing about specific advantages
and disadvantages. | have also underlined here to accentuate this to examiners.

® The advantages and disadvantages of anything stems from its features and so, | have explained the
advantage (owner gets to keep all profits) only after stating the feature (owned by a single individual).

@ It is important to note that | have explained why the identified advantages and identified disadvantages
are advantageous and disadvantageous respectively. For example, it is incorrect to simply state that sole
traders are easy to establish without explaining why this is advantageous (that it reduces expenses and
places less stress on the owner).

® During SACs and the exam, you are allowed to use brackets. This can be useful for defining specific
terms and also explaining your thought process for specific concepts.
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1.14 Discuss the use of a partnership. [4 marks]

: [#) 2-20 partnéers
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Extension notes:
@ | have signposted in order to provide my response with structure.

@ | have paragraphed my response here in order to make it more presentable to examiners. | have broken
up each paragraph into one advantage and one disadvantage, however, it is acceptable to write two

advantages followed by two disadvantages.

1.15 Discuss the use of a private limited company. [4 marks]

o foand z T P TP, TR .
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Extension notes:

© Brackets have been
used here to explain
the disadvantage
associated with taking
money out of the
business to pay for
expenses —
remember that you
don’t need to waste
time and start a new
sentence!

® For any discuss
question, you can
explain advantages in
one paragraph and
the disadvantages in
another paragraph.
Alternatively, you can
combine advantages
and disadvantages as

is d here.
is done ere45
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1.16 Discuss the use of a public listed company. [4 marks]

L i iteol bise B &i vy 8 e _ | ®@ You can write ASX in brackets

after writing the term
‘Australian Securities Exchange’
and in future instances where
you would like to refer to the
term, you can use ASX to save
time! You would write it as
such: Australian Securities

v : which is rme- Exchange (ASX).
ConSuvaing) @ The significance of having

v greater access to finance is
that a business is able to invest

ne a y . ? there < that capital back into itself,

: : —— - thereby improving innovation
i @ ) s . and ensuring future growth for
r vest

the business.
#%muﬂww ® Make sure not to confuse this

< AP O here _are aai v il s ; with unlimited liability which
only apply to sole traders and
partnership business
structures!

1.17 Compare the use of a sole trader and partnership business structure. [4 marks]

MMWMLMWL__ ® The task word ‘Compare’
oliviol [ & / ¢ k | 2-20 hatine L requires you to present the
. i . similarities and differences
ﬁutn&tséufg_aﬁiadmgss__tyfﬁ_abe_%g_‘ta— between two concepts.
: % : @ You should signpost your
%ﬁﬁ%ﬁj@ﬂt—ﬂﬁﬁﬁ% response by using phrases
: Z o bt L, . Another similarvity is like:
C-d
_ ) / 7 72%&“ “One similarity between
Lu&mms_—ﬁwanx_ﬂad\fj_a&_/&a_;f_aﬁﬂﬁ__ [concept 1] and [concept 2]
Austcﬂ‘l.ﬂﬂ ecnanng‘:l téat “S O‘EEtatﬁd é!l pt"‘:aﬁe iS...”
aS it 5, dnalivicials 7 i ¢ the 1 “The difference between

ﬂ_a_LePnMEhf) [concept 1] and [concept 2]

”n

IS...

m.gy_ég_slmrecl 46
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1.18 Compar((eDthe use of a sole trader and private limited company business structure. [4 marks]

QMA%_M;&_LMMAMM Extension notes:

< " @ Note that the similarities
and differences between

MMMMMW@M:&_ concepts stems from the
&w\%ﬁmﬁ#;_%;gg@%___ FEATURES of those
. bt tl vl vl / / C v LA +he concepts. And so,

) depending on the
e ns guestion, you should
MALQME_MJ_A#_LME_MMM&MS_ compare characteristics

: S like:
e EE&'ggte lLimited cormpany (s Ounedl by /-So private ' .
e v 7 e Ownership

shareholders. * Business objectives

e Private vs public sector
e Unlimited vs limited

&Mlm__lﬁi_#_bﬁuwmw liability

O
1.19 Compare the use of a private limited company and public listed company business structure. [4
marks]

&%ﬂtm&n_wmw Extension notes:
LLs Jisteo . T bkl swhi oct @ Note that this response
P iy § has grouped paragraphs
=l with one similarity and

W_ﬁ_uo_ﬁumnﬁﬁ&%g‘ one difference. You can
mmt_ﬁ%_ﬁ__m_:ﬂ_ﬂomm_&:;_— also structure your
thlces thntht

. . . o s . response by grouping
%&M&Mm&uﬂu&mﬁi similarities and
Ey__/;_@_D_szie_sAacddea:s,_mA&z_ax_mmnﬁcsALP_m_L differences together. For
Mﬁ%mwulmf&tmd_ma&s_t—téﬁ_— example, one paragraph

ﬁ L1 + / /isted y diast [ has 2 similarities and the
i other paragraph has 2
S’-—&Zi“-‘zﬁx'—éﬂ'%% differences.

companies olo pot have to da this (financial reperts 47
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1.20 Identify the type of business owned by Marika and explain one advantage and one disadvantage of
using this business structure. [3 marks]

3 _ . e
ie dhad  Hlhape : s

sngic Thi b 2 /i ol E Lo .

Lo £ 8 e s stifled out of the

Lﬂi&zu—ﬁ—#g—ﬁr—ﬂﬂe—sxq&u_ﬂ_—wﬁ—m%

n&\?-ﬂﬁz&é?—ihﬁaaz_tﬁ@ﬂﬁ_fﬂéhfrﬂ{fbh)

1.21.1 Distinguis(E between a sole trader and partnership. [3 marks]

. . . Q
= . e &
Cqgu or Oll

Extension notes:

® An appropriate structure for questions that require you to distinguish two concepts is:
1. Define concept 1
2. Define concept 2
3. Highlight the difference between concept 1 and 2 using a specific feature

@ Note that if the word whereas is omitted from questions with the command term ‘Distinguish’,
then full marks cannot be awarded.

2.1 Define the term ‘business objective’. [1 mark]

a

E L ©)
Extension notes:
@ If reference to a ‘time’ component is not made whenever defining a business objective, then full

marks cannot be awared.

© JGJ Publishing 48
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2.2 Define the business objective ‘to make a profit’. [1 mark]

tLr

me .

Extension notes:
@ 'To make a profit' is an objective - this means it is achieved in the future. Hence, you should mention
that it is an outcome which businesses aim to achieve.

2.3 Define the business objective ‘to increase market share’. [1 mark]

Thi . ) L . . 0 4 y total
» £ / ol / ( ¢ i
. . el L s .

Extension notes:
@ Key words have been underlined here.

2.4 Define the business objective ‘to improve efﬁcieng'. [1 mark]

This s odd E e P s dhat rescurcEs

ﬁha_L_P_m_dACt‘-

Extension notes:
® See page 92 of this book for a further explanation of the term ‘efficiency’.

. . — . . ©]
2.5 Define the business objective ‘to improve effectiveness’. [1 mark]

This ix wdl et : bt

Sl bl e st s i et

Extension notes:

® See page 92 of this book for a further explanation of the term ‘effectiveness’.

2.6 Define the business objective ‘to fulfil a market need’. [1 mark]
TE ‘o < ! / ] ] 5 Q (( : )

2.7 Define the business objective ‘to fulfil a social need’. [1 mark]

" g ¥ A e |
viole et c Ky p

© JGJ Publishing 49
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2.8 Define the business objective ‘to meet shareholder expectations’. [1 mark]

. . ” ; «
’ ©)
oAlvi ‘nc

t (n

Extension notes:
@ A dividend is the proportion of profit that shareholders earn back as a result of investing in the business.

2.9 Explain the primary business objective of a social enterprise. [2 marks]

ZZQ . . < . . . : L'.s':_
/o . f i “ge . ; "l

4 ! : f E [ !'! A Q, +
Aenaﬁf_iﬁ&&lﬁc__cgu‘_te

Extension notes:

® Many students would explain the business objective ‘to make a profit’; however, this is incorrect
because the question asks for the primary business objective. Yes, social enterprises do operate with
the objective of earning a profit however, it is more significant to consider how this profit is used — that
is, benefiting a specific cause.

2.10 Explain a strategy that a business could implement to achieve the business objective ‘to increase
market share’. [2 marks]

@%}JLQ&AMQ_A_QAASS_Q_@ML_M__&QJL

umu_ﬁ_wﬁ_n__ﬁn_ii#&_@@_ﬁwﬁ
WJ_M%M anol
mwz%g_uwdume:%
:(:bLé_u_{' ! Y ha a enerate
W@PMA_&&WM
- Léi o ineol ! e L . Liocts ‘%
x bot sh ¥ 3 L [

Extension notes:
@ Since this question is only worth 2 marks, this explanation is sufficient. However, if the question was

worth 3 marks, you should make reference to sales being greater compared to competitors in a given
time period.
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211 Explai(;? a strategy that a business could implement to achieve the business objective ‘to make a
profit’. [3 marks]

One < Y ¥ ob; B o
o v’ w
X i [« o ;
o [¥] a Ky !
+ ca (> M
®
ol r _ .
<+ ¥ % %b e o

gra-ﬁ"l: )

Extension notes:
© Explain is a task word which requires you to substantiate an idea through reasoning.

@ The limiting phrase of the question is "to achieve the business objective 'to make a profit’” Thus, the
final sentence of the response must be linked back to achieving this.

@ | have signposted my answer here using the phrase “one strategy...is”.

@ | have provided an implicit definition of the objective 'to make a profit' through this sentence; however,
it is acceptable to provide an explicit definition at the start of the response.

2.12 Explain a strategy that a business could implement to achieve the business objective ‘to fulfil a
market need’. [3 marks]

L

2.13 Explain a strategy that a business could implement to achieve the business objective ‘to fulfil a social
need’. [3 marks]

_%szwwwjﬁﬁﬂi_ﬁm
MLAMM—LQ‘LS&%#QMM

¥%) (=3
Crrors and, hence Th 2 L
vorm c
&wmmtgs:&mb___[bwmf +o_the
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3.1 Define the term stakeholder. [1 mark]
S +ta ‘nols

. . Ky ot . .

S

3.2 Define the term ‘owner’. [1 mark]

ver o business
°

3.3 Define the term ‘manager’. [1 mark]
Managers are change role moolels’ that organise amel cosrelin-

3.4 Define the term ‘employee’. [1 mark]

L=

3.6 Define the term ‘supplier’. [1 mark]

. . - -

pesources EEZHI.EQE( ﬁl lﬂaan“ﬁﬂﬁdte Q2 aacal

3.7 Define the term ‘competitor’. [1 mark]

Co . r v ; y

a sirailar pggduc:& or SOprice.

3.8 Define the term ‘shareholder’. [1 mark]

3.9 Define the term ‘community’. [1 mark]

‘ - E - E ! E - [ ® - t ! I t ‘ t E “
b . . . .
Mmr_ﬁqonds_mum:ex_in_&nﬁxé.v_ _fAeu-_aaga[_S,
4.1 Define the term ‘owner’ and explain their interests. [2 marks]
O aliviol / . ; b o v , 4 . / ! {
- L ) O / Q ] i : L; :
! ! ! E ! ! . % - E - ‘E g g - é 4 N

’

© JGJ Publishing 52



Scan to be directed to the
VCEWeb Youtube channel! >

4.2 Define the term ‘customers’ and explain their interests. [2 marks]

r 1 ive )
v + ; C rs are
L] b" . - .
¥ + ice.
4.3 Define the term ‘employees’ and explain their interests. [2 marks]
£; o E s gt ) n €
Su as Ky
» c ».
; (I perha ps
ﬂ;aLvA_ﬁabi-_fezm__CQnirach)_
4.4 Define the term ‘managers’ and explain their interests. [2 marks]
(] J
.é . . oy

+ it o
‘te %) aép [ lbkoﬁ'i-z) are Ae[a'? agéc'ezﬂi_&cé_fbg_f_féﬁ_

4.5 Define the term ‘suppliers’ and explain their interests. [2 marks]

tﬂm_mat_uf_u.i.md_ﬁ:_mm_{a.nﬁam g_gaa.sl
¢ [ 4 £ "l tnterest Y .
ién_:o.uﬁlx__ﬁ__l_é'gg_tmu_&es_b_éu:inﬂsrm

4.6 Define the term ‘community’ and explain their interests. [2 marks]

of the community
J

4.7 Define the term ‘shareholders’ and explain their interests. [2 marks]
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4.8 Define the term ‘competitor’ and explain their interests. [2 marks]
CO Y r ‘V . -

« . . »
e ——

! E- . l ‘ by 5 :!! é 0 . t l
o ﬁ 5 . l< :-!n A ! ! ’)

4.9 Outline the interests of two stakeholders. Explain how these interests may conflict. [5 ma@ks]

. Q.

L r

M‘:&.[%c anolcbinmng

(©)

c - . -
- ‘A . .
o ce

6]

Ky 3 .

Extension notes:

O A suitable structure for “stakeholder-conflict" related questions is to:
o Define one stakeholder and outline the interests of that specific stakeholder
o Define another stakeholder and outline the interests of that specific stakeholder
¢ Explain how the interests of the two stakeholders outlined can conflict with each other

using an examole ) ) o )
@ It is appropriate to also mention that employees are interested in job security (through long-

term contracts).
@ You should paragraph your response to make it easier for examiners to read.

@ This sentence serves to provide context for the subsequent example provided.

5.1 Define the autocratic management style. [1 mark]
=

zi ! ! » E » vy E t t E ) C 3 E LJ . . T
M%_WMMA%WPI%MLM_@

A@—e%ggummynim fion 2

Extension notes:

® When you define management styles, you should make reference to the type of decision making
involved (centralised or decentralised) and the type of communication used (one-way or two-way).

® Note that it would also be acceptable to refer to the autocratic management style as a 'top-down'
leadership approach.

© JGJ Publishing 54



Scan to be directed to the
VCEWeb Youtube channel! >

5.1.1 Outline two features of the autocratic management style. [2 marks]

5.2 Define the persuasive management style. [1 mark]
Eg__laetr.uﬂxe_m‘najgm.mt_#e_tb"_a centraliseod Adecision=—
MQkinj_meMJEmeht_s:%lMMMa gers telL
CMPLoge_CS‘_ML/nod.' _el_o_écy on Q_wn#wmﬁm_a_nn[__

Proviole reaso. u.r_ﬁr olecisions naele

Extension notes:

@ Note that the autocratic and persuasive management style both use centralised decision-making and
one-way communication and so, to distinguish the two, it is imperative that you mention that reasoning
is provided for decisions made.

5.2.1 Outline two features of the persuasive management style. [2 marks]

5.3 Define the consultative management style. [1 mark]

The _consultatir ngmﬂmwwmed_

decision—=nprak: Ag_Ln_MAMMBaMLM_&__M:&__
__.SZ/’_E_:. Lﬁc ciston s

5.3.1 Outline two features of the consultative management style. [2 marks]

c 3 s ¥
3 ¥ c ¥ ecision— y 2
a the 'S 14
ﬁ: +the Lu.:iaes.s. Anqﬂe: égég is that —+he mgug‘?gg
- 1] -
a . . . qs
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5.4 Define the participative management style. [1 mark]

A _partic MM@WMQM&M
_anAL:ﬁ__Lz\_uAL&A_maAay_e_c_ﬂnﬁ__"njiL—y&L

ole cision=

MLk_ibﬂ_etA&__co_LLg boyrative % Ay fwo —wmay
(=N Wa WYY nicaﬁbn_ﬁ_amg_ip_-ilggiﬁc oA ecisions,
5.4.1 Outline two features of the participative management style. [2 marks]

O_n_e_ﬁ____af_tie_g_tti;;pm:-nj_emﬁui—_#e—ﬁ—
that t s a olecentr

a.[.uﬂpl__el_acma.u_maéLnj_s_fzyle_-lLJJ—
mggn;__ﬂmt_ﬂLgL&uma_maﬁgj_uﬂudy_kLsAaLeL
b MMPZWWWIA&%L

5.5 Define the laissez-faire management style. [1 mark]@

a .

c & Y

Extension notes:

@ Although two-way communication was not mentioned in the definition, it would be acceptable to do
so — it was not referred to here because the key point that needs to be made is that the employees

have control over workplace activities and operations.

@ If this question was worth 2 marks then two-way communication would need to be mentioned

(specifically that employees have to inform management of decisions made).

5.5.1 Outline two features of the laissez-faire management style. [2 marks]

"t . ( & . o - 0 .

© JGJ Publishing
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©) . Q0
5.6 Evaluate the use of the autocratic management style. [5 marks]

Oum%eﬁmmgai&ma%mﬁnr_%&#
tALcmAﬁMJ—My__tAe_am_ﬁm%uﬁ__
cl m@%@uﬂuﬁmww

rma ¥ ecy 3 ’
ﬁe{_zmtaqge_hi‘@_elu_mq . ‘s e
neeol T ; g7 o X 'o

‘e_ﬂlﬁ,_n.n_aumm‘C_m_a_n%zm&i_-&%_lﬁ LS an
Mﬂmﬁmﬂnﬁw
%Ag;ailmﬁj;&_uﬂ_"l_e__ﬂng(_g_ﬂr 0eg /qhsc/i
! . o g ) tl g é: tl,g dtsadlmntgggs érgducgg

tnnhovatfion )

Extension notes:
©® The command term 'Evaluate’' requires you to present advantages and disadvantages along with a final
opinion *see extension note 2 for an associated comment*.

@ Since the question is worth 5 marks, you must respond using:
¢ 2 advantages, 2 disadvantages and a final opinion
¢ 1 advantage (explained in detail), 1 disadvantage (explained in detail) and a final opinion

® Note that this question is globally marked — this means the examiner will mark your response based on a
judgement of your whole response rather than looking for key points

® The advantages and disadvantages of anything stem from its features and so, a useful structure is to first
state the feature and then explain WHY it is advantageous or disadvantageous.

® The final opinion should relate to whether the autocratic management style is a suitable style to use by
managers — brief reasoning should also be provided.
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5.7 Discuss the use of the persuasive management style. [4 marks]

¥ - -
a % <,
2 / 4 Q L T ] 0 g . L
( : +
d . - . -
procluced.
n - [ .
L eT¢ l Y
© c A

procecs (anel $n ﬁgw raay ﬁ‘el as £ their | re no
A&:zﬁ_lca_L&ﬁJ')

5.8 Discuss the use of the consultative management style. [4 marks]

One advant JMMMMMWL#M&L

Another oadvantage . ' nad dleciss

- - . .
——————
r
- . 2
e le -
- - » ». - 7
e e D re No ia oA S - e & & Nne 1N S o~ A N -
———
~ * . .
hACY & A NA X < n¥ax =0 ¥ 1 hG -~ . O N o
O — ———
” ” > . -
NA o Lo 2
o - - -
V- - La- ~ WLV~ W1 Y O yw LDy & D (A N € DLE rainoe s
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5.9 Discuss the use of the participative management style. [4 marks]

LR - 0}

O’I adgva

Y44 v

M@mwm; Gous
MMW&‘LMM%—A‘L
be naet

Extension notes:

@ Since this question is only worth 2 marks, you are only required to write one advantage and one
disadvantage of the laissez-faire management style.

@ Another advantage you could mention is that there is a greater flow of ideas in the decision-
making process (due to there being more knowledge available), which can lead to innovation.

Q@ Another disadvantage you could mention is that there is potential for resources to be

inappropriately used (such as stealing materials from the business). 59
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6.1 Identify the four factors that should be taken into account when determining the appropriateness of

employing a specific management style in the workplace. [2 marks]

The __ﬁur -;/’Ac'fo:s_" are: the nature of +task, tine, the

6.2 Assess the suitability of the manager of the car manufacturing company using an autocratic

management style. [5 marksfD

WMLWMM&‘L&AL
by one-nray co

Je o Wa unL{n ﬁah

0]

To_ensure that +the rep ﬁf‘bh_ﬁuhe__ﬂgk_ﬂa_u_u_éx_fh_g%

Company (s _not worscen eaLJ_Z_Lu_zb_auoLiﬁégﬁxL_eLe_cmA.r_

_c_am_mm:wjfmﬁ_ﬂiwald_mwaﬁc_

5_5_133_ &L&%l

© JGJ Publishing

Extension notes:

@ For a question requiring you
to assess the “suitability” of
a management style, you
should respond using the
four factors from part 6.1:
e the nature of the task
e time
e employee experience
e manager preference

@ | have first defined the
autocratic management style to
provide my response with
structure.

® After explaining the relevance
of a specific factor, you should
then link it back to whether or
not the autocratic
management style is a
suitable management style.

@ Given that a lot of information
is required to gain full marks,
you should paragraph your
responses by each factor of
suitability.

® To ensure you are receiving
marks for linking to the case
study, it would be useful to
quote from the context
provided.

® A final opinion should be
provided which summarises
whether you believe the
autocratic management style
would be suitable or not for the
car manufacturing company’s
situation.

60
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7.1 Define the term communication. [1 mark]

= et selive ie Tia nlilibe 4 é ! ;

.

n -

;&Agr_ﬁ_gacmxatr_auaﬁinj_;ﬁﬁl___bi__s@ Occwmr,

.2 Define the term delegation. [1 mark]

~N

~N

.3 Define the term planning. [1 mark]
E! n . gE t fk: g.!:g f gi gg. ! . é'- E.
M&W&ﬂ;&o@iﬁg_&a_ﬁ;ﬁ;ﬁm

in_ the future

7.4 Define the term leading. [1 mark]

Leacling refers 4o ﬁuww%mgme_gmd
potivate [nolividluals to achieve business Qé{"eg'ftfzg;.__ el

7.5 Define the term decision-making. [1 mark]

Decision —mabkin r r th o o def: a 'ﬁc

QMMM&LM

the o lternatives

7.6 Define the term interpersonal skills. [1 mark]

Loterpersonal skills refor 4o the ability, 2 #r-._m_ posihve

r 2 r
Y 3 3 es
e — e y—e
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7.7 Explain how congnunlcatlon skills can be used by a manager to achieve the business objective to
increase market share. [3 marks]

a = e » X cre

E‘ E. l: . gl E Q

Extension notes:

@ The business objective 'to increase market share' is where a business aims to grow the proportion of
sales attained by a business, compared to competitors, in a given period of time. This can either be
implicitly or explicitly defined

@ An appropriate structure for “management skills-business objective questions” is to:

1. Define the management skill and the business objective (explicitly or implicitly)
2. Briefly outline how the management skill can be applied by a manager in the workplace
3. State that the business objective can be achieved as a result

3.8 Explain how planning skills®can be used by a manager to achieve the business objective to increase
market share. [3 marks]@

‘ r Y N OSS

(such as aodvertisin

M%Wﬂa_ﬂﬁh_%g___m%
9)sraplement (t and monitor its |

maz&et ssbgrg‘ s achieveol

Extension notes:
@ This question requires knowledge of the steps of the planning process. The steps are:
1. Define the business objective
2. Identify strategies to achieve the business objective
3. Choose a strategy to implement
4. Monitor the success of the strategy to see if the business objective is achieved *note: if the
objective is not achieved, then an alternative strategy should be implemented*

@ Given that this question is only worth 2 marks, a definition of the objective 'to increase market share' is
not required.

© JGJ Publishing 62
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3.9 Explain how leading skills can be used by a manager to achieve the business objective to increase
market share. [3 marks]

gé,‘g;ﬁze A increase market share

Extension notes:
© Here is a clear example of how to implicitly define the objective 'to increase market share’.

3.10 Explain how communication skills and one other management skill can be used by the business
manager to resolve these internal issues. [4 marks]

& Suc th na !
i lin

Extension notes:

@ Two management skills are required to be explained in this question and so, two paragraphs can be
written as done here.

@ Alternatively, employees may not have the necessary skills to operate the "new technology”, which may
have caused low employee morale.

© JGJ Publishing 63
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3.11 Explain how planning skills can assist CupCakez Pty Ltd in achieving the business objective ‘to make a
profit’. [3 marks]

Pl , iy ey Lilit % / ﬁ L iiinit é o
. CupCak Pty Lt . olefine  th Lo

4 ca n
s Cos y X ' y
t J
. - 'fb A

Extension notes:

@ Another useful way to provide a link to a case study is to make reference to the products that would be
manufactured. Logically, a bakery would produce baked goods (such as cakes and cupcakes).

Q
4.1 Explain the relationship between management styles and management skills. [2 marks]

Extension notes:

@ A suitable structure to respond to a question that requires you to explain the relationship
between two concepts is:
1. Define the two terms
2. State the specific relationship that exists *see extension note 2 which highlights this*
3. Provide an example to elevate your response

Each of the above points is allocated a mark each.

@ Here | have stated the specific relationship. An alternative way to word this statement is: “The
relationship between the two is that the way a manager uses a specific management skill is dictated by
the type of management style used.”
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9.1 Define corporate culture. [1 mark]

. : -~y ,

Ly_a_ugmmhzx_qﬁaa_nzﬁn_n&r_Qﬁhn.

Extension notes:
@ Note that if the key words "shared" and "all" are not included in the definition, then full marks cannot
awarded.

9.2 Define official corporate culture. [1 mark]

o) . . = ¥ le An

r L ¥ ‘o .

9.3 Define real corporate culture. [1 mark]

e r r i__'“eL bLe l{gf_:c oo il

9.4 Distinguish between official and real corporate culture. [3 marks]

O W s s .

. .
T T A
- . - r !
i al-
M . -

Extension notes:
@ It is important to note that real corporate culture can be identified by analysing the internal
environment of a business, whereas official corporate culture can be identified by analysing the
external environment of a business.

© JGJ Publishing 65



Scan to be directed to the Bie
VCEWeb Youtube channel! >

Solutions: Unit 3 AOS 2

1.1 Explain the relationcs%\ip between managing employees and business objectives. [3 marks]

»r « - - . -

Crmployees (n he iorRplace | Susing obrectiver refer <t |

o . - -
2 ~ et A N £ A 2l S L& - < ~ = <
- 0 . l . .
LA - = e = o N~ - Fq & alk < - e
— e
Y
. 2 ! ! ! é. !. . E!

+ +the

Extension notes:
@ A suitable structure for questions that require an explanation of the relationship between two concepts is:
¢ Define concept 1
¢ Define concept 2
e State the relation relationship between concept 1 and 2
¢ Outline the relationship between concept 1 and 2 using an example

2.1 Define Maslow’s Hierarchy of Needs. [1 mark]

T T el ST TR, v

S tater that all inclividuals have neeols anol +that these
(nolivielu ¥ ! »r atish

2.2 Define Locke and Latham’s Goal Setting Theory. [1 mark]
Ny N g - o "

with feeolback can imotivate employees

2.3 Define Lawrence and Nohria’s Four Drive Theory. [1 mark]
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2.4 Explain one advantage and one disadvantage of using Maslow’s motivation theory. [2 marks]

One _advanta < : ¢ s that it

2.5 Explain one advantage and one disadvantage of using Locke and Latham’s motivation Theory. [2
marks]

2.6 Explain one advantage and one disadvantage of using Lawrence and Nohria’s motivation Theory. [2
marks]

[~ Y . X me.ne rs

— L4
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2.7 Describe Maslow’s Hierarchy of Needs. [3 marks]

Ma.r/owx' H('ecnm;éy af Needs is a ggggggééé paetivation ﬂ2°|5§f

a iad o s [ X Y theov

urchasin ' b -
nships), Learn (@xpand shil set) and defend (remove
&th Qﬂd inseC' . ’ﬁ-e‘! E ‘ { . E . : ! té Q
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2.10.1 Explain how the principles of Maslow's Hierarchy of Needs can be applied to resolve low employee
motivation at Boxers United Pty Ltd. [6 marks]CD

Msilowé_ﬂlietntcb_y_of_f_\’.eﬁ olJ_is__Lss.ZMg&tlhl_mmé{mﬁan_thﬁnLj
which_stotes thot all condividuals have neeols amd that _

these_ inolividduals wilh _be motivato]l owce these needs are

satisfied . These ne eds_are, in _order _F.A:yx.mlag_g_cA_L,_.i_a_ﬁ@_,‘

Social, self- estee ni__and__self —actualisa tion

S:A_kity._ neecls mﬁ;ﬁ_fﬁﬁcﬁan_ﬁam#ﬂﬁcaunim_toﬁz_
ical h a_:m._Deon_te_y__caa_PzaJaﬂe_o):_tb_e;ch / at the work-
P Lm:_&)_e r‘_fﬁ_:the_J_a_L_&‘Nﬁﬂ;ﬁL the w orkple ce )_ﬁri‘_g_(_

LM&ML}QLMM&A&LLM—MA techn 40 «ue

Extension notes:
@ A suitable structure to respond to this question is to:
1. Outline Maslow's Hierarchy of Needs
¢ Reference needs to be made to the motivation theory being sequential
o Reference needs to be made to all the five needs
2. Explain any two of the needs from Maslow’s theory (given the number of marks of the question)
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2.10.2 Explain how the principles of Lawrence and Nohria’s Four Drive theory can be applied to resolve
low employee motivation at Boxers United Pty Ltd. [5 marks]

C.oA&E?Jie_bbf_éfv,_l—_eSp,l ge_[_ow_.emfltay_ae_md_w.a_tl;eb_e(&e__ﬁ:—

tem.n_zizi?_iu&e.‘_u_lufﬁbs

Extension notes:
@ A suitable structure to respond to this question is to:
1. Outline the Four Drive Theory
¢ Reference needs to be made to the drives being independent of each other
o Reference needs to be made to all the four drives
2. Explain any two of the drives from Lawrence and Nohria’s theory (given the number of marks of the
guestion)
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2.10.3 Explain how the principles of Locke and Latham’s Goal Setting theory can be applied to resolve low
employee motivation at Boxers United Pty Ltd. [4 marks]

The Goal Setting Theery is a motivation theory which states

l - - s - - « .

motivation.

Extension notes:
@ A suitable structure to respond to this question is to:
1. Outline the Goal Setting Theory
o Reference needs to be made to the setting and achievement of goals providing motivation
o Reference needs to be made the five principles of effective goal setting
2. Explain an example of a goal that employees could achieve and relate this to improved motivation
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2.11 Outline one similarity and one difference between Maslow’s motivation theory and Locke and

Latham’s motivation theory. [2 marks]

Q . .! .g E ¢ ﬁ[ ‘ _é_HL'E ; C A / / : gE

il d i) B i | g dogri
. ~ ; ._!i . F[ ! ! EE.

Extension notes:

® Another difference is
that Maslow’s theory
is needs-based whilst
Locke and Latham’s
theory is goals-based.

2.12 Outline one similarity and one difference between Maslow’s motivation theory and Lawrence and

Nohria’s motivation theory. [2 marks]

. FNo)

MMM@”@L%MW;
Lawrence anel Nohriad drive t» band.

L4 o

o - W)
& .
-3
—_—
. rd .
——

@ L d -
However, +the olifference (s that Maslows theory (s needs— |
g ! r! ! { g[ ! . * Eé . !r- gs_.

atad (it il Lills St bt s )

Extension notes:

®© Another similarity is
that they are both
motivation theories.

® Another difference is
that Maslow’s theory
is sequential whilst
Lawrence and
Nohria's theory.

2.13 Outline one similarity and one difference between Locke and Latham’s motivation theory and

Lawrence and Nohria’s motivation theory. [2 marks]

© JGJ Publishing

Extension notes:

®© Another difference is
that Maslow’s theory
is sequential whilst
Lawrence and
Nohria's theory is a
non-sequential
theory that doesn’t
require an order to
fulfil the drives.
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3.1 Define performance related pay. [1 mark]
&L&MA_LMHMM_“M

3.2 Define career advancement. [1 mark]

3.4 Define support. [1 mark]

See A 1 H

2 h (=YY <

3.5 Define sanctions. [1 mark]

M@Mﬂd -'»Qr work theat i
WM%MM or breaches o
. ’ - hd
_éu.r_mEss Po licie e
3.6 Explain how performance related pay can be used to motivate employees in the workplace. [2 marks]

MMM&MWMM

MWMMAMM
?ﬁuba/_sgtﬁcﬁr_t‘_\st sathshes their needs o

Extension notes:
® Performance related pay is a useful strategy to satisfy the physiological need of Maslow’s ‘Hierarchy of
Needs’ and to fulfil the drive to acquire in Lawrence and Nohria’s ‘Four Drive Theory’.
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3.7 Explain how career advancement can be used to motivate employees in the workplace. [2 marks]
Career aclvancement refers to the olevelopment of a clear |

Y ” !'E_i 5 o 5 e : el
roles that reguire more expertise. Jhis can provied@ erplogees |
MMMMW%M
anol _rewaraed. ®

Extension notes:

® Career advancement is a useful strategy to satisfy the self-esteem need of Maslow’s ‘Hierarchy of Needs’ and

to fulfil the drive to acquire in Lawrence and Nohria’s ‘Four Drive Theory’.

3.8 Explain how investment in training can be used to motivate employees in the workplace. [2 marks]

MM@%@%
MM%_LQMMM}#M#@&&#

employees will lpaprove. lhis can, canseguently, improve the
fe A 5 ! aggg o - - L. [ e mec ©

Extension notes:
@ Investment in training is a useful strategy to satisfy the safety need of Maslow’s ‘Hierarchy of Needs’
and to fulfil the drive to learn in Lawrence and Nohria’s ‘Four Drive Theory’.

3.9 Explain how support can be used to motivate employees in the workplace. [2 marks]

no ¥ 1 ¢ g eniironment . E,ff L“',(d,'._,\y Qn
m&uw_&g_%&;ﬁ%w_@m—
ML%@:MWM_
WMM&S&M@%&%
[ / i £L I hﬁ ©)

Extension notes:
@ Support is a useful strategy to satisfy the safety need of Maslow’s ‘Hierarchy of Needs’ and to fulfil the
drive to defend in Lawrence and Nohria’s ‘Four Drive Theory’.

3.10 Explain how sanctions can be used to motivate employees in the workplace. [2 marks]

Qa&g&plw_@wmgn_g%
Mmu_amﬁqns_gmﬁVaie_empLo.ygex_ﬁmugﬁ_ﬁe__
asfgc:t_of_ﬁ_ -rpe_aﬁcauv_,_ﬂse_fenr_af_éemj_Mﬁ:

,Qonr_uer_k_/ae_p srmance .. Thus, the short-+4erm mnyoltivathon
D_f;em_Floﬂ_e_e.c__w_t.u_i_M&{Q
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4.1 Discuss the use of performance related pay as a motivation strategy. [4 marks]
OA&MMMM@MM&M
ﬁweww

#&ﬁnm&c&;&im#ef_gg_au_d_gmi@%__ﬁmb_

Another e;‘_l"ﬂa_t.ﬂ_gﬁ of pgzﬁgmguce relatec/ pay s that rorale
can (raprove because erployees may foel as [f their
efforts _are being yecognised omd rewarcdeo through being
&MML%MM&_AM&&L_
WMMmi«;ﬁ of pgzﬁ:mggce
relatesdd pay s that it Li - P la

olissads ; v vation. ©

e —

Extension notes:

® The purpose of motivation strategies is to increase the motivation levels of employees in the workplace.
Consequently, your advantages and disadvantages can be linked to whether the motivation of employees
increases or reduces.

@ Note that, to elevate your response, advantages and disadvantages can be linked to developing short-term
and long-term motivation!
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4.2 Discuss the use of career advancement as a motivation strategy. [4 marks]
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4.4 Explain one advantage and one disadvantage of using support as a motivation strategy. [2 marks]

5.1 Define on-the-job training. [1 mark]

’ . o« . » . .
- -
- » . .

on -

Specific to the workplace

5.2 Define off-the-job training. [1 mark]

* - . - e
— —_—

oce a o 3
gxizecngl___‘ltgg- L'nj tn stitution .
——————
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5.3 Distinguish between on-the-job training and off-the-job training. [3 marks]

O = =1 aining (s _a fype L‘b‘g.ih.l:aﬂ_/zma_ta.m_tb_a_‘t_
w_ﬂe_m:éplasg,_@m%_aﬁ&_ﬂw%
a_ type of :b-_g_uuaﬁ pﬁwhams‘n_%_ﬁnm—

pippare : el .
S or? Kk at ™ gi;“ il <

Extension notes:

@ It is important to note that on-the-job training is a cheaper method of training because the training
conducted by the existing senior employee will be included in their salary. Off-the-job training is a more
expensive option of training because payment is required to the expert with specialist knowledge.

5.4 Evaluate the use of on-the-job training in terms of achieving business objectives. [5 marks]

#c_acAJ umg_lm.uags s_oAdgctxe:_Ae_cgm_L_:._anlxg ntoges

Lpotential for shortcuts o be passed olown when frain-
O]

Ln \7 ,)

© JGJ Publishing

Extension notes:

® Remember that, for
‘Evaluate’ questions,

a final opinion must
be given.

® Scan the following
QR code to be taken
to a VCEWeb
YouTube video
about on-the-job
training:
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5.5 Evaluate the use of off-the-job training in terms of achieving business objectives. [5 marks]

One_advantage »LQquﬁﬁb_e:J:nln@ia%_k_tAA_t_a_‘%&_M__m—
. ) _C ol ! e . /
LVL-iy_tn_ﬂMukﬁlgcg_LAn_cmgmvg (which can lead tu
business ob; W&MM
nff _tbg_“/p_h_‘b:e_zn_gzg_u_anLLch.u_é_e_%&u_z_e__m
ii-_neiw he._
s titgtion — th ; ol ot ;e <
ﬁr_fbﬁ_J:me:s_aud_AmdeLﬁe_aAley__‘&JLAM

business _objective ‘fo make a profit.

Ancther advanta ie__ei_a _‘fmuuzg_ts_‘tb.o.t_u&—
reole ces_'ﬁhe_c,équce_nf—clum_ﬁ_nx_é_acuse_em,als_g_em
are n__a serdo: u.t__'ﬁ:nimz:?_ehmmgbj:_ﬂm&,_tk_e_—

Extension notes:
® Remember that, for
‘Evaluate’ questions, a

final opinion must be
given.
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6.1 Define the term performance management strategies. [1 mark]
. . . - - - @
Ag.amﬂ—xﬁukﬁc—&:deﬁ___a—___mm%
Extension notes:
® Many students tend to confuse motivation strategies with performance management strategies! Just
remember that:

¢ performance management strategies —> measure the PERFORMANCE of employees in the workplace
e motivation strategies —> are used to MOTIVATE employees in the workplace

® Think of the "pre-determined criteria” as a checklist which managers use to assess employee performance -
it is similar to how teachers have checklists (marking guides) when marking your responses!

6.2 Define the term management by objectives. [1 mark]
MMM&M}L&_
Mu%%&ﬂw&@k\

6.3 Define the term appraisals. [1 mark]

WMMMMLM%#ML
. ! £ L o / r O i
ance ogainst g_s,ue;iﬁ}_s_et_af_g;g___k-a___g_—dhwind_cziﬁetﬁa;_

6.4 Define the term self-evaluation. [1 mark]

6.5 Define the term employee observation. [1 mark]

Enap&#eubm:za_tab_zeﬁm_ﬁ;_ performance management
Atﬁ&_ﬂmflaﬂ_eﬂ
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6.6 Discuss the use of management by objectives in terms of achieving business objectives. [4 marks]

v
— r
L) - . . .
e e e ————e

tage of it i Ljocts . that s
LLa_éJ_céy_af_mgnnj_enr_ﬁ_‘ﬁtm_ngtﬁzL&@:hmsl\,pL_
miA_ﬁnaf_Lnygz:_ZLMa_tAa_Qg;_&ﬁ bus iness

6.7 Discuss the use of appraisals in terms of achieving business objectives. [4 marks]

One aclvantage o ﬁ#@'ﬂ:qwai_ww
ielentificol b as_eo(_mq_w_ea.ébgsje:_.lbu_u__q&_nniﬁg&._r__‘

ALQM;BJM&QMQMAMWM
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6.8 Discuss the use of self-evaluation in terms of achieving business objectives. [4 marks]

MM&MMLSQZﬁ— evaluation

ir_Otana (Der—IA:rmamce (andl 'Haus,. ey

not o reliable evaluaton)

6.9 Discuss the use of employee observation in terms of achieving business objectives. [4 marks]
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6.10.1 Describe the term ‘performance management’. [2 marks]

6.10.2 Propose a performance management strategy and evaluate the strategy in relation to the issues at

Patrick’s Pyjama’s Pty Ltd. [6 marks].

lemployee observation.
=

L | : 3 ! ot [ L ! il
|b5 npsrn-l:ive -&ad_ﬁﬂzé__iﬁ_mual.ﬁd_lhd_lnay_&ai_ta_
! l ! E ! f E: ! . g’ E‘ . ’,

i h 5 7 . .
g / P | ctivid [ [ ! .

elow 3% th 2021/

Extension notes:

® The question requires you to
‘Propose’ a performance
management strategy and
this should be the first
sentence of your response!

® The advantages and
disadvantages of the chosen
performance management
strategy can be linked to the
data provided in the
question.

For example, the advantages
of the performance
management strategies can
lead to productivity
increasing above 3% in 2021
or customer satisfaction
increasing above 32% in
2021.

® Ensure that you provide a
final opinion as this question
requires you to ‘Evaluate’ a
performance management
strategy. Below are two
templates you can adopt for
writing your final opinion:

“[Strategy 1] is suitable
because the advantages of its
use [examples] outweigh its
disadvantages [examples]”

“[Strategy 2] is unsuitable
because the disadvantages of
its use [examples] outweigh
its advantages [examples]”
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7.1 Define retirement. [1 mark]

Re ti Iﬁ_meaf_u‘__w_hf_te_a_n_tu_a[_md_q.aé_y_o luntarily deciodes 4

7.2 Define redundancy. [1 mark]

EQJMWMAMM&MWML
Lo mgfr__av_aj_éa.élg )

Extension notes:

@ Note that there are two types of redundancy: voluntary and involuntary! Businesses that undergo
downsizing (reducing the workforce) often incentivise employees with a 'redundancy package’ which
employees can take if they wish to be voluntarily redundant.

7.3 Define resignation. [1 mark]

K&J_}h_aitm_u__mher_e_@_melémp(_u_a ; ecicles
.Zeqze_q_ﬁu_uhessjn__ﬁn_d:n_a nothe i+

7.4 Define dismissal. [1 mark]

D_Lk_missa_l_zeﬁr_—r__'b__ﬁ e__ffi_-m;nnttm_nieh_amp_[e_yge_,_
'%"mi‘wiw—“”—ww
7.5 Define entitlements and transition services. [2 mark]

En tumm‘&u_ggg_gigg%_‘mw_an
employee receives when they are terminatec  Transition

J_Qruces_ﬁﬁ_r_ﬁ%(#lgﬁl})__ﬁ#uﬁw_—
¥ ven_'b_eml»la_agex_u__eu_ﬂleu;fgs_dlan_u__mﬁﬁts&__

7.6 Outline one entitlement and one transition service that a recently redundant employee might receive.
[2 marks]

One_entitlemen f_'ﬁhwm&gi_w_fﬂ_wwze_' 2
business (employer). One fransition service that a redundant
emPL&U.G_e_may__t_&ce_[La_is_O_gg_(a_Qemgnt services such as

Le;me_uz.-_cﬁna_@_m.ces_t "to h eip‘the_tea(snclauj:__gmﬁls_y&e._
Anol_e%ply#meni_eis_eg_k ere _)
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8.1 Define human resources manager. [1 mark]

fhe_hum an_te.!‘_o_u_c_c_e:_mgnaj eu:_r_e:PAn&ALe_ﬁLm qnﬁa;nj_ana(

mjni_aizu{? #ai%—w%_beﬁgeegﬁe b wusiness
a_zm(_e_m_,:.[n_y_ze.s .

8.1.1 Outline one activity of the human resources manager in relation to dispute resolution. [1 mark]

Q%JMLMMQS °“-wa

mwmfmmﬂwmp@m the

%gad_:ﬁ_u&_é_aaﬁm_mnﬁ_/hca;gﬂ'

Extension notes:

@ The human resources manager acts as a mediator during the process of good-faith bargaining (mediation)
between employees and employers. During the good-faith bargaining process, the human resource
manager will facilitate positive negotiations between between disputing parties and ensure they are fairly
dealt with. This is to ensure that the mediation process has limited conflict such that a mutual decision can
be agreed upon (that the dispute is resolved successfully and fairly).

8.2 Define employees. [1 mark]

dg:('g{? dx'r,gu tes.

8.2.1 Outline one activity of employees in relation to dispute resolution. [1 mark]

LAA@L_wIib_fLHLELLme_Au ring _olis putes)
V4 [4 gl
8.3 Define employer associations. [1 mark]

in__/:m‘La_angL_af__Ad sg_tp_emploggcx_anal__p‘_
ﬁ?,bir_d_uuny_unzlzplg.ce_celg_ﬁm:_d_up_uies

8.3.1 Outline one activity of employer associations in relation to dispute resolution. [1 mark]

) % ,! c . 7. @ - . _
3 XV the! le [rt'gk't'.f

i.;zgj_aas.a..fes)
7 -

Extension notes:

® Employer associations act as employer representatives. They aim to ensure that the specific dispute is
resolved successfully and in favour of the employers they represent. Furthermore, employer associations
aim to ensure that the employers they represent are treated fairly during the dispute resolution process.

8.4 Define unions. [1 mark]
A_Lo_n,s__te_ﬁLtb_an_o_rﬁgnisa_ﬁ'o_a_ . 44 rme el__'b._CEP.LQS_ELLLQLpl__
wwowwm_ﬁw

_M%Mowpﬂziﬁc Lnclustry
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8.4.1 Outline one activity of unions in relation to dispute resolution. [1 mark]

Dne_&;ﬁy__oﬁmbﬁs_@_is to act as representatives of
employees (by _aaLLAsizy__ﬂem_of_.ﬂ‘.ur_[‘ egal rights) |

Extension notes:
®@ Unions act as employee representatives when undergoing good-faith bargaining (mediation process). They

aim to ensure that the good-faith bargaining process occurs smoothly and in favour of the employees they
represent. Furthermore, they aim to ensure that the employee-workplace relations dispute is fairly and

successfully resolved.

8.5 Define the Fair Work Commission. [1 mark]

The Fair Infork Conna :&S.LQA_LS_A_ELS_‘&@[LQI'_LCLG(_%E_EAM
_MQLMOMM_MM_'&LLM g

8.3.1 Outline one activity of the Fair Work Commission in relation to dispute resolutlon [1 mark]@

gg;.'ay the process OFf arbirafien

Extension notes:
@ If the dispute specifically relates to the terms of a new agreement, then the role of the Fair Work

Commission would be to ensure that the terms of the new agreement pass the ‘better off overall test’
that employees will be ‘better off overall’ if the employees at a business are covered by the new agreement

compared to being covered by a modern award.
®@ The Fair Work Commission SETS and APPROVES of the terms of modern awards and APPROVES of the

terms of enterprise agreements (which are set during the good-faith bargaining process).

9.1 Define the term award. [1 mark]

Awa rd_:w%&mwe—fks_
mmem_ﬁgl?g_&hd—écAnbiizmr_ﬁLwemfs_mA&L&#_u_
set A:’ t‘l ﬁlC n:& COMM 1S.S1amn

9.2 Define the term agreement. [1 mark]

szme%}&emenﬁ_ﬁze_a_ﬁ:ﬁqLojc_ch&QmﬁAf_ﬂlgt_bg‘i
_éee_b__aggg_n_eﬁn_txa&i_«b#_%_e@ lh‘y_eL ab_d_Q_MP_[_n#.e_lL_

_6#_ go o_d:f_m'i'éx_é_cuf?a inin \7_a_i‘_em_eb£e£'95£:£ level
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©
9.3 Explain how awards can be used as a method of determining wages and conditions of work. [3 marks]

Award¢_aze_mdl¢:i:y_%uq§c_e(zwd;__thai_auihne_
ﬁ%ﬂ}mmm:_ﬁmuﬁg_‘n@%
Awpmg_&@%pﬁmw&dx__
%&%&mw
(o) f o "'k

Extension notes:

@ A suitable structure to respond to this question is to:
e Define awards
o Briefly outline the terms of awards
e Outline how awards are set

® The National Employment Standards are the 10 minimum entitlements that must be provided to ALL
employees in Australia.

® Note that the final sentence here links to the limiting phrase in the question.

9.4 Ex%?m how agreements can be used as a method of determining wages and conditions of work. [3
marks]

Enterperis. e agreements are agreements that [fove been |
dJLE_C_fLy_b_e\?.n_ﬁ g,fgLAj_ggg___d_&_ qu_a:b_ab
Jnie:pnuz_Laze.L_En_terp_u:_e_gﬁzaamgnt_/of_ndee_ oAditronal)
tokl yees (such aec better pa y rates)
@erd__h_modem_mgwmw ., the J[O
Notional Enpleyment Stancdards (NMNES) must stiid be

%neemgnt_._&a:_,ig_:e_emﬁbi:_can_ée used as a meons
MRZMM}_WAJQ_MMMD ns _of wrork®

Extension notes:
@ A suitable structure to respond to this question is to:
¢ Define agreements
o Briefly outline the terms of agreements
e Outline how agreements are set
® The Fair Work Commission conducts the ‘better off overall test’ (commonly referred to as BOOT) to assess if
agreements should be approved or not. 87

® Note that the final sentence here links to the limiting phrase in the question.
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9.5 Discuss the use of awards as a method of determining wages and conditions of work. [4 marks]

One _aol. au a M@%

S-f&y_m_tbe.r_ﬁénn_gmﬁrpris‘es) :

9.6 Discuss the use of agreements as a method of determining wages and conditions of work. [4 marks]
QJWWAM%
o it | bette bi [ ” E 41%
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9.7 Distinguish between awards and agreements. [3 marks]

M_wfwmphfeum%%_&&

10.1 Outline the grievance procedure. [4 marks]

The —gre LWCLFLQMLL"_GJ#_MM‘_QMMA_é_ﬁCa“ S
fﬁai_ﬁ_‘:gulu_ﬁmmed__‘fb_LelmLzLuquiLuAen_a

greivance ((complaint) arises. First , the employee shoulol raise.
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P the Fuair Work C(ormnaission ﬁr arbitration , whereb

&Mwm&%%ﬁ%mmme_fki_
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10.2 Define mediation. [1 mark]

Me diation o /. 6 recalots bo ol oal ‘
el : y -, . fo e 10 it
discussion be tween clisputing parties (n order o heln
resolve the dlispute

10.3 Define arbitration.[1 mark]
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10.4 Discuss the use of mediation as a dispute resolution process. [4 marks]

n‘i&ﬁa‘ga,lﬂ_fn?_e e s is ma
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10.5 Discuss the use of arbitration as a dispute resolution process. [4 marks]

W for the éu.s‘m.c_émg_éma__d'_an_

effective process). Another disaclvantage of arhitration |
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Questions: Unit 3 AOS 3

1.1 Define operations management. [1 mark]

»

Opmﬁmwﬂimﬂuﬁm_ﬁ_iww hat ¢
recpansible for ; transherming inputs (e : t -
effectiveness in relation to dechumology olevelopments guality,

1.2 Explain the relationship between operations management and business objectives. [2 marks]
Qﬂemmanajwézr_fp_'khe_é_uuwﬁ_ﬁst
. A Q é g — 3 ! C ) ind
MLL@M@_MM_:M_
L a s ‘ A -

mxd_uimmes_ubn_we:_tb_&hgﬂ_n_g

feas! to 4L . e . ..

A, L; » . e et /
Qﬁmaéing_ﬂe_pmiuck_ol&mms_'an_«;wugj_ibe_
business objective ‘fo make a profit’®

Extension notes:

@ After stating the relationship between operations and business objectives, you can explain the
relationship through an example — that a specific objective is being achieved (such as ‘to make a
profit’) and a specific operations strategv is being implemented (automated production lines).

@ Operations can also be linked to the business objective 'to increase market share’. For an
example response please see question 4.11 from AOS1.
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1.3 Define efficiency and effectiveness. [2 marks]

o é [ech'ves.

@ Let’s say a business uses four black circles (inputs) to create one white triangle (output) like the diagram

below:
‘ . =P PROCESSES —}A
o0

INPUT OUTPUTS

Efficiency is how well the four black circles are used to create the white triangle (ie. that there is no
defected triangle being produced, time is not being consumed unnecessarily and expenses are being
reduced). In other hands, efficiency is a measure of how well resources are used to create outputs.

@ Let’s say we have the same example from extension note 1 however, this time, we add an additional
step — let’s say that a black square represents business objectives!

OBJECTIVES

e —  PROCESSES —}!5 —}.
o0

INPUT OUTPUTS

Effectiveness is how well the four black circles are used to create the black square. In other words,
effectiveness is a measure of how well resources are used to achieve business objectives.

One memory trick is that there is an ‘ive' in effectiveness and an ‘ive’ in the term objective. This is a
useful way to remember that effectiveness relates to the achievement of business objectives.

2.1 Identify all the key elements of an operations system. [1 mark]

Eﬁ_A%L_e_[amgatf__af__b_ga perations Systena are : inputs,

Processes andl ou+,g uts

2.2 Define all the key elements of an operations system. [3 marks]

£ s . i

tAe_ﬁhn_l_PL’nclu et

mehs
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. O . .
2.3 Using a contemporary manufacturing business, explain the key elementg)of an operations system. [6

marks]
Ya Ru (4
©)
(7] . Y é wet
7 1 Ya t
( ) o Ky S { * ~
milk powrolers.
be s i Wig . _

r . o ( t r X 1 . into
bn_ﬁlﬂ_ud__ﬂg_mﬁaj_nf_téﬁ_é_ntjie:
O utput he ; ¥ <

)/ 2 a
[e® (can be lp/‘ngs[cau‘g '/:ouchggl) jOOc/- a /Dr‘oéfo'fic

A - . -

Y A

SlIJS'EEM.

(4

4

Extension notes:
@ This is a restriction in the question which implies you cannot use a contemporary manufacturing business

in your response.
®@ You should paragraph your response for each key element.

® Whenever you refer to tangibility (tangible vs intangible), you should define it (ie. a tangible good is
something that can be physically touched).

@ A suitable structure for "explaining key element questions” is:
¢ Define inputs and then make reference to a contemporary manufacturing business
o Define processes and then make reference to a contemporary manufacturing business
¢ Define outputs and then make reference to a contemporary manufacturing business

© JGJ Publishing 93



Scan to be directed to the
VCEWeb Youtube channel! >

2.4 Using a contemporary service business, explain the key elements of an operations system. [6 marks]

Lrocesses refer tan the transfrmational activities asseciotedl]
w;itmmwmmw
o uﬂ_um%%@jm_ﬁ&lw ip.

D tautic sofi e thon Bualizid Matlacl Tone ar b
. TN . oh

T A c . z n_ ¢ )

Ig«_mi_ée_ﬁbﬁm%_ﬁgsﬁﬂw ih;ﬁrmaﬁchal
ﬁ‘imaj_muszx_mmin\?_iéﬁézent fielols (econonics,
% ; ¥ B Allf*b"l;‘
: (7 & ~7 7

3.1 Outline two characteristics of a manufacturing business. [2 marks]
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3.3 Compare the characteristics of a service and manufacturing business. [2 marks]

. ) -
7 : na L the
. b
4 . ‘ 4
A SLNE : ( S a pr
S ‘ p o . & .
ﬁ&%@@a&&m&uﬁcﬁamka
» - c »
5 ; NS
écaaAnt__ésﬁo_/zﬂaza_@._ﬁusé_ei) Services

® Manufacturing and service businesses also differ in that manufacturing businesses tend to use more
machine-associated resources, whereas service businesses use more labour-associated resources!

4.1 Define automated production lines. [1 mark]

4.2 Define robotics. [1 mark]

AM&S .

4.3 Define computer-aided design. [1 mark]

Co - . e : .
ia :
: ‘the h o
AJJJ_DLL';:;? it

4.4 Define computer-aided manufacturing. [1 mark]

Co r-ac: y - .

. . - (4 3

MM_@@:LL&LAJ_CQM#MMJ#M
4.5 Define artificial intelligence. [1 mark]

et Lo ink teiallc pomm—r e tntalligyt :
MWM”MMW

Ser (nput.
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4.6 Define online services. [1 mark]

ine_services refer *o internet-based Systems , such as

ite-bas o i
sSers
4.7 Discuss the use of automated production lines. [4 marks]
: ? [a: mach.‘ngry
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4.8 Discuss the use of robotics. [4 marks]

wﬂhMM%WM
mﬁl%w_gwwsf per tunit c"f

L kit lo.c it -.) 4 tégj ‘:gg [vantage of
w&uw'&s——f_ he. g‘ F ﬁ
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4.9 Discuss the use of computer-aided design. [4 marks]
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4.10 Discuss the use of computer-aided manufacturing. [4 marks]

fers (thus. fnceeating procluctivity). Ancther oeiantage

of computer —aioled manufactur: ng is that ¢ can reduce
wastage levels olue 4o the é“ﬁé‘ precision of the +echnol~
©gy = this can recluce espenses (cotts) for a business.
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Mmuaﬁﬁmm_mwfﬂiummd#*

© JGJ Publishing 98



Scan to be directed to the
VCEWeb Youtube channel!

4.12 Discuss the use of online services. [4 marks]

-

4.13 Explain how automated production lines can be used to impro@e the efficiency and effectiveness of
operations. [3 marks]

Extension notes:
@ A suitable structure for "operations strategies and efficiency and effectiveness” questions is:
¢ define the operations strategy
¢ outline how the operations strategy can be used to improve efficiency, with reference to wastage
being reduced
¢ outline how the operations strategy can be used to improve effectiveness, with reference to
business objective being achieved
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4.14 Explain how robotics can be used to improve the efficiency and effectiveness of operations. [3
marks]

Extension notes:

@ Note that many of the strategies you’ll learn will improve the efficiency of operations through reducing
wastage created.

4.15 Explain how computer-aided design can be used to improve the efficiency and effectiveness of
operations. [3 marks]

© JGJ Publishing 100



Scan to be directed to the
VCEWeb Youtube channel! >

4.16 Explain how computer-aided manufacturing can be used to improve the efficiency and effectiveness
of operations. [3 marks]

-al 4 r s ‘e

ell .
- - o . . _ -
; 5 " !
e c ‘rap by ¢ SS O
. ' : N
the gaod anel, hence, d. olecreasing expenses Thus, allowing
. . . . !
[~]

a em{‘t‘l‘f

4.17 Explain how artificial intelligence can be used to improve the efficiency and effectiveness of
operations. [3 marks]

A !-E. . ( . , “_ o £4I>® EE :f . , é!. E fE
Sysﬂmubaf_cw:ﬁmgﬁuxm;ﬁm%m:ni%_

LL :  ati : . . ‘ael _of +i
(achieverment of ﬂu@&:ﬁuim_ﬂ_a_’gzg&)

Extension notes:

@ It’s important to know some examples of artificial intelligence (Al) so you can better visualise it! Examples
of Al in everyday life include chatbots (such as those you’ll see on ecommerce websites), virtual assistants
(such as Amazon Alexa, Siri and Google Home), face detection software, self-driving cars and Google
Search!
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4.18 Explain how online services can be used to improve the efficiency and effectiveness of operations. [3
marks]

5.3 Define materials requirement planning. [1 mark]

M ate ol . L / = o for 4 Ll leval T
ég . g !. : E‘ ____[[ EE . l e [ :g k

fmimuﬂna_g_mmfmm%%gmf_%mznk

5.4 Define Just In Time. [1 mark]
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5.5 Discuss the use of forecasting. [4 marks]

@a : . & le
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Extension notes:

@ This question is worth 2 marks and so, only one advantage and one disadvantage of master production
schedule needs to be explained.

® Another advantage of using master production schedules is that they can prevent the risk of under-
ordering stock due to the systematic way in which the instructional manual is set out.

® Another disadvantage of using master production schedules is that the master production schedule may
not account for all miscellaneous events (such as a global pandemic...) and thus, the business will be
unable to account for increases (unable to meet demand) or decreases (resulting in waste) in sales. 103
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©)
5.7 Discuss the use of materials requirement planning. [2 marks]

+e a n

Extension notes:

@ This question is worth 2 marks and so, only one advantage and one disadvantage of materials requirement
planning needs to be explained.

@ Another advantage of using master production schedules is that they can prevent the risk of under-
ordering stock due to the technical nature of the computerised inventory management system.

® Another disadvantage of using master production schedules is that the master production schedule may
not account for all miscellaneous events (such as a global pandemic...) and thus, the business will be
unable to account for increases (unable to meet demand) or decreases (resulting in waste) in sales.

5.8 Discuss the use of Just In Time. [4 marks]

One a. o w ; 3 Sto
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5.9 Explain how forecasting can be used to improve the efficiency and effectiveness of operations. [3
marks]

mﬁ%ﬂﬁw&%ﬂm&@m&
. Ya Ky »r ¥
o : N Y1 ope rations
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5.10 Explain how master production schedule can be used to improve the efficiency and effectiveness of
operations. [3 marks]
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5.11 Explain how materials requirement planning can be used to improve the efficiency and effectiveness
of operations. [3 marks]

5.12 Explain how Just In Time can be used to improve the efficiency and effectiveness of operations. [3
marks]

. ‘ g d . .
é_g.iin_em_aéd:echu_tp_mnﬁﬁ_a pm;f;t (which (s an
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6.1 Define quality. [1 mark]

whether it can neeet consumer expectabions

6.2 Define quality control. [1 mark]

6.3 Define quality assurance. [1 mark]

Q !.E Q z g. o [.! L
Strategy that tnwalves aftg,-m',e’ an _accreclitothion (Such as

S Y i Y Y a ld . “uc -
't'l'on
6.4 Define Total Quality Management. [1 mark]

Total ih,l[ﬁy mgng.jemeat tgﬁg: tn o heliskic %ua[@z{y
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4 ! f i i 0 é: ! , :
£;’iness

6.5 Discuss the use of quality control. [4 marks]

USIn which can red ) Another o&'Schvan'_b_—
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Q
6.6 Discuss the use of quality assurance. [2 marks]
(®) t @ u Y 8 - yA

reod 'S & r s a

M_Fmguﬁnj_d_i)éz_ts_ggg they occur
7

asing Cxpenses

Extension notes:

@ This question is worth 2 marks and so, only one advantage and one disadvantage of quality assurance
needs to be explained.

® Another advantage of quality assurance is that it can improve the overall quality of products produced,
which can lead to greater consumer satisfaction and hence, sales!

6.7 Discuss the use of Total Quality Management. [4 marks]

Anocther cadvantae % o
i . X b [t
- - .
once c(¥fs %uali% s of éu'?A__d’_fn.balgtzf. Ancther
‘sacdlvantage o 1 } : ‘ e
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6.8 Explain how quality control can be used to improve the efficiency and effectiveness of operations. [3
marks]

ar nus
w e ro C
. & .
customer safisfaction. This can lead 4o improvesd sales
Cormpared o \ ‘ ; ; of time ;

t .
“+v (ncrease

market share’ (which (s an e%s.ﬁﬁne.s&—memvemeni:) :
Extension notes:
@ Corrective action (CA) has to be mentioned as an efficiency improvement otherwise full marks cannot

be awarded. This is because if CA was not included then wastage would not be reduced in the future
(and so, efficiency would not improve).

6.9 Explain how quality assurance can be used to improve the efficiency and effectiveness of operations.
[3 marks]

i ; +h . 2 . ( ___é > : ELi‘_'
(whic : Muﬁ.s.f__[mfmzement)
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6.10 Explain how Total Quality Management can be used to improve the efficiency and effectiveness of
operations. [3 marks]

. T TN T :
I"hj_?“"l‘*”—m“ﬁﬂ‘u.! [&[‘—Lm'. s

4 " . ool_of tire . T} { st
achieve +he i ¥ ; : %o _increase market |
_Shaza‘_(.ué_xhb_ir_n_n_e_fﬁgﬁﬁh_e_&i L‘r_ﬂ‘gr-ovegggf).

©)
6.11 Explain how Hubris Airlines could use quality control to ensure that the quality of its aircrafts are
maintained. [4 marks]

is_rejectecl frowa the procluction line. Hubric Airlines cam
then perforpa correchve achon 1o prevent th :

ﬁem_o_csumnj_x.h_ﬂ- e future which, therefore, ensures
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Extension notes:
@ This question requires knowledge of the steps of quality control. The steps are:

1.
2.
3.

The business must create pre-determined criteria for quality (to compare samples to)

Samples are randomly chosen from the production line

The quality (fitness) of the samples are compared to the pre-determined criteria — if it is found 110
that the quality is not adequate, then it is removed from the production line

Corrective action is then taken to prevent the same quality issue from arising again in the future
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7.1 Explain the relationship between waste minimisation and business objectives. [3 marks]

8.1 Define lean management. [1 mark]

%Ww%%méﬂt
the perspective of custvmers

8.2 Explain how lean management can be used to improve the efficiency and effectiveness of operations.
[3 marks]

M@L&W@M@L
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8.3 Explain how lean management principles can be implemented to reduce wastage levels at Phonez N
Stuff. [5 marks]®

o L
. » . L - -

-~ B

at Phonez AN StufF.

Extension notes:

@ | have chosen the lean management principles of Pull and Zero Defects for my response. Below is an
explanation of how you could alternatively use One-Piece-Flow and Takt.

(1) One-Piece-Flow: this refers to a single product moving through all stages of production at a time.
This will reduce the number of errors made by Phonez N Stuff because they will only be producing
one unit at a time. Furthermore, customers will receive their phone in the shortest time possible.

(2) Takt: this refers to synchronising manufacturing steps to meet customer demand. This means that
the phone manufacturing sequence is coordinated in such a way that once once the phone parts
are prepared, they are efficiently transferred to the next stage (from making phone parts to 112
assembling them without any waiting time.
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8.4 Propose and apply lean management principles that can be used to improve the efficiency of P-Balls’
operations. In your response, refer to ‘Figure 1. [4 marks]
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Extension notes:

@ This question requires you to refer to data in your response (“refer to ‘Figure 1’”). Since the primary aim
of lean management is to reduce wastage, you should like the selected principles of lean management
to reducing wastage below 9% in the future.
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9.1 Define the term 'corporate social responsibility’. [2 marks]

| s . . . . :

cCom
ﬁCQanf't - the Eé'ele ﬂéof‘bom line.

9.2 Using the key elements of an operations system, explain how a business can engage in corporate
social responsibility. [6 marks]
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10.1 Define global sourcing of inputs. [1 mark]
: : - g' g P 5 E E -

hmost cost —

10.2 Define overseas manufacture. [1 mark]

PWMMJMM
pJ:tm_na_::’_af:.em hone site.
10.3 Define global outsourcing. [1 mark]
Global ! e o for ! c : n r -
L ; tivity 1o as external éeégz (or—ganis«ﬁ'o—\) 2
! L i . y ¢

10.4 Explain one advantage and one disadvantage of employing global sourcing of inputs as a global
consideration. [2 marks]

¢ .

: Sy Eronin s A Ea oton

c - . nex 3 reésources are sowurced)

10.5 Explain one advantage and one disadvantage of employing overseas manufacture as a global
consideration. [2 marks]
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10.6 Explain one advantage and one disadvantage of employing global outsourcing as a global
consideration. [2 marks]

excne I Losi = Bbin B & » /

10.7 Explain how one global strategy can be used to improve the efficiency and effectiveness of
operations. [3 marks]
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Solutions: Unit 4 AOS 1

0]
1.1 Define business change. [2 marks]

Busine ho ng€ P £¢€ i am alteratie,l o the in'l:ezn.a[__Ol:

Extension notes:
@ Businesses have two components: an internal and external business environment. And so, business
change would, logically, refer to an alteration (change) to either of these components.

® Note that this question is worth two marks and so, two distinct points need to be mentioned in your
definition: a) that business change is an alteration to a business’ environment and b) that business change
results in a difference in the operation of a business.

1.2 State two example(.?of business change. [2 marks]

Extension notes:

@ Other examples of business change include:
- moving a business' operations to a new location - change in leadership or management
- two businesses undergoing a merger - change in corporate culture

2.1 Explain one example of a proactive approach to change and a reactive approach to change. [4 marks]

A L cesses and [/deas.
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2.2 Explain why using a proactive approach to change is more appropriate than a reactive approach to
change. [3 marks]

B ) L. o4 Le £ » »
appraach to Cbgh?e allows mana 325: to EQnggség
mA_é_cz_cA_anﬁ_LLs_cL?uLeo{_/_Jgé___ai__c eqiu

£l oy / ot £ e, . 14

Extension notes:
@ The key term to use when outlining the purpose of KPI’s is “business objectives”, however, the purpose
can be explained in terms of businesses wanting to see if they are meeting targets (and not just see if a
specific business change is successful).

3.2 Define the key performance indicator ‘percentage of market share’. [1 mark]

o - . . > @

[

c

Extension notes:
® When defining key performance indicators (KPI’s), specific reference to a time component has to be made.
This can be accomplished by simply concluding your response with "in a given period of time.”
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3.3 Define the key performance indicator ‘net profit figures’. [1 mark]

te_zgn_aLLu_a_ijﬁe_ﬁanaf @,

3.4 Define the key performance indicator ‘rate of productivity growth’. [1 mark]

[ o

©)

Extension notes:
® A key point that needs to be made in the definition is that employees who leave a business are replaced

by new employees - many students may forget this! So, this point can be a ‘trick’ in the question that can
be used to separate students.

3.8 Define the key performance indicator ‘level of wastage’. [1 mark]

a + o

rl

3.9 Define the key performance indicator ‘number of customer complaints’. [1 mark]
Number of customer ;nmf_/g_int;g_ga;&r_ir_'&m_m_»na_bf_;aﬁ
%&W@%%&AM&Q_L
A_g_men_PathLQf Zime

3.10 Define the key performance indicator ‘number of workplace accidents’. [1 mark]
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O o
3.11 Analyse the extent to which the changes at Sharples affected its performance after one year of
trading using data in Figure 3. [4 marks]é

The rate of staff absenteeism refors +o the numb, er of olays
eraployees ar LaLseuf—ﬁnm_m_tk_Qut_oLﬁéaLtpigL_mrﬁlg_,
memAeLém_zazc_)__ﬁuLm_ulo(_baze_&en__amd_éy_-bhe_

_e_mpio_g_eﬁ.:_é wmmmw_'&\eu—_

‘AM_OLQL&U_&LWM F previo-

M%Jﬁ;ﬁ@mmﬁew@wlmﬂy have

increaseel the nuniber of olays employees are absent —fom

w_omqjo__g_%geﬁ_ nt, th e_cbahaes_[i_w_ng.afr\a) at_

;S'_Am:plg.s: may Aaxe_%z%__afﬁr&d_éu&u_es; M__ E
ance

A

The (evel of wastage refers tn the amount of tesources and
#Aliy_fLaML_dﬁmmLeLawm_Aa_Lﬁm_fmAbf_

ﬁm&,_ﬁ.war.;alet.,_ﬁe_/eual_nf_w }a_ﬁmmé_%—

émha_ské\f.e.:i‘_z‘b__cn}_ﬂl-_amiz\_
bgca_usm;b_u_gpi-__ﬁﬁé_mae_ﬂmx,_ﬂe_miu;eal_m_(#

wnsi‘aguael_ma_te.r_ﬂaL,_'toJ_l

(use of ju st_m__ﬁma_)J_'LJ.Aa.zp_lex__Amr_f_mﬁ.lz%%
business performance

Extension notes:
® Analyse, in the context of the KPI question, requires you to interpret data provided and relate this data to the case
study provided. This analysis also means you are required to refer to whether the data changes unfavourably or
favourably for Sharples and in what direction (an increase or decrease).

® This question is worth 4 marks and so, reference to only two out of the four KPI’s have to be made. However, you
will notice in my response that | have chosen one KPI that favourably changes and one that unfavourably changes
— although not required, this gives my response structure.

® The word "extent" is a key trick in the question which requires you to mention whether the changes in KPI data
indicate to a large or small extent that Sharples' performance has been affected.

® To ensure you are achieving marks for linking to Sharples you can associate the reason for business performance
being affected to the changes listed in the case study, as | have done here.

® A suitable structure when analysing each KPI is:
1. Define the specific KPI
2. State the trend - whether the KPI unfavourably or favourably increased or decreased using data from Fig2lde 3
3. Outline a potential reason why the KPI changed
4. State the extent (large or small) to which the changes at Sharples affected business performance
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3.12 State what changes have occurred to key performance indicator data in Figure 1 and whether these
changes are favourable or unfavourable. [4 marks]

c © L
= ° . o/ . .
N
- " : .
in 2019
0]
—_ o s o Bla dleicagiaall. S
/ 1 o000 [
MM@L&_%MAM%;L
. sal .
2019.

Extension notes:
@ In order to show the examiner you are aware of the presence of data, you can actively signpost like
this (“According to Figure 1”).
@ Although the response is short in content, | have paragraphed to improve clarity for the examiners.

Note that you can paragraph your response by favourable and unfavourable trends, as | have done
here.
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3.13 Analyse the extent to which the implementation of Total Quality Management has improved the

performance of Banana Pty Ltd using data in Figure 2. [6 marks]

Extension notes:

@ This question is
worth 6 marks and
so each of the
three KPI’s must be
analysed.

® | have structured my
response in three
paragraphs with
each paragraph
analysing a specific
KPI from Figure 2.

@ | have abbreviated
Total Quality
Management in
brackets because it
is a term | will be
continuously using
in my response.

® Note that a definition
of TQM should be
given however, this
can be explicitly or
implicitly done in the
response.

| have strategically
opted to implicitly
define TQM because |
can couple the
definition with the
reasoning for KPI
changes (as | have
done in paragraph 2
and 3).

® As a reminder, a suitable
step-by-step structure
to analyse each KPI is:
1. Define the specific
KPI
State the trend —
whether the KPI
unfavourably or
favourably increased
or decreased using
data from Figure 3
Outline a potential
reason why the KPI
changed
State the extent
(large or small) to
which the changes
at Banana Pty Ltd
affected b2Biness
performance
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3.14.1 Analyse the extent to which the implementation of staff motivation strategies improved business
performance at Forks R Us from 2018 to 2019 using Figures 1 or 2 [3 marks].

W%&Me_of_&zﬁs_@g.

@ c o ¥ ;i 1’)@

Extension notes:

@ | have chosen to analyse Figure 1 (the level of staff turnover), however, it would be correct to
alternatively analyse Figure 2 (the rate of productivity growth) — choose what you are most
comfortable with!

®@ | have stated a specific example of a motivation strategy in brackets; however, this not required given
that the question is only worth three marks! If a similar question is worth more marks, then you
would be required to briefly explain how the specific motivation strategy can be applied.

® | have added “according to Figure 1” here to show the examiner that | am referring to the correct set
of data (and not Figure 2).

@ If Figure 2 is instead analysed, you can use a similar explanation to the above response by associating
increased morale with improved work performance (higher level of outputs in a reduced timeframe)
and hence, a greater rate of employee productivity.

3.14.2 Analyse the extent to which the imple@entation of staff training improved business performance
at Forks R Us from 2019 to 2020 using Figures 2 or 3. [3 marks]

Mﬂmnmn_aﬁmﬂaw_mﬂg\?h (swch as

T g altlelp - fuk Hminisl) | ; [

PQLALMA_ALE_DL_ELéJ R Us

Extension notes:

@ If Figure 2 is instead analysed, you can use a similar explanation to the above response by associating
increased skills and knowledge with improved work performance (reduced time when performing
business activities) and hence, a greater rate of employee productivity.

@ | have stated specific examples of training options in brackets to elevate my response. 123
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e 1 v % cESe =
Ty r~c x r ‘A L es

Extension notes:

@ If this question was worth two marks, then a second point you have to mention would relate to the
purpose of Lewin's Force Field Analysis theory — which is to ensure change is successful in the long-
term.

4.2 Describe the steps of Lewin’s Force Field Analysis Theory. [4 marks]

Extension notes:

® An acronym you can use to remember the driving forces is MCR PIGLETS (which sounds like minecraft
piglets) and an acronym you can use for restraining forces is METLOF (which sounds like meatloaf).

4.3 Explain how@the manager at Ballz could apply Lewin’s Force Field Analysis theory to ensure the change

is successful. [5 marks]

- Y Sures ‘Sggb as cast ‘thg"hmerﬁt) in

Spe rations.

Extension notes:

@ This question requires
knowledge of the steps
of Lewin's Force Field
Analysis theory, which
can be seen in the
response above
(question 3.2).

® When identifying
driving and restraining
forces for change, you
respectively should
explain WHY they are
driving and restraining
forces for change.

® The action plan should
focus on either
reducing restraining
forces or promoting
driving forces. And so,
the action plan can
involve promoting the
driving force of
'pursuit of profit' or
reducing the
restraining force of
‘financial 124
considerations’.
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4.4 Apply the principles of Lewin’s Force Field Analysis theory to a contemporary business example. [6

marks
4 - . . . . - . ﬁ
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5.1 Define the drivinSg,D force of managers and explain how managers is a driving force for change. [2
marks]

T >
r r
. " ) "
cbsnae_b_gjlu_imlem_&_ﬂumaf_-ﬂ. 9 Such
s N Y . 3 +
“w [ kg
iﬁ&—ﬁu&mgz@

Extension notes:

@ A driving force for change is one that promotes or encourages proposed change to occur. However,
you do not need to mention this in your response because the question asks for a definition of a
specific driving force for change (managers).

® A suitable structure to respond to questions like these is to:
1. Define the driving force for change
2. Explain why the specific force is a driving force *note this could also be achieved by explaining
why the specific force is not a restraining force*

5.2 Define the driving force of employees and explain how employees is a driving force for change. [2
marks]

Epd, for 4o individuals thot de [al " : .
£)— mﬁgrgﬂ (suck as a Safa or o« .

be rivd Brce K wi . re they ray want
:b_memﬁe_a_cAufﬂ__tbsf_Asx_gégﬁ'élf benefits for them-

‘e n . ment (suwch
¥ ‘s A . 4 h

5.3 Define the driving force of competitors and explain how competitors is a driving force for change. [2
marks]

Extension notes:

@ Note that alternative examples can be used, such as: 126
- competitors implementing promotion strategies (such as advertising)
- competitors complementing in-store purchasing with an online means (such as websites)
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5.4 Define the driving force of legislation and explain how legislation is a driving force for change. [2
marks]

5.5 Define the driving force of pursuit of profit and explain how pursuit of profit is a driving force for
change. [2 marks]

5.6 Define the driving force of reduction of costs and explain how reduction of costs is a driving force for
change. [2 marks]

that o business can earm a ! Y asts can ke

eleivi _ce_ﬁL_cA_e_mg_e__AQm_us_L,_‘y_:ealﬁr_m#_msi;S_,_a;
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5.7 Define the driving force of globalisation and explain how globalisation is a driving force for change. [2
marks]

Ctokali & rs 4 £ / biais in Draede b o betuees
hces /! . L ‘nosc > +their c o4 vO
2255'2'295 ﬁgm a _natenal *o internatonal {Fe_c.‘b'um .

5.8 Define the driving force of technology and explain how technology is a driving force for change. [2
marks]

A T .
N= -
- e & -
—_— (=) e 2 S |t
: ool el /; fa tecl / ) / !
" P v luma
/ & cess !téus ‘hCre ' en
J

5.9 Define the driving force of innovation and explain how innovation is a driving force for change. [2
marks]

Lrnnovathon refers to new ioleas or processes that can change |
ii\_e_ Oﬁ g Y g n_za:b.bn__cau_ég_a_c/_m'_ul\? 1 E"’e-,_
for change because i+ can leacd to the achievenent of
_A_u Y Y Y Fo i 2 \

é . l ! R o _ sg -g ! Ehat > f
social need. Thus, innovation can he a driving Force for

ckgnge
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5.10 Define the driving force of societal attitudes and explain how societal attitudes is a driving force for
change. [2 marks]

&,«&MWM_A_&@_&LMM_—
~!£. .! !: .EE l fE'E ! c !E ! “ _a

A%&z@%&%&gg—w@ in the moarket,

6.1 Define the restrainin?force of managers and explain how managers are a restraining force for change.
[2 marks]

Man ag_echLe_tAe_'lggdemi_[_cAu_gﬁ_rg[e_MMLd;j_tb_qt_qxe._
responsible for coorolinating hbusiness ackivities. Managers
_Lq_n__he_g_:as_'b:af_n_igg_ fﬁ, A _r_ce_ﬁmbg_ngg__é_e_cjuss.e they may
peccur. For exa M.P.LQ,#LLQ._&JM%L&AMAA}QJALMS_&W_
make businesses struggle 7o _r;oﬂ):e.s::___'f&o_kg.l\_ike_d.iﬁﬁc_u_tt___

fmce::_qﬁ_é_u_s_ines‘: tra hsl7_€rm mﬁnn.._ﬁ#:_,_m_ahag.em__c_aL_é_La_
0

_r_-zs_'tr.ajm;n#:ﬁ_gce_ﬁ r_chan 72 "

Extension notes:
® A restraining force for change is one that prevents proposed change from occurring. However, you do not

need to mention this in your response because the question asks for a definition of a specific restraining
force for change (managers).

® A suitable structure to respond to questions like these is to:
1. Define the restraining force for change
2. Explain why the specific force is a restraining force *note this could also be achieved by explaining why
the specific force is not a driving force*

6.2 Define the restraining force of employees and explain how employees are a restraining force for
change. [2 marks]

can be a restrain ,.'49 ﬁ“g ﬁg céahag Adue +o any ;éggg or
Aeiua_ufﬁc&d_ég_téﬁ_meﬂﬁd_dm. Co_n;ﬂg_ueni'%.‘
WEIMM%%W
ﬁel,_‘ﬁ_giyﬁggg'_ﬁ_gn_ e, erploye
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6.3 Define the restraining force of time and explain how time is a restraining force for change. [2 marks]

ﬂmg_reqfen;tn_ﬁe_meaiuﬂe_p&&el_[_ﬁmeﬁagd_amjg&e +o

te.ipn_ad_'bp‘f_&x:_«_:e.t_o#:bg.nﬁE. lirme can be a l—eS_'b'aigiég

6.4 Define the restraining force of organisational inertia and explain how organisational inertia is a
restraining force for change. [2 marks]

S)
s
'-.

Aﬁ.&d-_am:t_ib_gbg_hge_zﬁa_m_ﬁe_:tg__ﬁ._s_gg (values and

LAel_Laﬁr_tLLe#_aLLcm#Ltaﬂe_uziA_)_ﬂus_Lﬂw(c ‘o a
r_ulihm_of_neﬂmhse_ang(_mﬂﬂ&éul;ﬁj_,_MM :Dreven'l.'

PmPo&d_Aabg_Lﬁm occuro—:h& 7Zm:, Dr-gggu,s: '_ﬁgngL
re change .

6.5 Define the restraining force of legislation and explain how legislation is a restraining force for change.
[2 marks]

Legislation r /A : A
m_d_tjngt_AuWue:_mgLf_chPly_u&ép_LEnggﬁm_mu_&L
re JE& n 5'%_ ﬁ  FC.€ " ‘o Q
laur can be unescpected ar expensive fr businesses. This cam
ma&;.d;dqgﬁutt_fp_m;#gnd_%m&%_u_d__‘&_;@_&% Thus,

Legic lation can_be a rectraining farce for change
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6.6 Define the restraining force of financial considerations and explain how financial considerations can
be a restraining force for change. [2 marks]

Financial cansicl@rahons refer o the olollar cast of irplementig
change. Exanples Mmmﬂwmm%
n.stx,_/ama L expeu.ce.t.._cLad__aaﬁs__ﬁ_mFLa#ge
AMU#LAMWWM irnple me nt
ihwﬂ$rﬂwwﬁ_ﬁaw@hs es

m’zu‘pnﬂt_zzjxjk_ﬁmmml_mnudemiuw_&e_a____

restraini Lc_e__ygz_chnhafa

7.1 Define porter’s generic strategy of lower cost. [1 mark]

Por 'éer.q_e.nﬁm c_J_tmiﬁgg_af_Lmnf_Lmsi‘_u_mheLu_LmMM
to become the low-cost praducer of an (nolustry in order

7.2 Define porter’s generic strategy of differentiation. [1 mark]

Porters o Muc_.s_taie_gy_nﬁ_dus_(e&n:ba_ﬁqu_d_whe_e a business

7.3 Define the term competitive advantage. [1 mark]
5 T Siag a “u
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7.4 Distinguish between porter’s generic strategy of lower cost and differentiation. [3 marks]

Porters . _generdc _Sirmfee.y_of_oﬁ_fﬁt&ilaﬁm_u_wﬁﬂe_m
laime - _Become_a_u)ma_ue_uuaa_v Aiuun_a.n_mpls:_txa__m_n_u__

©)

inelustry in orde r__ﬁ_jam_a_co.m pehitive aclvantage, whgreas,
EO_ML}MM@%LMQLCM_‘%&MW
g8 ue:LLJ_&aies_y_of_L_o_uer_CQsi_ﬁcmgr_an_@ﬁma[_ﬁ;hLL
mLLr_edmc;uﬁ_angLucﬁnh_gqmﬂ_uAgneag_&z&zLd_anauz_
d:&fegy_af_diﬁ&zenﬁaﬁpn_qﬁgussex_ah_exiead_w
agtw%wﬁw&dn&_ﬁ_&&w
u_nii_vte_‘tﬁa_/)_cnd uct

Extension notes:
@ Note that if the word “whereas" is excluded from your response when distinguishing from porter's
generic strategies of differentiation and lower cost, full marks cannot be awarded.

7.5 Using a cor&temporarg?business example, explain how porter’s generic strategy of differentiation can
be used to gain-a competitive advantage. [3 marks]®

Extension notes:
@ Note that any relevant contemporary business example can be used.

@ The limiting phrase is in terms of “gain[ing] a competitive advantage" and so your whole response
(particularly the last sentence) should link to this.

® Since the question is only worth three marks, only a brief description of the chosen contemporary
business example is required.
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7.6 Using a contemporary business example, explain how porter’s generic strategy of lower cost can be
used to gain a competitive advantage. [3 marks]

Extension notes:
@ Outsourcing refers to the contracting of a specific business activity to an external body (organisation),
particularly in overseas countries. This can reduce expenses because overseas manufacturers tend to have

cheaper labour rates.

7.7 Compare porter’s generic strategy of lower cost and porter's generic strategy of differentiation. [4

marks]

L_ﬂ_b - E é.s é .!c! EE ! ! - E
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7.8 Discuss the use of porter’s generic strategy of lower cost in terms of gainin?a competitive advantage.
[4 marks]

One gégg,tayg o parters generic strategy of lower cost (s that | EXtension notes:

[,!, Ag“n? o low-cost proaiuces Lh am industry , a business cam |© The limiting phrase of
, . y y N this question is "in
terms of gaining a
competitive advantage"
and so, the advantages
and disadvantages
written should link to
whether a competitive
edge is being gained or
not.

7.9 Discuss the use of porter’s generic strategy of differentiation in terms of gaininéba competitive
advantage. [4 marks]

Extension notes:

® The limiting phrase of
this question is "in
terms of gaining a
competitive advantage'
and so, the advantages
and disadvantages
written should link to
whether a competitive
edge is being gained or

(ancd thws reduce :g(e:)— which can reduce o business' not.
competit adva x
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Questions: Unit 4 AOS 2

1.1 Explain how leadership can be used during the change process. [3 marks]

© JGJ Publishing 135
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1.2 Using a contemporary business example, explain how leadership can be used during times of change.
[6 marks]

N ey , £ . & / / " o
at Inoalmorths can he naore successhul fn the le.%_geg

Extension notes:

@ A suitable structure to respond to this question is:
1. Explain why leadership is important
2. Explain the relevance of a contemporary business example, using key words from the previous
paragraph
® A specific management skill must be referred to in your response — this is because leaders have to
use a variety of different management skills in order to demonstrate their leadership abilities.

136




Scan to be directed to the
VCEWeb Youtube channel!

2.1 Define the term 'key performance indicator’. [1 mark]

a

- . .

2.5 Define the management strategy of change in management skills. [1 mark]

- LJ - -

5 o ’ L 3

ﬂg_pgz_;&nmaui_aﬁ_a__éus ‘fness

2.6 Define the management strategy of increased investment in technology. [1 mark]

the speeol ano! safete; in proclucthion

2.7 Define the management strategy of improving quality in production. [1 mark]
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2.8 Define the management strategy of cost cutting. [1 mark]

. [

3 . . Ll - -

ﬂ;_e_/;uzLu_c_‘tx'_L&Lue_au_oLzuanm
\7\

2.9 Define the management strategy of initiating lean production techniques. [1 mark]

Reof ;

Q@
Explain how the f&IIowing management strategies could be used by a business to respond to changes in
Figure 1 and position the business for 2019:

2.11.1 Initiating lean production techniques. [3 marks]

;_AAIALd_Ae_L;___e.ts_'iixon ‘f':A in 201(9

Extension notes:
@ For questions that involve responding to changes in KPI data and positioning the business for the future,
a suitable structure is:
¢ Define the management strategy
¢ Outline how the management strategy can be used to favourably change the KPI data in future
¢ Outline how the KPI data will favourably change in the future, with reference to KPI data

®@ The limiting phrase “position the business for 2019” indicates that you must make a prediction about 138
KPI data changing favourably.
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2.11.2 Staff training. [3 marks]

MMWMM—MM Extension notes:
E ! , / . " s il e > £ © Staff training
can be used to
: 1 = =/ (AL respond to
) . S other key
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e Number of
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o Level of
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2.11.4 Cost cutting. [3 marks]
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2.12.1 Increased investment in technology. [3 marks]

Z- » - 9 -—

thon ;\’% in 2020.

Extension notes:

@ Increased investment in technology can be used to respond to other key performance indicators, including:
o Number of sales
o Percentage of market share

2.12.2 Improving quality in production. [3 marks]

“
g,gﬁt_fhe_nmduﬁmmm_ﬂm_augﬂgr_ﬁf Chiis’

2020 ., the nun ber of Sa_ée:@_[_tALngm_b_e_Lnfﬁ_nnalﬁ_m'_s_&L

than Saa_.tqle:_gemnufl,

Extension notes:
® Improving quality in production can be used to respond the percentage of market share as well.
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2.12.3 Staff motivation. [3 marks]

_j_ff_MQiLyAﬁpL_teﬁm_ﬁa_iﬁ:at%Jg&_u&d_t:_maFmﬁ_fhﬁ_
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2.13.1 Staff training(f)[z marks]

Extension notes:
@ Staff training can also be used to respond to other key performance indicators, including:
o Rate of productivity growth e Number of sales e Number of customer complaints

@ A suitable structure to respond to this question is to:
¢ Define the chosen key performance indicator (KPI)
 Outline how the management strategy can favourably change the chosen KPI 141
¢ Outline how the management strategy can unfavourably change the chosen KPI



Scan to be directed to the
VCEWeb Youtube channel! >

2.13.2 Improving quality in production@[Z marks]

Nwumber ,f calec re ﬁgt to +he tontal nwmmber Qf_ pirooduet.s Extension notes:
B . . . . . ® Improving

é’ ; s,] ! J ; J 1 2 quality in

E production can

also be used to

respond to

other key

performance

indicators,

including:

¢ Percentage of

market share
o Level of

nolicate that fmgm'""f? ?"“Z'.é‘ in_ _procduchon wmas wastage
hot Eﬁcﬁize. ZL".: cowulod éﬂ éegau:_e the ?galffu
7
! p L . ore not wuseof cnn::ﬁcté; [Sucl\ as

r Y Y Y <

(thus, reclucing .rglec).

v 4

o
2.13.3 Increased investment in technology. [2 marks]

ﬂ > e ( [ Y el 4 ! £ |/ Extension notes:
@ Increased

investment
. . . estle in technology
] can also be
S.uk 3 y . = usedto

. ; o [ ss ‘ L 4 fle 4 respond to
the number
MM%AAL@&LMMMW of workplace

. " & i s ) ) accidents.

o
2.14.1 Identify two management strategies that could be applied in 2020 to respond to Figures 1 and 2. [2

marks]
[PX) 3 c a i s
sta L braind a ; on.

Extension notes:

® Other management strategies that could have been identified include:
o Staff motivation
e Initiating lean production techniques 142
¢ Increased investment in technology



Scan to be directed to the
VCEWeb Youtube channel! >

2.14.2 Describe how on%Dof the management strategies identified in part 2.14.1 could be applied in 2020
to respond to Figures 1 and 2 and position the car manufacturing company for the future. [5 marks]

(ni b, the c T - ”

Extension notes:

Q@ If staff motivation was chosen (from 2.14.1), then specific motivation strategies (such as performance
related pay, career advancement, investment in training support and sanctions) can be used as examples
for responding to Figures 1 and 2.

O]
2.14.3 Identify two management strategies that could be applied in 2020 to respond to Figures 3 and 4. [2
marks]

Extension notes:
® Other management strategies that could have been identified include:

e Change in management skills
e Change in management styles
e Increased investment in technology

© JGJ Publishing 143
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2.14.4 Describe how one of the management strategies identified in part 2.14.3 could be applied in 2020
to respond to Figures 3 and 4. [4 marks]

month in 2021, Fur'l‘l. [ [L'AQ

Ourchose oefoctive cows which reduces the likeliheod of

MW@&MLC%M&&Q‘ can
= = =5 L‘u—/—ﬁﬁw
in choulol be [ess than 30 complaits in 2021

© JGJ Publishing 144



Scan to be directed to the
VCEWeb Youtube channel!

3.1 Define the term corporate culture. [1 mark]

[ X vea ( r

éa__a_l&mm‘éf_z:__cﬁ_aa_aﬁ?m.taﬁhn.

Extension notes:
@ Note that if the key words "shared" and "all" are not included in the definition, then full marks cannot
awarded.

©)
3.2 Explain two strategies that can be employed to develop a more positive corporate cuIturg.) [4 marks]

r r :
The :
S ee R
X L r ar ée Wal

Extension notes:

@ Alternative strategies that could be explained include:
e implementing a casual dress code system
o fostering team bonding exercises

® The limiting phrase of this question relates to development of a more positive corporate culture and so,
your response should link to achieving this.

© JGJ Publishing 145
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4.1 Describe the term ‘Learning Organisation’. [3 marks]
)
4 ‘: . /@) . . o . Emprdin
\d - ‘ AJ
)
- . . » . - - : S‘ r

Thinkks P ! e sdos Mental Models . Sk | Vi
a.u.nl_l-ee.m_L_eaznizv_JEngz stoteed that, for a business ¥» Le|
'/ . o cation. ald fre meinle t Lo ol

4.2 Define the five principles of Senge’s ‘Learning Organisation’. [5 marks]

< ‘nhi r : y anc o Y
that each area of a business (s (nierco - 5 A

Aecgg,gg ohe ég.g"ne,:g degggﬁmgui o otn ¢'Mpgc£: S athCr.
entel o - s A 1 ;sas‘gg
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4.3 Explain one advantage and one disadvantage of being a ‘Learning Organisation’, with reference to
specific principles. [4 marks]

b Lénrring Orsavicadios’ s Lh

QA[L.‘% to achleve the businesc néjefb’\m "fb Mahg a&ué_b_f_

4.4 Explain how being a ‘Learning Organisation' allows a business to implement change
successfully. [2 marks]

3 . ‘!E 3_0’ B ﬁl ) l! S é - o t . ! E

L b/ £ o tin » [ L a -

Th; ot the bust ‘e PN, - -,
B o 5 ik Lol ; _

4 b ‘v L L s e, blw & o _

+I’QM hpb;bJ.
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4.5 Identify three@principles of Senge’s Learning Organisation and outline the significance of the identified
principles. [6 marks]

Extension notes:
@ Below are two principles that were not explained in the response above and an explanation of their
significance should you choose to write about these.

¢ Shared Vision —> refers to the development of a vision that gives employees a common objective to
work towards. This is significant because if there was no shared vision then it would be difficult for
employees to visualise what they are working towards. A common goal can also lead to greater
commitment from employees.

o Mental Models —> refers to the ingrained attitudes and beliefs that influence how individuals act. This is

significant because stakeholders at a business should challenge their entrenched views because personal
beliefs can cloud one’s judgement — thus, leading to inflexibility.

© JGJ Publishing 148
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4.6 Explain the relationship between being a ‘Learning Organisation’, as identifieg by Senge (1990), and
the concept of business change. In your response, refer to two principles of Senge. [5 marks]

A \Learninj Oraauisnfion' refers to businesses that aim

contingous tran ron  themselves AJ ﬁ-‘*"s'q; a
cwlture of learning am anjsj_uem,éex.pof‘;fke

orjanisat‘ion- A ‘Ledrn[nj Objanisaf[on' @nhcompasses

-five Rey pringg ,e.s@, A'n:lud[hj N .Sy.tffms 'tLiAkL'hj,_.,

persanal mastery  mental niccels, shared vision amal
team [eqrntnj B usiness danje re;ér-: > an _ =l
alleration to the [nterna L or extﬁrna[,,uyu»enmeni-
of a éus,aness, re.tu(,tcr\_? n_a c/\ange Yo  the ﬁrm,

or operation of a business over time.

Eei_@ﬂ#%im&ea, ,,,Ae_lhj,, a JL gﬂﬁbl%pﬁaﬂ_‘.s,? E

atior’ ano business ,,;Agb:?e_ (s that b gbﬁ = T IS
k) em%mwlm a business o
irmplement business change successfull This &s
because the -five ,Prir\ ciple.s, 7(; [7[1[[ €l (n t/\ e
workplace Fosters a culture of continua

This means that a business will be mané lexible |
that any randonn _disruptions willl Aa ve on the
éusmELf JJJAJ:LAj,__*Aﬁ_‘b'M,Ii ggi!.ah ID ericel.

Ie,am_LE_ar_nln,;,reﬁrs to fo S'ten.'h? a _LALAA_A:__af_L'V,_e,

l,earninj environnnl whlre common _goa [; can |
lbe achieveol by team menbers This is

J:.arufl cant for businesses in A;_u,[ala.njﬁ mrfomfﬂ
synergy throu j/! fosteri ing open communication=

this (ncreases the c,Amg_Qf_cAAz\gg - ée;zxg,,,,_ -
suce essiLa.s " ,Em/:Zo v ees would be n oreuuil_l_i.gv_tn .
work tugether as a collective to share icdeas

openly and achieve objectives.

S'y s tt‘ms__n nk;g_._ce_cnjruse: fAe_Lm/:nLtan_gLof,, |
unolerstanelin 5,,,7{‘A,at,fengl\‘ area of the business

(s interconnectecl. This is ,,.Sjjaafjcant ,,Jg:,zf,i,,, 2
businesses because (t enables a business to
L_g‘_ﬁh_t# where chan ange is rg;uu—eg and heow a

s/:gu.ﬁc_ cAeujeguLLL rapact a business ahol .
its olifferent oclepartments. Lo nseguen tly, businesses
can be niocre. groaciuysiux_‘tbﬁ u'_afa/aroacl‘_f YR |

tmln lem eai'm5 a_cha ng €, [ncreas Lnj_ the choance |

of (t Lbj naore  successful in the lg%iﬁ:m.
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Extension notes:

| ® When responding to “explain the

relationship” questions, ensure
that you first state WHAT the
specific relationship is between
two concepts before explaining
HOW and WHY the relationship
works.

® Remember that ALL five principles
must be met for a business to be
considered a ‘learning
organisation’.

® Below are three principles that
were not outline in the response to
the left and an explanation of their
relevance to the concept of
‘business change’:

e Shared Vision: the development
of a common objective for
employees to work towards
increases the chance of business
change being successful in the
long-term as employees are
more likely to know what is
required for change, where
change is required and what the
business will look like after
change occurs.

e Mental Models: breaking down
entrenched beliefs and values
can lead to a more flexible
business environment. Thereby,
increasing the chance of change
being successful in the long-term
as a business will be more
adaptable when facing new
pressures.

¢ Personal Mastery: expanding
skills and knowledge can lead to
weaknesses being overcome.
Thereby, increasing the chance of
change being successful in the
long-term as employees are
more likely to use their newly
found strengths to make a
valuable contribution to the
business change.

149
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5.1 Define the low-risk strategy of ‘communication’. [1 mark]

5.2 Define the low-risk strategy of ‘empowerment’. [1 mark]
Enn -t

e 'S /e hat
—_——— e ———

5.3 Define the low-risk strategy of ‘support’. [1 mark]

AT N SRS S TSN W

/o o A 5
@ ol hranagement

5.4 Define the low-risk strategy of ‘incentives’. [1 mark]

. . . -
4 .

[ s

m:AfL(a.n.e_be.AaJu'a ws

5.5 Explain how the low-risk strategy of communication can be used to overcome employee resistance at
Sri Lanka at Home Pty Ltd. [3 marks]

o v il ‘ ol Grs 2 44 Lility, 4

feed ba
Cinal ot c - ; s le “to
ernc ,,f_ eg”‘pZnyge_{ about the 1nwa rehau ce [o;gﬁ‘nu ;A,‘;éﬁ Célemﬁe

(for_example, employees may be concerned about fravel
I ST -

Abal__enld = Y
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6.1 Define the high-risk strategy of ‘manipulation’. [1 mark]

a . . . . .

= v es

6.2 Define the high-risk strategy of ‘threat’. [1 mark]

A_q_ - Py r
ﬁ_al-"—-uﬁﬂ—t—&ﬂhAﬂ.emAui_ua_ni:r_aﬁ_ginitihejLwiu.
6.3 Explain how the high-risk strategy of manipulation can be used to overcome employee resistance at
Sri Lanka at Home Pty Ltd. [3 marks]
. - ry, man, p i rr o o :grm o:p
Ky A a A % ; Q_a._f_ﬂo.me_LeLA_emprﬁ_

W%izg&—w‘)—iﬁﬂ#
< ec_.ﬁ change 7§,= them. Thereby, employees are more
W@JMMWM

a resul
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7.1 Identify the three steps of Lewin’s Three Step Change Model. [1 mark]
Ib_e_ﬂ\LeL.rﬁsp ‘n : U

7.2 Define Lewin’s Three Step Change Model and each of the steps identified in 3.1. [4 marks]

Y % ;
. ) " -
Chan?g refers to the irplevrmentathion of the actual
. . . ¢ «
¥ e fr
h : re su
a £ o e . —t€/rna

7.3 Apply the principles of one st(gp of Lewin’s Three Step Change Model to the decision to shift Snacks 4
Pet’s warehouse rurally. [3 marks]

g Oharatunicat
Y st alb L fonct i L & : ) i oman
(bou - .
v the nel

Extension notes:

@ If ‘change’ was the step that was applied, then it can be mentioned how Snacks 4 Pet’s would focus on
ensuring any problems associated with moving rurally are addressed.

If ‘refreeze’ was the step that was applied, then rewards and recognition programs or long-term job
contracts can be used as strategies to stabilise the change of shifting to a rural area.
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7.4 Apply the key principles of Lewin’s Three Step Change Model using a contemporary business example.
[6 marks]

! + <
A o . - #‘41

exp[g"ngel the environnental Qg‘|¢ghfg‘72$ gf L'mpLemen'a‘:ing

ansd

AAAML%_L@_AA_&&MMM—W X ; =33
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©)
8.1 Define the term ‘business change’. [2 marks]

3 ' Z, Nea NnNa€& = € LA A 2 lie’afl.ﬂh@ b ﬂ\e l:nte’nal—ot

Extension notes:

@ Businesses have two components: an internal and external business environment. And so, business
change would, logically, refer to an alteration (change) to either of these components.

® Note that this question is worth two marks and so, two distinct points need to be mentioned in your

definition: a) that business change is an alteration to a business’ environment and b) that business change
results in a difference in the operation of a business.

8.2 Define the stakeholder ‘managers’ and outline the effect that business change can have on managers.
[3 marks]

Mmmgxz-r__aLE—_C.L-;Aae ’;;-leal&l:_ﬂmi_q’_e_ze.tp_ab&ALe__ﬁr_

such
: . + . _

8.3 Define the stakeholder ‘employees’ and outline the effect that business change can have on
employees. [3 marks]

_Em.p_ln_yee.s:_ar_e_iu diviclua ZJ_M_AL_F_MAEJQ_LMLAM@L
for _a_muai:az_y_r_e_ua;a(__(_:é_au_ia_/s_g__ua_a_e_)__ne—f “
|posidive effict that change (s

bn%ﬁJ&JWﬁW&QL#M@_
Learn_new shi Us mﬂ%ﬂ—&a‘m‘ﬁj—m‘tr—ée‘%
MQMAMMFL#LWM
-Ciﬁs_‘!__l_f_l&n@:bnﬂ_ag_u_tﬂgkmlng_y_)_mn_bﬂu n
L1ap. Lagﬂs_cs__thﬁ_,mituilnl_ﬁ;_ﬂm_enap_n_y_e_un_éﬁw
recdundan 'b;_Jf_tﬁelL_/nL_/:ouimﬂ—A—&M—(—f—L«—(—LM&ﬁh

income Sowurce).
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8.4 Define the stakeholder ‘suppliers’ and outline the effect that business change can have on suppliers.
[3 marks]

Suppliers are individduals w Y

8.5 Define the stakeholder ‘owners’ and explain the effect that business change can have on owners. [3
marks]

Owners are individduals who ,hake_(eqa[:po ssession ancol contrel
over a business. One pesiti vg_eﬁjct__fha.f_cbgrxje_éimLﬁS—

expanedl ?'_a_é us mw_éé__#hﬁb_‘\av_g _oh owners is that (t |

p___. A
Lni'e:ne_t;ml_m;atk,ct_slxare._té. wus ., [en‘lcng to tAQLLAuS iness|
b_e_qmuﬂ_mane_gL oba ll: #Lseel_azer—v‘tam@‘v ol =i o |

O.zw_ﬂmt_' c_Aanjz_(‘:.mPle.mgnb@_tec Y Ahn.Le_g.&)_

can _have on owners is that expenses will be :.‘:mbea,see[fﬁr;

them (n the short-tern.; as _BM_Fiﬁ_S_{_%_ fec/mal.aijahe/
_'f:%na_t_ag_;tis an_expensive. bus ahes.i‘¥acfua:t_y_i(w£u,g£_ma:y

hegat: g%__aﬁé‘er.t ,ﬁﬁx 7Cr the omnen,,Ln_tAe_sAgut_tezm,ll

8.6 Define the stakeholder ‘customers’ and explain the effect that business change can have on
employees. [3 marks]

their_n_g_g_s;an_Teauﬁyg_eﬂ_‘ggq_tAat_aAnngg_ésmb_as—
imflmwﬂuj_gwmduiljbe)_mwmm
Ls_ﬂmi:_d:_mn_éea_el_in_ﬂ.ﬂumqu_e_nggi __being satisfied-|
wmwa_ﬁmwomw_m

,&ccbas_e_n_eu_ﬁnnis_msam

MM@JM%MW
Eg&;_can_éa_e_qu_aus_ﬂgmecs_Li_tbai‘_Lt_can_Lzs_d_tQ_tAgm
M%_M_MLMM@M&&
MMM%%ML_&EML_%M

Pb-t CP—CanSClosS ConSUmniES
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9.1 Define corporate social responsibility. [1 mark]

lc_o_mmgm'_%_a.u.d the_econany
NJ

9.2.1 Implementing technology. [2 marks]

[l 3 -] e f
. . . ‘. . ch [‘ 4
have the technology be powered by renewable resources|
_ ( - :
pie  pesilde in leps gmdfuss be: : :

. e YT : .
‘N »r ¥ ‘o( e 'z
1 =)
& - : . .
. & . . ot
else where.

9.2.3 Changing suppliers. [2 marks]

O - . . 3 - . _&A B
s 8 ¢t . !.E ) - i
re ol ic) § Y A .
ey ————

b é : e

N % e ' <
C - » v

4 = | 7
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10.1 Explain how key performance indicators can be used to evaluate the effectiveness of business
transformation. [2 marks]

10.2 Explain the importance of key performance indicators in evaluating the effectiveness of business
transformation. [2 marks]
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SECTION B: SUGGESTED SOLUTIONS

Question 1 (U3 A0S 1)

©)
1.1 Identify the type of business structure being used by VCEFlashCards. [1 marks]

0
Extension notes:
@ ldentify is a task word which requires you to present an answer from the alternatives.

® ‘Pty Ltd’ means proprietary limited and can be seen following the business’ name in the context
information for this question — this indicates it is a private limited company. NOTE: the presence of
only ‘Ltd’ following a business’ name indicates it is a public listed company!

1.2 Define the business structure identified in question 1.1 and outline one feature of this business
structure. [2 marks]

A_p_maﬁe_hm;i.ed___?egng_u_pum.ﬁLMumm
MM&;MMM

Extension notes:
@ Reference to ownership has to be made otherwise full marks cannot be awarded.

1.3 Discuss®the use of the business structure identified in question 1.1. [4 marks]

&%ALMEEMLCMW_«_P&MMMQ/_ Extension notes:
WMMRLLLWM @ Discuss is a task word
! : Ll £ /-50 i ) o L / which requires you to
. - present advantages and
disadvantages. Note that

ﬁ;ﬁe&;&ﬁs_é;m_umm%ﬂ»/* for all discuss questions,

< . . o s full marks cannot be
awarded if there is no

W_ﬁmtjmugjm\?_@mmm:— explanation as to WHY a
MMMA%&MM% specific advantage is
;g,: these expenses (+this paay n e‘agt"kgé:! a&'ecﬁ +their ng-ﬂ; advantageous and a

specific disadvantage is

disadvantageous.
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1.4 Define the business objective ‘to make a profit’. [2 marks]

IZ E « él- E\ ‘f ée I i ness|

Extension notes:
@ Reference to ‘time’ has to be made otherwise full marks cannot be awarded.

1.5 Explain how planning skills can be used by VCEFlashCards Pty Ltd to achieve their primary objective
for the next financial year. [3 marks]@

Extension notes:
@ The steps of the planning process can be mapped out using the following flow chart:

Identify - . Continue to monitor
Define or set the Outline strategies that A sP:;ﬁz;:gztnzgy s the strategy and
business _> relevant _> can be used to _> implemented from _> evaluate its
objective. information. achieve the the alternatives. effectiveness in the
objective. future.

® Note that | have linked to the case study by quoting from the material provided.

@ A suitable structure for this response would be to define the term planning and then use the above
flow chart to apply how VCEFlashCards can use planning skills to achieve their primary objective.
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Question 2 (U3 AOS 2)

2.1 Describe the Four Drive Theory and explain how it could be applied at Cassidy’s hairdressing parlour
to motivate employees. [6 marks]®

7The dri ve to learn relates to the Aunian olesire to increase
%&gﬁ%&&#@mﬁ_ﬁw

»n
e fficientl se "neLAaL:ALz.{.uﬁ_tagLs__&.am
can icel i y £ 7 fmenté,
o ew |

Extension notes:
@ A suitable structure to respond to this question is to:
1. Outline the Four Drive Theory
e Reference needs to be made to the drives being independent of each other
o Reference needs to be made to all the four drives
2. Explain any two of the drives from Lawrence and Nohria’s theory (given the number of marks of the
guestion)
© JGJ Publishing 160
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2.2 Identify and outline the relationship between managing employees and the business objective to
increase market share. In your response, refer to Cassidy’s hairdressing parlour. [3 marks]

2.3 Describe how on-the-job training can be used to improve employee productivity at Cassidy’s
hairdressing parlour. [3 marks]

2.4 Explain how one motivation strategy, other than investment in training, can motivate employees at
Cassidy’s business. [3 marks]

Mhi@%&iﬁn%se&M%—C“ﬁ%
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Question 3 (U3 AOS 3)

3.1 Explain the key elements of the operations system of Pancakes R Us. [6 marks]

3.2 Explain the relationship between the operations of Pancakes R Us and their primary business
objective. [3 marks]

tgLQ‘t'[or\sL['D between these two is that S&ggf!ﬁg
E.: f golz g“ Ly Lé' é é‘:'E
aut onaca 1 te of ?mdu ctifon ZL’n 1 ' ¥

! ! ‘. E ! ! g N E E: té é - g - E . c
:ﬁg—maﬁz—a_:M-ﬁ_t_'Jf Pqncaéé: R Us
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3.3 Compare the key characteristics of Pancakes R Us with a contemporary service business. [2 marks]

One_sisailarity® between o omnatacturing husiness Likd Extension notes:
Poncakes R Us and a contermpara ry service business | ©Other similarities include:
Li g fi { tonbiiied o /: l £; [| e both manufacturing and
: : ) ] ; ! 4 L service businesses aim to
£ improve the efficiency and

Sl eménta effectiveness of operations

%Mmm&%&g ¢ both manufacturing and
e fhectiveness of service businesses have the

business objective 'to make
a profit'

i ©)
However, one olifference is thot Pancokes R Us (a | ® Other differences include:
@wmm}lmw—fﬁg%% o manufacturing businesses

tend to use capital-intensive

lfl Laars (a service husi oxs ) 2 luces (ntas ;'éié_e. resources (such as
@ C /; L £ 4 ) . ﬁé machines), whereas, service

businesses tend to use
labour-intensive resources
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Question 4 (U4 AOS 1)
4.1 Define the term key performance indicator. [1 mark]
rform % KP. o
»  } r 0
3 ¢ { oS .

4.2 Apply®the principles of Lewin’s Force Field Analysis theory to the implementation of on-the-job

training at Face-COV. [5 marks]

First +4he mgngggc at Eg£=g—CoV must dgﬁne the . r ‘barqe't

in__t+he worhp(gcz The mnugﬂe:.mugi thein :.gu_u:tu@_g;_:fﬂﬁq__

Js!—ga‘%—f&mz—ﬁr—thu_geaﬁc—sﬁnngs—&m%
me_m;&g_&m;

_m@;%_ﬁmw_swi . Copapettor can be a
MM&LM&MM

Meymuﬂtﬁs_in_tbuu@. (by trai ining
_mp.la_&zel)__m_n_da;_tmfcm_é.u s compedtitiveness
:tczu.zunng_ﬁr_u._u_, ¥ pbgg.e.n_,_w__ , (__Ln.A.LupLMI;_@_
_Em.,:l_a.&e.u__lr\_b _ra_te,s‘_'tza.l.n.mg= ﬁrce _ﬁLQhAAJLAL
.ﬁhe_g_mgg__kayj_ﬁ_qu_amﬂnax_tmlaﬁoa__fvw—fhe-

j.nb_a_l_n_tng_b_a;nj_ja__ai« fﬁ;u_l_t_ﬁr_'tbem__&om +h s,

ihg_mh_ﬂ_&ut FQ_C_e - Cov COWM,QL
QLO.&ULPL(QLiﬁJ_ai\bA_"LCM_m_dEL&AJ_ﬁCQS_QLe__

#mm.nﬁ_d__auad__d;m;zy_ﬁouL:edu_ced (to_riel

Com n rus  that
! . " (74 " -. ; [}
‘f:r‘gim'quSuck as _fn Py Pheult).

© JGJ Publishing

Extension notes:

®In order to effectively
'apply’ the principles,
you must concurrently
outline a step of the
theory and relate it to
Face-COV.

® When identifying
driving and restraining
forces for change, you
respectively should
explain WHY they are
driving and restraining
forces for change.

® The action plan should
focus on either
reducing restraining
forces or promoting
driving forces. And so,
the action plan can
involve promoting the
driving force of
‘competitors’ or
reducing the
restraining force of
‘employees’.
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©) O]
4.4 Analyse the extent to which implementing on-the-job training was successful for Face-COV with

reference to the key performance indicator data above. [6 marks]®
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of productivity growth) improced
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Extension notes:

®© Analyse, in the context of
the KPI question, requires
you to interpret data
provided and relate this
data to the case study
provided.

You can interpret this data
using the ‘DTR' approach
which means:

e D: Define

e T: Trend

¢ R: Reason

® The word "extent" is a key
trick in the question which
requires you to state
whether the changes in KPI
data indicate to a large or
small extent that on-the-
job training was successful
for Face-COV.

® Below is an elaboration of

the DTR approach for this

question:

1. Define the specific KPI

2. State the trend —
whether the KPI
unfavourably or
favourably increased or
decreased using data
provided

3. Outline a potential
reason why the KPI
changed

+ State the extent (large or
small) to which on-the-job
training was successful for
Face-COV —> this step is
required if “the extent” is
present in the question.
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4.5 Identify and define one key performance indicator, other than the ones already analysed, that Face-
COV could have used to evaluate the success of the change. [2 marks]

Extension notes:

@ Other Key Performance Indicators that could have been identified include:
¢ net profit figures « percentage of market share
e number of sales ¢ level of wastage

Question 5 (U4 AOS 2)

©)
5.1 Explain how staff motivation can be used to respond to Figure 1 and position Bhatia's Boomerangs for
the future. [3 marks] @

S . . & i -

W_MMMLMW;MM%
ivation to achieve business ochjectives. The |

. . .
—_——
v

manooe 2 O NATLE 7l N D = A

Extension notes:
@ For questions that involve responding to changes in KPI data and positioning the business for the future, a
suitable structure is:
¢ Define the management strategy
e Outline how the management strategy can be used to favourably change the KPI data in future
e Outline how the KPI data will favourably change in the future, with reference to KPI data

®@ The limiting phrase “position Bhatia’s Boomerangs for the future” indicates that you must make a
prediction about KPI data changing favourably.

© JGJ Publishing 166
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5.2 Explain how staff training can be used to respond to Figure 2 and position Bhatia's Boomerangs for
the future. [3 marks]

Sta ‘AL ; S L ( n

er . : g rver. +er
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o
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J

O
5.3 Explain one strategy that can be used to respond to Figure 3 and position Bhatia's Boomerangs for the
future. [3 marks]@

such as +) , net profit w%t
| than $6S,000.

Extension notes:

@ Note that Figure 3 is data for ‘the rate of productivity growth' and ‘net profit figures’.

®@ Since this question is worth 3 marks, you should only refer to one of the Key Performance Indicators
from Figure 3.
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5.4 Describe the importance of reviewing key performance indicator data in terms of evaluating the
effectiveness of business change. [3 marks]

Question 6 (U3 AOS 3, U4 AOS 1)

6.1 Outline two characteristics of a manufacturing business like Luscious Lips. [2 marks]

- ¢A[ne< )
7

6.2 Define the key performance indicator from Figure 1. [2 marks]

© JGJ Publishing 168
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6.3 Analyse the extent to which the implementation of Just in Time has improved business performance
at Luscious Lips. [4 marks]@

. & o . . '
FEeso . ———
A;jncdicﬁ_ﬁLE'jutd_l,_ﬂLﬁgLe_L_@asiaj_e_/Las
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Extension notes:

@ For all analyse key performance indicator questions, you should opt for the following response:
e Define: what is the meaning of the specific key performance indicator?
e Trend: what is the trend being shown — does the key performance indicator increase or decrease and does
this happen favourably or unfavourably?
e Reason: why did the key performance indicator data change in that specific way?
o Extent: to what extent does the key performance indicator data show the change improved business
performance — is it to a large extent or a small extent?

6.4 Justify a quality management strategy that can be used to address the wastage issues at Luscious Lips.
[3 marks]

Quals & - . :
s : . ; : = L
ﬂqmw&gh_qﬁ_%&a&_@__mgx The
manager at Lluscious Lipns can then randenl "L
_Aala___ﬁm__'kbﬁ_ﬁniachnn_b.u_e_'b COmpare re —
determined guality ctandardc. IF the guality of these
Jf_[e.r_Ls__n_nLa_elei_u_a_ﬁe_en_ﬂLe_H_e_"ge %
then Pgrﬁm Ccorrechve achon ﬁ gt:gzegt_‘l:b_e_.s;gmL
defective L;fz' .AattMI_#u.m_‘_éQh:?_&‘a_d_uﬂLih_'fA_em
Zli_e.n:e_b_y_,__;ed_u;;gg _w_a:_'n‘:a.%g__é.e_zn\.?_c.&g_&d at +the

M oon u"ﬁaC.‘éMr-fr\j Sl:'l'e a
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Question 7 (U3 AOS 2, U3 AOS 3, U4 AOS 1, U4 AOS 2)

0]
7.1 Explain the key elements of this hospital’s operations system. [6 marks]

Mdmmtmw@w Extension notes:

Wamgam_ﬁe_ﬁnglfmwm O® A suitable structure to
M@@Mwwmi respond to this question

. would be:

] 1. Define inputs and

taww%mn+ then outline the
specific inputs at the
hospital

2. Define processes and
then outline the
specific processes at
the hospital

3. Define outputs and
then outline the
specific outputs at
the hospital.

7.2 Describe how on-the-job training can be used to train healthcare workers at this hospital. In your
response, explain one advantage and one disadvantage of on-the-job training. [5 marks]

-

= =/ n 4 in Extension notes:
oce at a g z i @ Please note that you
rotathon). Zn oreer 4n Prain hea lthcare workers at this should pay attention to

¥
hospital , an existing senior employee ( senior olector) wild the type of training

) ' program you must
.Fezﬁzm_iﬁg_xhbiL_rEf_mmLmi_ax_Anw_ﬁ;_’aeLﬁm_LaL make reference to - you
W&#ﬁu@:@m&g&ﬂdﬁaﬂ: must respond using
ﬂaze_hrn_:&uamj__fmn.ed_mu_n}mmd__g&m_m_ﬂg_ “on-the-job” training

. - . —'_-k ; : and NOT “off-the-job"
>, J ) \J : '5 1 J training.
- L fhols & fuae truid ° . .
(0]

® Since this question
contains a number of
'mini' questions, you
‘v (i L, Y e should respond using

" | = this i ! . 4 +he paragraphs!

ool - - o 8 A s P S

Aﬁﬁni_ﬂLaﬂA:@_ﬁ_m&tAw____L_-___&;_ggM__é(e chves”
170




Scan to be directed to the
VCEWeb Youtube channel! >

7.3 Propose and describe one key performance indicator that can be used to determine the effectiveness
of COVID-19 safety training at the hospital. [3 marks](D

&L&WMLK&IL—E—M FCoviD-{9

Extension notes:

@ Other key performance indicators you could have used include:
e The number of workplace accidents
¢ The level of wastage
¢ The level of staff turnover

7.4 Explain the importance of Ieadership@with reference to the case study. [4 marks]

© gmuwwww y ¥
—% . é . - "
O 4 Such a h Coronavirus olisease outbyeak) beca use

Extension notes:
@ For ALL 'importance of leadership’ questions, you should:
o define leadership

¢ explain the management skills used by leaders 171
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7.5 Justify one performance management strategy that can be used to assess the performance of the
healthcare workers. [3 marks]

_%_y__tAaLamL_fs—gmn_a_A__n_ém_fﬁupechxe_af_gu_emplgvﬁ:L

Question 8 (U4 AOS 1, U4 AOS 2)

8.1 Distinguish between a persuasive and participative management style. [3 marks]

7he___ mtoua_ﬁmmas.eme_an_@le_u_meqse_d_ oAecision =
by_oan%y_uMMm,_a parhcipahve
m ajwu%mwmﬁwﬂuwﬁ%&
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olecenh lisedd deccsc i b, . £ el

.
cisStons

——aee
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©)]
8.2 Assess the suitability of the manager at Face-COV using a persuasive management style. [4 marks]

| Face —CoVv.

Extension notes:
@ Please note that if a question makes reference to the suitability of management styles, then you must
explain your answer in terms of the factors of suitability:
¢ nature of task
e employee experience
e time
o preference of managers

© JGJ Publishing 173
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8.3 Analyse the extent to which the shift from a participative to persuasive management style was
suitable using Figure 1. [4 marks]

Af e [ s iasa) b E .

Question 9 (U3 AOS 1, U3 AOS 2, U4 AOS 1, U4 AOS 2)

9.1 Identify one business objective that Le Salad would have, other than to make a profit, and explain
how planning skills can be used by the manager to achieve this business objective. [5 marks]

Such a
[ ki) pepleme £ it ( 4 4 "
: 3 ; % b incre ase

business objective tvo increase market share, 174
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9.2 Explain how Le Salad can apply the principles of the Four Drive Theory to motivate employees. [6
marks

LW . - D. . . .

r g r staff motvation '@a.'f Le

Extension notes:

@ Please note that | have paragraphed my response using each drive as a separate paragraph — this is
beneficial in providing my response with structure.

@ You should link each paragraph (for each drive you write about) back to addressing the issue of reduced
motivation or, alternatively, the fact that motivation levels will improve.

© JGJ Publishing 175
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9.3 Explain how Le Salad can use Porter's generic strategy of differentiation to gain a competitive
advantage. [4 marks]

Poriers generic strategy of olifferenbation is where a business
aims 7o _create an (hnovative Prooluct that provicles thema with
#ﬁmni_oﬁoh&r_ehce_compm_%mpeﬁmx_&ucb;ﬁhﬁ
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mbg_mmwumMe&mj_éM Ois s
aclvantageous for Le Salad because these comsumers woulol

iove their prefitability in the [ang-terr (gaining 2

9.4 Describe one driving force and one restraining force for the change at Le Salad. [4 marks]
O o s . . <& ., N
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Question 10 (U3 AOS 1, U3 AOS 2, U4 AOS 2)

10.1 Define the term ‘autocratic management style’. [2 marks]

Lﬁ%@mmun;(n fon

wmfw&m&w ecision=

10.2 Explain one business objective that Pizzeria Plaza would have, other than to make a profit. [2 marks]

Mmgu@mkutmﬂim‘&awﬁxus:&o

P e AR s SR .

0} ©)
10.3 Discuss the use of the management style that Joseph currently employs in terms of achieving

business objectives. [5 marks]

© JGJ Publishing

Extension notes:

® The limiting phrase in
the question is "in

terms of achieving
business objectives”
and so, you should link
your advantages and
disadvantages back to
this limiting phrase.

® The question does not
state what management
style Joseph currently
uses; however, this
information can be
learnt using the context
information provided.
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10.4 Outline one transition issue and one transition service in relation to the chef’s retirement. [2 marks]
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Question 11 (U3 AOS 2, U4 AOS 1)

11.1 Explain one KPI, other than the ones analysed above, that can be used to assess the performance of
CamMan before and after undergoing business change. [2 marks]

One KPI that can be used to assess the p erformance
of Cam Mnn_Aeﬁr_e_and : ,aﬁﬁt A;Aif < [1,:7 rural [‘y,f (s the
rate of ;_t,a:é{ absenteeism , wihich ,r,e-ﬁr; _to the
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work out of their total ID,a.LlLLLLeiuoméin  schedule |

in a jiun,,,,,,/:er,iod _of time. lf the rate of staff
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(holicates that th E&M—MM—QJ—
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11.3 Analyse the extent to which the shift to a rural site has improved CamMan’s business performance,
with reference to Figures 1 and 2. [4 marks]®

after all expenses have been cleducted Kor the

because the s/\[f'/' o a cucaLmM_aA.ihLLnj_&LL ;
hos recluceel morale ancl motivation levels of

Extension notes:
@ A suitable structure when analysing each key performance indicator is to:
1. DEFINE the specific key performance indicator
2. Identify the TREND indicated by the key performance indicator data
o Reference to whether the change is favourable or unfavourable must be made
o Reference to whether the change was an increase or decrease must be made
3. Outline a REASON as to why the key performance indicator changed in the specific way it did
4. State, whether to a LARGE OR SMALL EXTENT, the performance of the business has improved
or not based on the key performance indicator data trend.
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11.4 Explain one management strategy that can be used to respond to one KPI from above and positio

CamMan for the future. [3 marks]

One management stategy’ to responcl to the Level of |
stoff tuenover (s stoff motivation . which refers ta
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Extension notes:

@ Alternative management strategies
that can be used to respond to the
level of staff turnover include a
change in management styles, a
change in management skills and
staff training! See below for an
explanation:

¢ Change in management styles: for
example, shifting to a participative
management style can increase
staff morale as employees feel
more included in the workplace
(and thereby, would be less likely
to leave and be replaced).

e Change in management skills: for
example, two-way communication
skills can be used (instead of one-
way communication) to identify
reasons why employees are leaving
(and being replaced) - solutions
can then be implemented to
address these concerns.

o Staff training: the reason why
more employees may be leaving
(and being replaced) is due to
unfamiliarity with new operating
machinery at the rural
manufacturing site. Hence, staff
training can be used to correct the
confusion and uncertainty that
employees may have.

12.5 Describe how the high-risk strategy of manipulation can be used to reduce employee resistance to

the shift to a rural site. [3 marks]@

Extension notes:

@ A suitable structure when responding to “explaining high-risk strategies” questions is to:

1. DEFINE the specific high-risk strategy.
2. Explain HOW it can be employed by managers.
3. Outline how this will lead to REDUCED EMPLOYEE RESISTANCE.
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Question 12 (U3 AOS 3, U4 AOS 1, U4 AOS 2)

12.1 Explain how artificial intelligence can be used by Crops4Everyone to improve the efficiency and
effectiveness of their operations. [3 marks]

Artilociol intells (AL refs to_intielligeut §
i:!££525 tbat can Petf.‘m‘:m Aumau-“kﬁ iasés é‘:’ l [
5 X L Al : y (L. r =
@Mﬁ%mwfdﬁ
%ﬁ_n:_&ng_m&mm.r_cab&emu
M%MM%A%&%%ﬂQ

12.2 Define the term ‘business change’ and apply one principle of Lewin’s Three Step Change Model
theory to the implementation of artificial intelligence at Crops4Everyone. [4 marks]
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12.3 Explain the effect that implementing artificial intelligence will have on employees at
Crops4Everyone. [3 marks]

4 ccsard. One positive cffect that the
; / - £ rificial i 10 AT il ) _
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12.4 Propose and describe how one low-risk strategy can be used by Samuel to reduce employee
resistance at Crops4Everyone. [3 marks]

© JGJ Publishing 183
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SECTION C: SUGGESTED SOLUTIONS

Question 1. [10 marks]

Explain the above statement with reference to a contemporary business example. In your response,
discuss the use of engaging in corporate social responsibility.

184




Extension notes:

@ Your introduction should contain:
¢ Definitions of ‘key terms’ in the question, such as corporate social responsibility and change!
o A brief outline of the significance of corporate social responsibility in the real world
o Whether you agree or disagree with the question

@ Before outlining the advantages and disadvantages of corporate social responsibility, you should
summarise (in paragraph form) what contemporary business example you will be using in your
response. Specifically, you should relate your contemporary business to engaging in corporate social
responsibility.

® Your conclusion, similar to the introduction, should contain the following:
¢ A broad statement on the importance of engaging in corporate social responsibility
e Whether it is worth it for businesses to engage in corporate social responsibility and why

© JGJ Publishing 185
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Question 2. [10 marks]

Evaluate two different operations strategies - one in relation to technological developments and the other
in relation to quality management. Explain how one of these strategies can be used to improve the
efficiency of operations and how the other can be used to improve the effectiveness of operations.

- - - - -
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Extension notes:

opinion.

® There are many operations fields you can refer to, including:

e Technological developments

e Quality management

o Materials management

o Waste minimisation © JGJ Publishing

@ Evaluate is a task word which requires you to present advantages and disadvantages along with a final
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Question 3. [10 marks]

Define the term business change and apply the principles of one of Lewin’s change models to a
contemporary business which has undergone a business change. In your response, evaluate the
effectiveness of following a change model to implement change successfully.

7 4
» N v
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Question 4. [10 marks]

Analyse the relationship between managing employees and business objectives. In your response, refer
to the strategies listed below:
e one performance management strategy
@ ¢ one motivation strategy, other than investment in training
e on-the-job training

Employees refer to the individuals that provide labour in |
Rxchange for a monetary reworsl. Managing eraployees refers %o |
gg_gmt_wg%&vwnf g:u-Le o£ /.o'rirg,;_thm'zulv_ana/_
e rpninndti Wittt Lo bt ( ihe bachiond
£ g Ll Biesi / ot .
l?.bnfln#ee_a.eiuub basic and Cnmalmwx_tasks_mnlcl_.
MMLW—@JA———
Istatecd outcones iwhich o business wiishes to _achiove in e |
ammaﬁﬁmhﬂw‘_mm%—
! [ besi b ects s ok b g Qecti

poanagement ol achieverment
b.u.sjn_e_-ss_o}a\i_ecti ves
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Extension notes:
@ A tip for ensuring that you respond to all the requirements of the question is to tick off each dot point
after you write a paragraph covering that topic!

@ In this last paragraph, | present the ‘opposite side’ of the topic - this means writing about how
employees are not the sole factor in achieving business objectives (other strategies such as automated
production lines play a role too).

® You should link your paragraphs back to specific business objectives to strengthen your response.
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Question 5. [10 marks]

With reference to the data above, analyse the extent to which the implementation of the artificial
intelligence has assisted SunGlassX in improving their business performance and explain how one
management strategy can be used to respond to one key performance indicator above and position the
business for the future. In your response, explain the importance of SunGlassX analysing their key
performance indicator data.
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Extension notes:
@ Below is an elaboration of the DTR approach for this question:
1. DEFINE the specific KPI
2. State the TREND — whether the KPI unfavourably or favourably increased or decreased using data
provided
3. Outline a potential REASON why the KPI changed

+ State the EXTENT (large or small) to which the implementation of artificial intelligence was successful for
SunGlassX —> this step is required if “the extent” is present in the question.

®@ In addition to analysing the KPI data in this question, you are required to explain the importance of
evaluating KPI’s. Remember that KPI’s are analysed so that the strategic direction of a business can be
guided - this means that if there are any unfavourable trends identified (such as net profit figures
unfavourably decreasing over time), then a business can implement strategies to correct this.
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